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Read the following instructions carefully before you begin to attempt the questions.

This booklet contains 200 questions in all comprising the following five parts.

e Part-() : Reasoning (40 Questions)
e Part-(Il) : Quantitative Aptitude (40 Questions)
o Part-(lll) : General Awareness (40 Questions)
e Part-(IV) : Computer knowledge (40 Questions)
e Part-(V) : English knowledge (or) Hindi knowledge (40 Questions)

All the questions are compulsory.

Before you start to attempt the questions you must explore this booklet and ensure that it contains all the pages and
find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced immediately.

Each question carries negative marking also as 1/4 mark will be deducted for each wrong answer.

You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll
number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start attempting
the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These instructions must
be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be awarded ‘ZERQO’ mark.
Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the relevant
question number by pencil or Black/Blue ball pen only.

A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/ different
from the information given in the application form, the candidature of such candidate will be treated as cancelled.

The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do not
spend too much time on any question.

Mobile phones and wireless communication device are completely banned in the examination halls/rooms. Candidates
are advised not to keep mobile phones/any other wireless communication devices with them even switching it off, in
their own interest. Failing to comply with this provision will be considered as using unfair means in the examination and
action will be taken against them including cancellation of their candidature.

No rough work is to be done on the Answer-Sheet.

No candidate can leave the examination hall before completion of the exam.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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Reasoning

Directions (1-5): Study the given information carefully and

Fb:-

answer the following questions below.

8 boxes are arranged one above the another in such
a way that the box at the bottom is numbered 1 and
the topmost box is numbered as 8. They have painted
with different colours viz. Red, Blue, Green, Yellow,
Pink, Orange, White and Black but not necessary in
that order. Each box contains different number of
medical drugs and will expire in different years viz.
2021, 2022, 2024, 2026, 2028, 2029, 2030 and 2032.
The number of drugs in each box is a prime number
between 30 and 65.

Difference between the number of drugs in Green
coloured box and the box which expires in 2022 is the
same as the difference between the boxes which
expires in 2026 and 2029. The difference between the
number of drugs which expires in 2022 and 2032 is
more than 10. The boxes which expire in leap year
were kept at odd-numbered positions but not on third
position. There are 2 boxes between Pink and Green
coloured box and neither of them was kept at top or
bottom. Red coloured box has 12 drugs more than
Orange coloured box and both were placed one
above another. The box with the least number of
drugs and the highest number of drugs is kept one
above another. The boxes which expire in odd
numbered years are kept one above another. The box
coloured to Blue has 12 drugs more than the box
which expires first. The drugs coloured to White will
expire in 2024. The difference between the number of
drugs in the boxes which is at the bottom and topmost
is 12 and either of them has the least number of
drugs. The box which has 2" highest number of
drugs lies on odd numbered position. Green coloured
drugs is first to expire and Pink coloured drugs is last
to expire. Orange coloured box expires before 2024.
Black coloured box is kept at fifth position from the
bottom. The number of boxes above Red coloured
box is as same the number of boxes below Blue
coloured box.

What is the total number of drugs in box 2 and it is
painted with which colour?
(1) 47, Orange

(3) 59, Orange

(5) None of these

(2) 47, Blue
(4) 59, Blue

What is the expiry year of the medical drugs that
which the box is painted with Red?

(1) 2021 (2) 2028
32 o

What is the total number of medical drugs in box
number 7 and the box that is painted with Black?

(1) 104 (2) 78
gg S1);4 (4) 100

Which of the following statement is true with respect
to the given information?

(1) The box which is coloured with black colour is
immediately above the one which contains 47 number
of drugs

(2) The Green coloured box is placed immediately
above the one which expires in 2022

(3) the box that contains 37 number of drugs is
exactly between the Pink coloured box and the box
that contains drugs which expires in 2022

(4) None is correct
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(5) The box which contains 59 number of drugs
expires in 2029

If “Yellow’ is related to 53 in the same way ‘Black’ is
related to 59. Then which of the following related to
Red?

(1) 37 (2) 43
(3) 31 (4) 53
(5) 41

In the question below is given a statement followed by
two courses of actions numbered | and Il. A course of
action is a step or administrative decision to be taken
for improvement, follow-up or further action in regard
to the problem, policy, etc. On the basis of the
information given in the statement to be true, then
decide which of the suggested courses of action
logically follows for pursuing.

Statement: “Air pollution caused by petrol and diesel
vehicles is killing millions of people in cities around
the world,” Paris Mayor Anne Hidalgo said in a
statement. “The same emissions are also causing
climate change”

Courses of action: I: The mayor should buy only
zero-emission buses from 2025.

II: The mayor should promote walking, cycling and the
use of public transport in Paris.

@1 @n

(3) Either lor 11 (4) Neither I nor Il

(5) Both I and Il

The question given below consists of three
statements numbered |, 1l and Ill below them. You
have to decide whether the data provided in the
statements are sufficient to answer the question.
Read all the statements and give answer:

9 persons A, B, C, D, E, F, G, H and K sit in row
facing north direction, but not necessarily in the same
order. Distance between any adjacent persons is
equal. How many persons sit to the left of B?
Statement I: G sits 2nd to the right of F. 3 persons
sit between G and C. K sits 3rd to the left of C.
Statement II: F sits to the left of H. B sits 4th to the
left of K and at most 5 persons sit to the right of H.
Statement lll: E sits to immediate right of H. B, who
is not the neighbor of C, doesn’t sit 2nd to the right of
A, who does not sit at extreme right end. D sits at the
extreme left end of the row.

(1) Data given in both statements | and Il are together
sufficient to answer.

(2) Data given in both statements Il and Il are
together sufficient to answer.

(3) Data given in both statements | and Il are
together sufficient to answer.
(4) Data given in all three statements I, Il and Il are

together sufficient to answer.
(5) Data given in all three statements I, Il and Il are
together not sufficient to answer.

Study the following information carefully and answer
the questions given below:

Statement: For the first time since starting its
operations a decade and a half ago, Delhi Metro has
seen a substantial dip in its daily ridership.

1. Delhi Metro has the longest connectivity network in
the country.

2. Delhi Metro reaches its destination within a
stipulated time frame while the buses have to face
lots of traffic on the road

3. People find Delhi Metro too much crowded all
along the day.

4. There has been a rise in the fare of Delhi Metro by
the DMRC officials.
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Which of the following will be a valid reason for the
decrease in ridership by the Metro?

(1) Only 1 (2) Only 3
(3)3and 4 (4)1,2and 3
(5) None of the above
9. In the following question, there are two

statements labelled as Assertion (A) and Reason
(R). Determine whether the Assertion holds and the
Reason for the assertion holds or not.

(A): Vaccination helps in preventing diseases in
children as they develop immunity in them.

(R): It is the duty of every parent to get their child
vaccinated

(A) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are true but (R) isn't the correct
explanation of (A).

(3) (A) is true and (R) is false

(4) (A) is false and (R) is true

(5) Both (A) and (R) are false

10. In the question below is given a statement followed by
two conclusions numbered | and Il. You have to
assume everything in the statement to be true, then
consider the two conclusions together and decide
which of them logically followed beyond a reasonable
doubt from the information given in the statement.
Statement: Presence of democracy and openness of
markets are the requirements for economic growth
and country Y has both.

Conclusions: I. Country Y will grow economically.

Il. Openness of markets has more effect on economic
growth.

(1) Only conclusion | follows.

(2) Only conclusion Il follows.

(3) Either I or Il follows.

(4) Neither I nor Il follows.

(5) Both | and 1l follow.

Directions (11-15): Answer the questions based on the
information given below.

Eight persons, A through H are sitting around a
circular table at equal distance from each other.
Number of persons facing towards the centre is not
equal to those who are facing away from the centre.
The circumference of the circle is 40m. C sits 15m to
the right of A. G and D are facing in different
directions and only one person sits between them.
Neither G nor D sits adjacent to C. Distance between
E and H is 15m. H sits adjacent to C. The immediate
neighbors of C face the same direction. E doesn't sit
adjacent to A. The immediate neighbors of E face in
different directions. B sits 15m to the right of C and
faces towards the centre. F and C are facing in
different directions. D and E face the same direction.
The immediate neighbors of B face in different

directions.

11. How many persons are facing away from the centre?
15 (23
3)2 (4) Either (1) or (2)

(5) None of these

12. What is the position of H with respect to G?
(1) 2nd to the left (2) 3rd to the left
(3) Immediate right (4) 2nd to the right
(5) None of these

13. What is the distance between E and C, when
measured from the left of E?
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(1) 10m (2) 20m
(3) 25m (4) 15m
(5) None of these
14. Who among the following is sitting opposite to A?
@) F 2 E
(3B 4 G
(5) None of these
15. How many persons are sitting between E and A,
when counted from the left of A?
@1 23
3)2 44

(5) None of these

16. The question given below consists of two statements
numbered | and Il below them. You have to decide
whether the data provided in the statements are
sufficient to answer the question. Read all the
statements and give answer:

In Mathematics test, 7 students B, C, D, E, F, G and
H scored different marks and no two students scored
same marks. How many scored more than C, if he
doesn’t score the 2nd highest marks?

Statement |: At least 2 students scored more than F,
who doesn’t score the lowest marks. E scored more
than F. B scored more than C. F doesn’t score more
than C.

Statement Il: C scored more than D, who scored the
4th highest marks. B scored more than C. At least 5
students scored more than H. G scored less than H.
E doesn’t score less than F. E doesn’t score the
highest marks.

(1) If the data given in statement | alone is sufficient
to answer the question.

(2) If the data given in statement Il alone is sufficient
to answer the question.

(3) If the data given in either statement | or statement
II'alone is sufficient to answer the question.

(4) If the data given in both statement | and statement
Il are sufficient to answer the question.

(5) If the data given in both statement | and statement
Il are not sufficient to answer the question.

Directions (17-18): In the question below is given a statement
followed by two conclusions numbered | and 1. You
have to assume everything in the statement to be
true, then consider the two conclusions together and
decide which of them logically followed beyond a
reasonable doubt from the information given in the
statement.

17. Statement: When the Japanese move to Hawaii rate
of bowel cancer supersedes that of stomach cancer
but back in Japan the situation is opposite
Conclusions: |. Hawaiian diet should be followed in
Japan.

Il. Stomach cancer is more severe
(1) Only conclusion | follows.

(2) Only conclusion Il follows.

(3) Either I or Il follows.

(4) Neither I nor Il follows.

(5) Both I and Il follow.

18. Statement: Population  will increase and the
resources that are required to maintain a good
standard of living will deplete in the coming years.
Conclusions: I. Population will not increase
II. People will not have good standard of living in the
future
(1) Only conclusion | follows.

(2) Only conclusion Il follows.
(3) Either I or Il follows.
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(4) Neither | nor Il follows.
(5) Both | and Il follow.

Direction (19-21): Study the following information and answer

19.

20.

21.

22.

Fb:-

the questions followed:

Eight friends Sindhu, Swathi, Sreedhar, Santosh,
Sukanya, Sudheer, Swetha, and Suresh are reading
different books sitting around a circular table, four of
them facing the centre of the table and the rest away
from the table.

The eight books are The Kuran, English, Solar power,
Mathematics, General Science, Hindi, The Fairy and
The Young Scientist.

The person reading Mathematics is sitting at the
second position to the left of the person who is
reading The Kuran.

Sreedhar is reading General Science and sitting at
the third position to the right of the Sukanya Sudheer
is reading Solar power and sitting at a position
diametrically opposite to that of Sindhu, who is facing
away from the table Sukanya is reading the Young
Scientist. Santosh is sitting at the second position to
the right of Sukanya and reading Mathematics. Both
Sudheer and Sreedhar are facing away from the table
Sindhu is not reading Hindi. Swathi is sitting at the
second position to the right of Swetha Swetha, who is
reading The Fairy, is sitting at the third position to the
right of Sudheer and facing away from the table

Who reads The Young Scientist?

(1) Sukanya (2) Swetha
(3) Swathi (4) Sindhu
(5) Sreedhar

What is the position of Sreedhar with respect to
Swetha?

(1) Third to the right
(3) Fifth to the right
(5) Third to the left

(2) Fourth to the left
(4) Second to the right

Four of the following forms a group who among the
following does not belong to that group?

(1) The person who reads Kuran

(2) Suresh

(3) The person who sits Immediate right of Sreedhar
(4) The person who reads English

(5) Sukanya

The question given below consists of three
statements numbered |, Il and Ill below them. You
have to decide whether the data provided in the
statements are sufficient to answer the question.
Read all the statements and give answer:

There are 8 persons P, Q, R, S, T, U, V and W, who
live on different floors of an 8 floor building. The
ground floor is 1st floor such that the top floor is 8th
floor. No two persons live on the same floor. How
many persons live between W and T?

Statement I: S lives on an odd numbered floor. U
lives below S. P lives at least 3 floors above U. T lives
above V, who doesn'’t live on the bottommost floor.
Statement II: R lives on an even numbered floor.
Only one person lives between V and S, who doesn’t
live on the 3rd floor. V lives immediately below R.
Statement lll: T lives immediately above S. U lives 4
floors below T. There are at least 3 floors between Q
and W. P lives above U but below Q.

(1) Data given in both statements | and Il are together
sufficient to answer.

(2) Data given in both statements Il and Il are
together sufficient to answer.

23.

24.

25.
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(3) Data given in both statements | and Il are
together sufficient to answer.

(4) Data given in all three statements I, Il and Il are
together sufficient to answer.

(5) Data given in all three statements I, Il and Il are
together not sufficient to answer.

In the question given below, a passage is given
followed by three statements which may or may not
be a suitable course(s) of action. Select the correct
combination of statements that follow as a suitable
course(s) of action.

The village of Champaner was ravaged by a flash
flood which occurred in river Dasa. The village is
situated near the banks of the river. While flooding in
the monsoon season is common, flooding in winter is
unheard of. The villagers claim that the gates of
Dasa-sagar dam were opened without warning which
led to the flooding. Their anger at losing their homes
and livelihoods is now being directed at the
government officials.

Which of the following is/are the most suitable
course(s) of action?

1. The officials of the Dasa-sagar dam should be
punished for causing the flood.

2. Villagers should be compensated for their losses
and their loans should be waived.

3. The villagers should be provided with agricultural
insurance for their crops.

(1) Only 1 (2)1and 2
(3) Only 2 (4)2and 3
(5)1and 3

The question given below consists of two statements
numbered | and Il below them. You have to decide
whether ‘the data provided in the statements are
sufficient to answer the question. Read all the
statements and give answer:

In the given coded language, how is the word ‘day’
coded?

Statement |: In a certain language, ‘holi day
celebration done’ is coded as ‘romi live above raj’ and
‘done before independence day’ is coded as ‘raj live
five floor’.

Statement Il: In a certain language, ‘celebration after
holi festival' is coded as ‘but not above romi’ and
‘before celebrating all festival' is coded as ‘below
rajesh not five'.

(1) If the data given in statement | alone is sufficient
to answer the question.

(2) If the data given in statement Il alone is sufficient
to answer the question.

(3) If the data given in either statement | or statement
Il alone is sufficient to answer the question.

(4) If the data given in both statement | and statement
Il are sufficient to answer the question.

(5) If the data given in both statement | and statement
Il are not sufficient to answer the question.

The rise of T20 cricket has had an adverse effect on
other formats of the game. More and more young and
talented players now aim for cash rich T20 leagues,
which happen almost every month somewhere or the
other, instead of the traditional test cricket. It's not just
the players who are leaving Test cricket and One Day
International cricket for T20. A survey done in UK in
2018 revealed that more people prefer to watch T20
cricket to a good old fashioned 5-day Test match.
Which of the following statements can be inferred
from the passage?

1. Players get more money by playing in T20 leagues
than by playing Test matches.
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2. As per the survey, a person in the UK is more likely members visited their family doctor on odd valued
to watch T20 cricket than Test cricket. dates and the female members visited their family
3. Young players do not want to play Test cricket. doctor on the even valued dates. Each of them was
(1) Only 1 (2)1and 2 related to R in some manner: brother, sister, wife,
(3) Only 2 (4)2and 3 son, mother, father and daughter not necessarily in
(5)1,2and 3 the same order.
R's father visited the family doctor in April. E was
Direction (26-30): Study the following information carefully either the brother or father of R. R's brother visited
and answer the questions given below: the family doctor just after C. C and J visited the
family doctor at a gap of 3 persons. R and B visited
R, S, T,U,V,W, X, Y and Z are nine people who live the family doctor in consecutive months but not on
in a multi - storey building on different floors. The consecutive turns. R's son visited the family doctor
ground floor is number 1, the floor above is number 2 just before R's daughter's visit to the doctor. A visited
and so on, and the topmost floor is number 9. In the the family doctor after a gap of 1 person from R's
building meeting all of people were seated facing in sister's visit to the doctor. R's mother visited the
two rows such that five in one row and four in other, family doctor either in August or October. J was not
one place was vacant in the row of four people. the first to visit the family doctor. Number of persons
These people were facing each other in the linear who visited the family doctor after D was twice as that
seating arrangement (means one row is facing north of the number of persons who visited the family
and another row people south). doctor before M. Neither of them was the last to visit
The persons at the extreme ends of the north facing the family doctor.
row are immediately next to each other’s floor. Z lives
on the top floor and sits opposite to the vacant place 31. How many persons visited the doctor between R’s
The person living on the 5% floor sits opposite to W Wife and R’s Son?
and faces north. Y and R live immediately next to (1) None (2) One
each other’s floor with Y above R'’s floor and both sit (3) Two (4) Three
opposite to each other. V is not immediately next to (5) More than three
S’s floor. S sits third to the right of Y and U is in the
middle of the North facing people’s row. R sits to the 32. How C related to R?
left of W. Y does not live on 8" or 7™ floor. W and T (1) Son (2) Daughter
sit at the extreme ends of the row and face south; (3) Wife (4) Brother
also they are immediately next to each other’s floor. V (5) Sister
lives on the 3 floor and faces south. S does not sit
adjacent to the vacant place There are exactly three 33. On what date does R’s Brother visited the doctor for
floors between Z and X. the regular health checkup?
(1) October 23 (2) October 12
26. Who lives on the 4th floor? (3) August 23 (4) August 12
Qs 2)u (5) None of these
(O @T
B)Y 34. How B related to M?
(1) Nephew (2) Niece
27. On which floor does W live? (3) Sister in law (4) Daughter in law
(1) 8th (2) 7th (5) Sister
(3) 6th (4) 2nd
(5) Cannot be determined 35. Four of the following five are alike in some way and
hence form a group. Which of the following is the one
28. Which of the following statements is true? that does not belong to the group?
(1) R sits second from the left end of the row. 1)B 2) M
(2) S sits in the middle of the row. B)R 4)D
(3) T sits opposite to Y B)E
(4) Y lives on 4th floor.
(5) None of the above Directions (36-40): Study the given information carefully and
answer the given question.
29. Four of the following five are alike in a certain way
and hence form a group. Which is the one that does An input-output is given in different steps. Some
not belong to the group? mathematical operations are done in each step. No
Q)R-V 2)Y-U mathematical operation is repeated in next step but it
B)YR-W @4z-5s can be repeated with some other mathematical
B)X-Y operation (as multiplication can be used with
subtraction in step 1 and same can be used with
30. In the meeting who is sitting immediately right to Z? addition in step 2).
@y 2) X
)V @T mur: [63] [3]s] [els] [al7] [2]3] [o1z]
®)s
Step I: 207 111 112
Direction (31-35): Study the following information carefully
and answer the questions given beside: septl
Step Il [(6]3]
Eight persons — A, B, C, D, E, J, M and R belongs to steplv

a same family. These persons visited their family
doctor for routine checkup in the months of April, July,
August and October. They visited the doctor either on
12th or 23rd of the month such that the male

As per the rules followed in the steps given above,
find out in each of the following questions the
appropriate step for the given input.
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36.

37.

38.

39.

40.

41.

42.

43.

Fb:-

me [s]s] [6]1] [1[2] [a]e] [a]s] [o]3]

What is the sum of inverse of the numbers obtained in

step 3?
(1) 105 (2) 126
(3) 116 (4) 106

(5) None of these

What is the difference between the first block
obtained in step 2 and second block obtained in step
3?

(1) 34 (2) 36

(3) 54 (4) 56

(5) None of these

What will be the final result of the given input?

(1) 43 (2) 88
(3) 56 (4) 28
(5) 51

If the number obtained in second block of step Il is
multiplied by 7 what will be the resultant value?

(1) 154 (2) 197
) 133 W

What is the resultant value, when the first digit of
second block in step Il is added with the square of the
second digit of first block in step 111?

(1) 67 (2) 85
(3) 93 @) 77
(5) 86

Quantitative Aptitude

Quantity I: A, B and C started a business with initial
investment of Rs. 1200, Rs. 1500 and 1800
respectively. A is the working partner so 16% of the
profit is given to A for handling the business and rest
of the profit is shared among A, B and C in the ratio of
their investments. Find the amount received by A in a
profit of Rs. 2500.

Quantity II: A and B started a business with initial
investments of Rs. 4000 and Rs. 3000 respectively.
After six months, C joined them with an investment of
Rs. 2000. After one year, a profit of Rs. 2520 is
generated. Find the profit share of B.

(1) Quantity-l > Quantity-1l (2) Quantity-l < Quantity-II
(3) Quantity-I < Quantity-II

(4) Quantity-I = Quantity-Il or No relation

(5) Quantity-I = Quantity-II

Pankaj was traveling to point B from point A with
speed of 45 km/hr. After 1 hour, Pratik also started to
travel from point A to point B. Pratik reached the point
B 30 minutes before than Pankaj. If Pratik would have
decreased his speed by 6 km/hr then both would
have reached point B at the same time. Find the
original speed of Pratik.
(1) 55 km/hr

(3) 54 km/hr

(5) 65 km/hr

(2) 60 km/hr
(4) 64 km/hr

A mixture X of milk and water contains 87.5% of milk.
After 12 litres of water is added, the milk content gets
reduced to 50%. If another mixture Y contains the
quantity of milk equal to the quantity of mixture X
initially such that the ratio of milk to water is 4: 3, then
find the quantity of water in mixture Y.

(1) 24 litres (2) 20 litres
(3) 15 litres (4) 8 litres
(5) 12 litres

A container contains ‘X’ liters of a mixture of water
and alcohol in the ratio 7:22, respectively. A man
takes out ‘y’ liters of the mixture from the container
and then mixes 28 liters of a mixture of water and
alcohol in the ratio of 6:1, respectively in that
container. Find the value of ‘x’.

Statement I: The ratio of water and alcohol becomes
3:8, respectively after mixing 28 liters of a mixture of
water and alcohol in the ratio 6:1, respectively.
Statement 1l: The amount of water in the container
becomes 150 liters after mixing 28 liters of a mixture
of water and alcohol in the ratio 6:1, respectively.

(1) The data in statement | alone are sufficient to
answer the question, while the data in statement Il
alone are not sufficient to answer the question.

(2) The data in statement Il alone are sufficient to
answer the question, while the data in statement |
alone are not sufficient to answer the question.

(3) The data either in statement | alone or in
statement Il alone are sufficient to answer the
question.

(4) The data given in both statements | and Il together
are not sufficient to answer the question.

(5) The data in both statements | and Il together are
necessary to answer the question.

After 3 years, ratio of age of Mayank and Ankit will
become 17:15. Find the difference between the age
of Mayank and Ankit.

Statement I: 3 years ago, the ratio of the age of
Mayank and age of Ankit was 7:6.

Statement II: The ratio of age of Mayank after 5 years
and age of Ankit 7 years ago is 9:5.

(1) The data in statement | alone are sufficient to
answer the question, while the data in statement Il
alone are not sufficient to answer the question.

(2) The data in statement Il alone are sufficient to
answer the question, while the data in statement |
alone are not sufficient to answer the question.

(3) The data either in statement | alone or in
statement Il alone are sufficient to answer the
guestion.

(4) The data given in both statements | and Il together
are not sufficient to answer the question.

(5) The data in both statements | and Il together are
necessary to answer the question.

A shopkeeper bought an article and sold it. What is
the cost price of the article?

Statement |: Profit earned by the shopkeeper is Rs.
250 and selling price of the article is 30% less than
the marked price of the article.

Statement 1I: Marked price of article is 25% above the
selling price. Shopkeeper marked the price of article
Rs. 2000 and profit percent earned is 60%.

(1) The data in statement | alone are sufficient to
answer the question, while the data in statement Il
alone are not sufficient to answer the question.

(2) The data in statement |l alone are sufficient to
answer the question, while the data in statement |
alone are not sufficient to answer the question.

(3) The data either in statement | alone or in
statement Il alone are sufficient to answer the
question.

(4) The data given in both statements | and Il together
are not sufficient to answer the question.

(5) The data in both statements | and Il together are
necessary to answer the question.

Direction (47-48): Which of the following pair of symbols will

define the relation between Quantity | and Quantity Il
and between Quantity 1l and Quantity Il respectively?
A. =
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47.

48.

49.

50.

B.>
C.<
D.2
E.<
F. # (relation cannot be established)

Quantity I: Monthly salary of Vikash is Rs. X’ while
monthly salary of Amit is Rs. x + 6000’ If Vikash and
Amit spend Rs. 8000 and Rs. 10000 respectively in a
month then the ratio of savings of Vikash to savings
of Amit become 1: 2, respectively. Find the value of
X,

Quantity Il: An article was sold at Rs. ‘y’ after a
discount of 20%. If article was marked at 50% above
the cost price of the article and cost price of article is
Rs. 10000 then find the value of ‘y’.

Quantity lll: Length and breadth of a floor is 24 m
and 18 m respectively. If the floor is paved with ‘2’
marbles of dimension 20 cm x 30 cm then find the
value of ‘Z.

(1) AE (2) AB
(3) BA (4) DC
(5) CC

Quantity I: In an empty container, water and milk are
mixed in the ratio of 1: 3, respectively. 20 more litres
of water is added in the container and then sold at Rs.
60 per litre. Find the revenue generated by selling the
final mixture if initially the quantity of milk was 60
litres.

Quantity Il: A money transaction app provides cash
back to its user, which generally ranges between 10%
to 15% (inclusive of both) of total transaction made by
the user. If Rahul does a transaction of Rs. 60000
then find the possible range of the amount which he
would receive.

Quantity Ill: Amit had Rs. 14000 with him. He gave
50% of the amount to Pawan. Find the amount
received by Pawan.

(1) BF (2) AC
(3) DE (4) EF
(5) CD

A man deposited certain amount of money on
compound interest for 3 years at the rate of 10% per
annum. The difference between the amount
accumulated after 3 years and the amount
accumulated after 2 years is Rs. 968. If the same
principal amount is deposited at simple interest at the
rate of X% per annum for 5 years, then find the value
of ‘X, if the simple interest obtained by the man is Rs.
3200.

(1) 7.5 )7
(3)8 (4)8.5
(5)5

Abhishek and Vishal purchase 6 shirts and 9 shirts of
same cost price respectively from a shopkeeper.
Abhishek and Vishal give Rs. 2200 and Rs. 3400 to
shopkeeper. The shopkeeper returns Rs. 40 to
Abhishek and Rs. 25 to Vishal. Find the difference
between the profit percent earned by shopkeeper
from Abhishek and Vishal if the marked price of a
shirt is Rs. 420, which is 40% above the cost price.

(1) 6% (2) 10%
3) 4% 4) 5%
§5§1236 @) 5%

Directions (51-53): Answer the question based on the

Fb:-

information given below.

Vishal and Varun started a business with initial
investments of Rs. 1,500 and Rs. 1,800, respectively.

51.

52.

53.

After one year, Vishal and Varun made additional
investments of Rs. 200 and Rs. 400, respectively. In
this business Vishal is an active working partner so
20% of the profit is given to him for managing the
business and rest of the profit is shared between
them in the ratio of their investments. Profit share of
Vishal out of the total profit of Rs. 9,000 after two
years is Rs. [A]. Varun invested his profit share in a
scheme offering 10% compound interest for three
years compounded annually and earned an interest of
Rs. [B]. Vishal spent 30% and 25% of the amount
received by him as a profit share for entertainment
and transportation. Out of the remaining amount, he
gave one third to his mother and was left with Rs. [C].

Raman bought an article for Rs. [A] and marked it at
30% above its cost price, and sold it after offering a
discount of 20%. Find the profit earned by Raman in
this transaction.
(1) Rs. 200

(3) Rs. 300

(5) None of these

(2) Rs. 250
(4) Rs. 400

Find the average of [A], [B] and [C].

(1) Rs. 2596 (2) Rs. 2602
(3) Rs. 2608 (4) Rs. 2614
(5) None of these

Vishal invested Rs. [C] in a scheme offering 13%
simple interest. For how much time did Vishal invest
the amount so as to earn an interest of Rs. 1,170?

(1) 5 years (2) 6 years

(3) 7 years (4) 8 years

(5) None of these

Direction (54-58): The following numbers form a series. Find

54.

55.

56.

57.

58.

the odd one out.

11, 14, 23, 50, 131, 376

1) 14 (2) 23
(3) 50 (4) 131
(5) 376

17, 40, 111, 224, 385, 592

(1) 40 (2) 111
(3) 224 (4) 385
(5) 592

10, 21, 42, 83, 164, 265

1) 21 (2) 42
(3) 83 (4) 164
(5) 265

7,9,13, 22, 52, 175

1) 9 (2) 13
(3) 22 (4) 52
(5) 175

3,2,-1,-9, -52, -285

1) 2 ) -1
(3) -9 (4) -52
(5) -285

Directions (59-63): Answer the question based on the

7 | Page

information given below.

A shopkeeper sold three different packings of sugar
i.e. 500 g, 1 kg and 2 kg, respectively. The table given
below shows the number of packets of these three
types sold by the shopkeeper from Monday to Friday.
It also shows the total quantity (in kg) of the sugar
sold by the shopkeeper on each day. Number of 500
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59.

60.

61.

62.

63.

g sugar packets sold on Friday is 92% more than the
number of 2kg sugar packets sold on Tuesday.

Number Number | Number | Total
of 500 g of 1 kg of 2 kg quantity
packets packets packets of sugar
sold sold sold sold (kg)
Monday o 18 40 o
Tuesday o 22 o 84
Wednesday | 50 o 24
Thursday 30 35 15 _
Friday o 30 o 98
Total 184 . 126 476

Total quantity of sugar sold on Monday is what
percent less/more than the total quantity of sugar sold
on Thursday?
(1) 37.5%

(3) 42.5%

(5) None of these

(2) 40%
(4) 45%

Total quantity of sugar sold in 2 kg packets on
Tuesday is how much less/more than the total
quantity of sugar sold in 500 g packets on Friday?

(1) 18 kg (2) 20 kg

(3) 23 kg (4) 26 kg

(5) None of these

What is the ratio of the number of sugar packets sold
on Thursday to the number of sugar packets sold on

Friday?
(1) 4:5 (2)3:4
(3) 5:6 (4) 10:11

(5) None of these

If the shopkeeper sold each packet of 500g, 1 kg, 2
kg of sugar for Rs. 25, Rs. 48 and Rs. 90,
respectively, then find the average selling price per kg
of the sugar sold on Wednesday.

(1) Rs. 46.98 (2) Rs. 47.06

(3) Rs. 47.14 (4) Rs. 47.22

(5) None of these

Total number of 500 g, 1 kg and 2 kg sugar packets
sold on Saturday are 25%, 40% and 50% more than
the number of 500 g, 1 kg and 2 kg sugar packets
sold on Friday, respectively. Find the total quantity of
sugar sold on Saturday.
(1) 138 kg

(3) 130 kg

(5) None of these

(2) 134 kg
(4) 142 kg

Directions (64-68): Answer the questions based on the

Fb:-

information given below.

A shopkeeper bought different quantities of 6 types of
articles (Pants, Shirt, Trousers, Jacket, Blazer and
Shoes). Shopkeeper sold all the articles he had
bought. Number of Pants, Shirt, Trousers, Jacket,
Blazer and Shoes bought by shopkeeper was 16, 18,
12, 20, 15 and 8, respectively.

The 1stpie chart represents the percentage
distribution of total profit earned by shopkeeper on
selling total quantities of each type of article with
respect to the total profit earned together by selling all
the articles, and 2" pie chart represents the cost
incurred for buying all the quantities of each type of
article.

The discount given on each pant by the shopkeeper
was 27.5% and each pant was marked at 100%
above the cost price. Selling price of each pant was
Rs. 580.

Percentage distribution of profit earned

64.

65.

66.

67.

68.

H Pants

® Shoes

® Shirt

8%| = Trousers
u Blazer

24% Jacket

Percentage distribution of cost incurred for

buying the articles.

® Shoes

= Shirt

u Blazer

7.2%

Trousers
28%

Jacket
If discount percent given by the shopkeeper on each
shirt and each jacket was 41(2/3)% and 38.25%,
respectively, find the difference between the marked
price of each shirt and each jacket.

(1) Rs. 400 (2) Rs. 450
Eag Rs. 500 (4) Rs. 300
5) Rs. 350

The combined marked price of each unit of all the six
articles is Rs. ‘y’. A customer bought a unit of each
type of article by paying Rs. x’ and he was given a
total discount of Rs. 1438. Find x:y.

(1) 10:23 (2) 5:7
g; gfél 4) 7:9

The shopkeeper marked each unit of blazer by 75%
above its cost price. Find the discount percent given
on each unit of blazer.
(1) 16.33%

(3) 12.25%

(5) 8.67%

(2) 14.28%
(4) 19.23%

The discount given on each unit of trousers is 42.5%
but if a customer would buy more than five units of
trousers then he will be provided 10% more discount
i.e. a discount of 52.5% on each unit after 51 unit with
the marked price remaining the same. If Rahul had
bought 7 units of trousers then find the total discount

given to him.
(1) Rs. 2540 (2) Rs. 2460
(3) Rs. 2680 (4) Rs. 2260
(5) Rs. 2350

Find the difference between the profit percentage
earned on each unit of Shoes and on each unit of
Pants.

(1) 25.8% (2) 31.8%
E3§ 21.6% (4) 34.4%
5) 38.8%

Directions (69-73): Answer the question based on the

8 | Page

information given below.

Different number of people joined the blood donation
camp organized by Red Cross society in five different
cities. The line graph given below shows the total
number of people and number of females who
donated blood in these camps in different cities.
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69.

70.

71.

72.

Fb:-

Total number of people who donated blood in the city
= Number of males + Number of females donated
blood in that city.

450
400 o~
350 — 37
100 70 T~ 315
250 ZA
200
150
100

50

0 T T
Delhi Chandigarh Shimla Jaipur Kolkata
—+— Total number of people Number of females

Every male from each city donated two unit of blood
and every female of each city donated one unit of
blood. Four types of blood group i.e. A, B, AB and O
are donated in these cities. The bar graph given
below shows the number of units of blood group A,
number of units of blood group B and percentage of
AB blood group out of total number of units of blood
donated in these cities.

Total number of blood donated in a city

= number of A + B + AB + O blood unit

Kolkata

Jaipur

Shimla

Chandigarh

Delhi

0 20 40 60 80 100 120 140 160

Percentage of units of AB blood greup = Number of units of B blood group
= Number of units of A blood group

What is the ratio of the number of units of AB blood
group donated in Delhi to the number of units of O
blood group donated in Jaipur?

(1) 3:2 (2) 5:4

(3) 8:7 (4) 12:11

(5) None of these

Quantity I: Find the difference between the number of
units of blood donated in Delhi and the number of
units of blood donated in Kolkata.

Quantity II: Find the average number of units of AB
blood donated in Delhi, Chandigarh and Shimla.

(1) Quantity-l < Quantity-Il (2) Quantity-1 > Quantity-I|
(3) Quantity-I < Quantity-II

(4) Quantity-1 = Quantity-Il or No relation

(5) Quantity-1 = Quantity-II

Number of units of AB blood group donated in Kolkata
is how much percent less/more than the number of
units of O blood group donated in Chandigarh?

(1) 20% (2) 25%

(3) 30% (4) 35%

(5) None of these

Quantity I: If 70 females donated O blood group in
Shimla, then find the number of males who donated O
blood group in Shimla.

73.

Quantity IlI: If 78 males donated AB blood group in
Jaipur, then find the number of females who donated
AB blood group in Jaipur.

(1) Quantity-l < Quantity-Il (2) Quantity-1 > Quantity-I|
(3) Quantity-l < Quantity-II

(4) Quantity-l1 = Quantity-Il or No relation

(5) Quantity-l = Quantity-II

Number of units of A, B, AB and O blood groups
donated in Bangalore are 25%, 30%, 20% and 40%
respectively more than the number of units of A, B,
AB and O blood groups donated in Kolkata
respectively. Find the total number of units of blood
donated in Bangalore.
(1) 483

(3) 491

(5) None of these

(2) 487
(4) 496

Directions (74-75): Answer the question based on the

74.

75.

76.

77.

78.
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information given below.

A bag contains ‘X’ green, ‘y’ yellow, ‘3x — 6’ blue and
‘2y + 4’ red balls. Probability of drawing a red ball
from the bag is 2/5 while the probability of drawing a
yellow ball is 4/25.

Two balls are randomly drawn from the bag. What is
the probability that a green ball and a red ball are
drawn from the bag?
(1) 2/35

(3) 3/25

(5) None of these

(2) 7/50
(4) 4/35

1 ball is randomly drawn from the bag and put in a
box containing 9 red and 6 green balls. Now a ball is
randomly drawn from the box. What is the probability
that a red ball is drawn from the box?

(1) 1/4 (2) 47/80

(3) 27/40 (4) 27/80

(5) None of these

There are four friends A, B, C and D. Five years ago
the ages of A and B was in the ratio of 5:8
respectively. 10 years hence, the ages of C and D will
be in the ratio 9: 10 respectively. Present age of A is
25% less than the present age of D. Find the
difference between the ages of B and C if the average
present age of A, B, C and D is 37 years 6 months.
(1) 5 years (2) 8 years

(3) 10 years (4) 12 years

(5) None of these

A, B and C can do a certain piece of work in 32, 24,
and 28 days respectively. They started working
together but after ‘x’ days A left the job and ‘x+1’ days
before completion of the work B also left. Find the
value of ‘x2 — 2x + 20’ if the whole work is completed

in ‘4x—2’ days.
(1) 23 (2) 28
(3)35 (4) 44

(5) None of these

A and B started a business with initial investments of
Rs. 2,400 and Rs. 2,500 respectively. After one year
A withdrew __ % and B withdrew ___ % of their
initial investments. After two years profit share of A
out of the total profit is more than 50%.

The values given in which of the following options will
fill the blanks in the same order in which is it given to
make the above statement true:

I. 20%, 30% II. 25%, 30% . 12%, 16%

(1) Only I and Il (2) Only |
(3) Only land 11 (4) Only Il
(5) Only 1l and 111
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79.

80.

81.

82.

83.

84.

85.

Fb:-

Quantity I: A shopkeeper sold two books X and Y of
same marked price but discounts given on both the
books are different. On book X, the shopkeeper gives
two successive discounts of 10% and 15% and on
book Y, he gives a discount of 28%. If the difference
between the selling prices of both the books is Rs. 27,
find the marked price of each book.

Quantity II: A shopkeeper sold an article at Rs. 490
at a loss of 12.5%. If the shopkeeper marked the
article at 7(1/7)% above the cost price then find the
marked price of the article.

(1) Quantity-1 > Quantity-II

(2) Quantity-lI < Quantity-II

(3) Quantity-I < Quantity-II

(4) Quantity-I = Quantity-Il or No relation

(5) Quantity-l1 = Quantity-II

Quantity I: A, B and C can do a certain piece of work
in 24 days, 20 days, and 36 days, respectively. They
started working together but after 5 days B left the
work and A left the work before 7days of the
completion of the work. If the work is completed in ‘X’
days then find the value of ‘X’

Quantity II: 6 years ago, the ratio of the age of Hitesh
to that of Nitesh was 4:3, respectively. After 15 years,
the ratio of the age of Nitesh to that of Hitesh will
become 13: 15, respectively. If present age of
Saurabh is ‘y’ years and he is 8 years younger than
Nitesh then find the value of ‘y’.

(1) Quantity-1 > Quantity-11

(2) Quantity-1 < Quantity-I|

(3) Quantity-l < Quantity-II

(4) Quantity-I = Quantity-Il or No relation

(5) Quantity-l = Quantity-II

General Awareness

Indian botanical researchers have discovered
Dracaena cambodiana, a bleeding tree species in
which state?

(1) Assam

(3) Kerala

(5) None of these

(2) Tamil Nadu
(4) Punjab

Which company has launched India’s first sectoral
indices in the agri-commodities space namely
GAUREX and SOYDEX?

(1) National Commaodity and Derivatives Exchange

(2) Multi Commaodity Exchange

(3) Chicago Board of Trade

(4) Securities and Exchange Board of India

(5) National Multi-Commodity Exchange of India
Limited

Which state government has launched
"Learn and Earn scheme"?
(1) Madhya Pradesh

(3) Uttar Pradesh

(5) Andhra Pradesh

recently

(2) Assam
(4) Bihar

Name the Indian-origin scientist who has been
awarded by the Spinoza Prize, the highest distinction
in Dutch science?

(1) Krishna Chatterjee
(3) Sir Venkatraman
(5) S Ramkrishnan

(2) Joyeeta Gupta
(4) Gagandeep Kang

Which app has been launched by Indian government
for fish farmers?
(1) Matsya Setu
(3) Jal Jeevan
(5) Fish Hunt

(2) Agro Fish
(4) Jal Pari

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

10 | Page

The Ministry of New and Renewable Energy has
issued guidelines for starting which scheme of Rs.
34,422 crore?

(1) PM-Kusum Scheme  (2) PM-Awas Yojana

(3) PM-Jan Arogya Yojana (4) PM-Jan Dhan Yojana
(5) None of these

Who has won the gold medal in the decathlon at the
Asian Under-20 Athletics Championships?

(1) Umesh Awasthi (2) Sunil Kumar

(3) Shiv Kumar Singh (4) Ajay Kumar

(5) Neelam Agrawal

Where the headquarters of AU Small Finance Bank
located?

(1) Chennai (2) Pune
(3) Thrissur (4) Jaipur
(5) Mumbai

What second M stands for MSME?

(1) Micro (2) Marginal

(3) Manufacture (4) Multidimensional
(5) None of these

Where the Headquarters of UNIDO is located?

(1) Vienna, Austria (2) Canberra, Australia
(3) London, England (4) New York, USA

(5) Washington DC, USA

Name the state in which the Narora Atomic Power
Station is located?
(1) Gujarat

(3) Madhya Pradesh
(5) Uttar Pradesh

(2) Karnataka
(4) Andhra Pradesh

In which state the Anna International Airport is
located?

(1) Chennai

(3) Kolkata

(5) None of these

(2) Mumbai
(4) Patna

Where Manas national park is located?

(1) Gujarat (2) Rajasthan

(3) Assam (4) Andhra Pradesh
(5) Orissa

Where the Holkar Cricket Stadium is located?

(1) Navi Mumbai (2) Pune
(3) Indore (4) Gwalior
(5) Patna

Which of the following sports,
Raveendran is related to?
(1) Wrestling

(3) Badminton

(5) Shooting

Sreejesh Parattu

(2) High Jump
(4) Hockey

What is the tagline of Dena Bank?
(1) Trusted Family Bank

(2) Where service is a way of life
(3) Relationship beyond banking
(4) A Premier Public Sector Bank
(5) None of these

International Bank  for  Reconstruction and
Development headquarters located in

(1) Geneva (2) Beijing

(3) Paris (4) Washington DC

(5) None of these

India Post Payment Bank offer services
(1) Business loans and remittance

(2) Locker and remittance
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99.

100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

(3) Payments and remittance
(4) Merchant services and remittance
(5) None of these

are loans given by a bank on which repayments
or interest payments are not being made on time
(1) Bad Assets (2) Return Assets
(3) Non Performing Assets (4) Good Performing Assets
(5) None of these

BIS stands for

(1) Board for International Settlements
(2) Bureau for International Settlements
(3) Bank for Industrial Settlements

(4) Bank for International Settlements
(5) None of these

Commercial banks borrow funds by the RBI if there is
any shortage in the form of rupees, it is called as

(1) Reverse Repo Rate
(3) Bank Rate
(5) None of these

(2) Cash Reserve Ratio
(4) Interest Rate

The deposits with NBFCs are .

(1) Insured (2) Not insured

(3) Insured by RBI (4) Insured by NABARD
(5) None of these

To boost the Indian cooperative movement and give a
fillip to the indigenous enterprises, which ministry has
been created by the government of India?

(1) Ministry of Financial Assistant

(2) Ministry of Enterprises

(3) Ministry of Confederation

(4) Ministry of Cooperation

(5) Ministry of Aid

Which state has topped at the fifth State Food Safety
Index among larger state?
(1) Punjab

(3) Bihar

(5) Maharashtra

(2) Tamil Nadu
(4) Kerala

The tourism ministry signed a Memorandum of
Understanding (MoU) with which company to
strengthen and enable the tourism and hospitality

industry?

(1) Yatra (2) MakeMyTrip
(3) IRCTC (4) EaseMyTrip
(5) RedBus

Which country will host "Air Defender 2023", NATO’s
biggest ever air exercise?

(1) Turkiye (2) France
(3) Germany (4) Spain
(5) Poland

Which payment company has launched Postpaid Mini
in collaboration with Aditya Birla Finance Ltd?

(1) Phonepe (2) Paytm

(3) Googlepay (4) Mobikwik

(5) Freecharge

What is the position of India in producing crude steel
from 2014-15 to 2022-23?
(1) Largest

(3) Third largest

(5) Fifth largest

(2) Second largest
(4) Fourth largest

What is the priority sector lending target for Micro
Enterprises, as mandated by the RBI?
(1) 05% (2) 10%

Fb:- https://www.facebook.com/tesmuseduserve
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(3) 7.5%
(5) 5.3%

(4) 12%

The Standing Committee of the National Board of
Wildlife has given its approval to the Indian Air Force
to setup a new airbase in which state/UT?

(1) Chandigarh (2) Ladakh

(3) Rajasthan (4) Bihar

(5) Sikkim

The world’s tallest sandcastle constructed in which
country?

(1) Denmark (2) Norway

(3) Sweden (4) Helsinki

(5) Finland

The 61st Annual Awards of Lalit Kala Akademi were
presented by President Ram Nath Kovind to 15
artists, who among the following is not among them?
(1) Anoop Kumar Manzukhi Gopi

(2) David Malakar

(3) Sunil Kumar Viswakarma

(4) Devendra Kumar Khare

(5) Hari Ram Kumbhawat

How many countries have been elected as non-
permanent members of the UN Security Council?

i e
ine en
(5) Seven

Who has been appointed as Harvard University's Vice
President for Finance and Chief Financial Officer?

(1) Ashish Nanda (2) Ritu Kalra

(3) Suhel Seth (4) Jayant Sinha

(5) Sudha Jayant

To promote and strengthen the cooperation in the
matter of Competition Law and Policy, India has
signed an MoU with which country?

(1) Russia (2) China
(3) Britain (4) America
(5) Japan

Indira Gandhi International Airport has introduced
which facility for registration process of passengers?

(1) e-Safar (2) Digital Yatra
(3) DigiYatra (4) m-Journey
(5) CBSP

Miss World 2023 pageant will be held in which
country in November 2023?

(1) Qatar (2) USA
(3) China (4) India
(5) Spain

The epic bio-poem on the Buddha titled as “The Light
of Asia” is authored by whom?

(1) Shashi Tharoor (2) Jairam Ramesh

(3) Manohar Parrikar (4) Krishna Menon

(5) Param Chidamba

Which state government has proposed to have its
own over-the-top (OTT) platform?

(1) Kerala (2) Karnataka

(3) Maharashtra (4) Goa

(5) West Bengal

Which private sector lender has introduced a new
SMS banking facility for its customers?

(1) HDFC Bank (2) ICICI Bank

(3) State Bank of India (4) Axis Bank

(5) Kotak Mahindra Bank
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131.

Which of the following registers is used to keep track
of the address of the memory location where the next
instruction is located?

(1) Memory address register

(2) Memory data register

(3) Instruction register

(4) Program counter

(5) None of these

In Hexadecimal numbers, How was F represents?
(1) 11 (2) 12

(3) 15 (4) 14

(5) None of these

What resides on the motherboard and connects the
CPU to other components on the Motherboard?

(1) System Bus (2) Monitor

(3) ALU (4) CPU

(5) None of these

In power point the header and footer can be found on
the insert table in what group?

(1) Mustration group (2) Text group

(3) Table group (4) Object group

(5) None of these

Which of the following represents user identity
describes a situation in which one person or program
successfully masquerades as another by falsifying
data?

(1) Authentication
(3) Altering

(5) None of these

(2) Spoofing
(4) Malpractice

Which of the following is the corrupted data of hard
disk?

(1) Spoofing

(3) Corrupt

(5) None of these

(2) Ripper
(4) Hang

Telephone is the example for which of the following?
(1) Simplex (2) Half Duplex

(3) Full Duplex (4) Multiplex

(5) None of these

What is the extension to save powerpoint document?
(1) .doc (2) .com

(3) .pdf (4) .ppt

(5) None of these

The peripheral nodes are connected to a central
node, which rebroadcasts all transmissions received
from any peripheral node to all peripheral nodes on
the network, including the originating node is known
as .

(1) Star

(3) Mesh

(5) None of these

(2) Bus
(4) Ring

Which of the following layer is responsible for
transmission and reception of the unstructured raw bit
stream over a medium?
(1) Application layer

(3) Data link layer

(5) None of these

(2) Physical layer
(4) Transmission layer

is a program that visits web sites and reads
their pages and other information in order to
createentries for a search engine index
(1) Web hacker (2) Web crawler

Fb:- https://www.facebook.com/tesmuseduserve
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(3) Web source
(5) None of these

(4) Blogger

is a computer that offers a computer
network service to allow clients to make indirect
network connections to other network services.
(1) Server (2) Proxy server
(3) Client (4) Back page
(5) None of these

FAT maintained by OS on a hard disk that provides a
map of clusters (logical units of storage) that a file has
been stored. What does A represents?

(1) Allotment (2) Allocation

(3) Amount (4) Adopt

(5) None of these

is the specialized OS for use in computers
which are built into larger systems.
(1) Embedded OS (2) Real time OS
(3) Mobile OS (4) Network OS
(5) None of these

A(n)
any-where.
(1) Interconnector
(3) Mother board
(5) None of these

allows you to access your e-mail from

(2) Webmail interface
(4) Web blog

is the software creates a mirror image of the
entire hard disk, including operating system,
application, files and data.
(1) Operating system
(3) Drive imaging
(5) None of these

(2) Backup software
(4) Utility software

The computer to which a user's computer connects in
order to access the internet is called

(1) Client (2) Server

(3) PDA (4) Super computer

(5) None of these

ROLLBACK of the database is called_____ statement.
(1) TCL (2) bCL

(3) DDL (4) sDL

(5) None of these

__is the ability of a device to "jump" directly to the
requested data.

(1) Sequential access
(3) Quick access

(5) None of these

(2) Random access
(4) All the above

The programs which are as permanent as hardware
and stored in ROM is known as .

(1) Hardware (2) Hard disk

(3) Software (4) Firmware

(5) None of these

Which of the following is the communications protocol
that sets the standard used by every computer that
accesses Web - based information?

(1) XML (2) DML

(3) HTTP (4) HTML

(5) None of these

Hardware devices that are not part of the main
computer system and are often added later to the
system. They are called
(1) Peripheral

(3) Highlight

(5) None of these

(2) Clip art
(4) Executive
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is when the computer is turned on and the
operating system is loading.
(1) Flashing (2) Tracking
(3) Tapping (4) booting
(5) None of these

The name for the way that computers manipulate
data into information is called ____.

(1) Programming (2) Processing

(3) Sorting (4) Organizing

(5) None of these

UTP and STP are example for .

(1) CATV Cable (2) Thicknet coaxial cable
(3) Fiber optical cable (4) Twisted pair cable

(5) None of these

A(n) query displays a subset of data
from one table based on specified criteria.

(1) Select (2) Variable

(3) Operational (4) Joint

(5) None of these

What is the name of the interrupt which can be
minimized?

(1) Time interrupt

(3) Maskable interrupt
(5) None of these

(2) Makeable interrupt
(4) Nonmaskable interrupt

A disk scheduling algorithm in an operating system
causes the disk arm to seek back and forth across the
disk surface servicing all requests in its path, based
on

(1) First come first served (2) Shortest Seek Time First
(3) Scan (4) Latency time

(5) None of these

In an absolute loading scheme, which loader function
is accomplished by assembler?

(1) Reallocation (2) Allocation

(3) Linking (4) Loading

(5) None of these

The file structure that redefines its first record at a
base of zero uses the term .

(1) Relative organization (2) Key fielding

(3) Dynamic reallocation  (4) Hashing

(5) None of these

Which of the following in not a input device?
(1) Touch screen (2) Keyboard

(3) Joystick (4) Scanner

(5) Printer

A technique for searching special databases, called
data warehouses, looking for related information and
patterns is called

(1) Data redundancy
(3) Data integrity

(5) None of these

(2) Data mining
(4) Data programming

While studying about computer, we may came to
know about the term QDR. Expand QDR?

(1) Quad data rate (2) Quad decryption region
(3) Quad degree region  (4) Quad deficit rate

(5) None of these

Imagine that a user has a WORD document open at a
workstation and that workstation is unexpectedly
disconnected from the school network and from the
Internet. Where should the user BEST save her
work?

155.

156.

157.

158.

159.

160.

(1) USB key
(3) H drive
(5) None of these

(2) P drive
(4) S drive

cells involve creating a single cell by
combining two or more selected cells.
(1) Splitting (2) Uniting
(3) Together (4) Merging

(5) None of these

Multiple choice examination answer sheets can be
evaluated automatically by

(1) Optical character recognitions

(2) Optical character reader

(3) Optical Mark reader

(4) Magnetic tape reader

(5) None of these

A file is corrected immediately after the input of a
transaction. This is an example of

(1) Online updating (2) Batching

(3) Sorting (4) Offline Updating

(5) None of these

While studying about networking, we may came to
know about the term SACK. What does SACK
represents?

(1) Selection Acknowledgement

(2) Selective Acknowledgement

(3) Supreme request

(4) Suppress Data

(5) None of these

What is the shortcut key to centre alignment of the
paragraph?
(1) Ctrl +T
(3) Ctrl +E
(5) None of these

(2) Ctrl +J
(4) Ctrl + W

Which of the following memories has the shortest
access time?

(1) Main memory
(3) Cache memory
(5) None of these

(2) Secondary memory
(4) Virtual memory

Direction (161-165): In the question below, a sentence is

161.

162.

163.

13 | Page

given which has a blank, meaning something has
been omitted. From the options below, choose the
correct combination of idioms that can fit in the blank
to make the sentence grammatically and meaningfully
correct.

The money you earn through gambling is
(1) easy come, easy go  (2) eye candy
(3) lion’s share (4) lock and load
(5) loose cannon

She had had a number of heated arguments with her

friends, but once she got married, everything was
for her.

(1) fit as a fiddle

(3) right on the button

(5) white as a sheet

(2) right as rain
(4) weak at the knees

If you , then you cannot expect that your
health will remain good.

(1) work like a beaver (2) work like a horse

(3) work your fingers to the bone

(4) burn the midnight oil ~ (5) All of the above
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164. Ever since two of our team members resigned, we
have been to complete our deadlines due
to the increase in workload.

(1) under the influence (2) under one’s thumb
(3) under the weather (4) under the gun
(5) All of the above

165. 20th July was the last date for the submission of the
report; he submitted his report just .
(1) under his nose (2) under the table
(3) under the wire (4) under a cloud
(5) All of the above

Direction (166-168): In the question below, a sentence is
given, four words have been highlighted in bold. Find
out if the words are appropriate (grammatically and
contextually). Only one word will be inappropriate,
mark that as your answer. If all are appropriate, mark
"all are correct".

166. Science competitions often have to find a balance
between celebrating individual accomplishments
and acknowledging that science random happens

alone.
(1) balance (2) accomplishments
(3) acknowledging (4) random
(5) All are correct
167. | went to the Thai-Cambodian border in 1991 to

investigate the nearly incurable malaria that was
epidemic there at the time.

(1) border (2) investigate

(3) incurable (4) epidemic
(5) All are correct
168. I've spent much of my career developing the newly

FDA-approved drug tafenoquine, because | saw it
had the potential to enable elimination of all types

of cholera.
(1) developing (2) potential
(3) enable (4) elimination

(5) All are correct

Directions (169-173): In the following passage, there are
seven blanks which are alphabetized and five words/
phrases are given against it, only one of which fits the
blank appropriately. From the options, choose the
most appropriate filler.

January is traditionally a time for assessing the
developments of the previous year, in order to
_ (169)__ what the new one has in store.
Unfortunately, even though we may be at a turning
point for the better politically, the data that have
emerged in the last month do not painta __ (170)____
picture of the global economy’s short-term prospects.
The __ (171)__ was set early in the month by the
World Bank’s Global Economic Prospects. The report
paints a picture as ___ (172)___ as its subtitle —
“Darkening Skies”.

Moreover, last week, the European Central Bank
sounded the __ (173) over the Eurozone
economy.

169. (1) exacerbate
(3) annihilate
(5) None of the above

(2) anticipate
(4) admonish

170. (1) promising (2) bright
(3) rosy (4) All (1), (2) and (3)
(5) None of the above

171. (1) tendency (2) tone
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(3) crux (4) crust
(5) None of the above
172. (1) bleak (2) great
(3) unique (4) exceptional
(5) None of the above
173. (1) siren (2) alarm
(3) chimney (4) trumpet

(5) None of the above.

Directions (174-178): A set of six statements is given, out of
which the last statement is fixed, and the rest are
jumbled in any random order. Rearrange the
remaining statements in the right order and answer
the questions.

A. The workshop was held at ICTS-TIFR, Bengaluru.
B. A three-week long programme entitled,
‘Cosmology — The next decade’, which consisted of a
workshop for active researchers in the field of
cosmology came to a close on January 25.

C. In the workshop, project CMB-Bharat, which could
help us listen to the faintest murmurs of the early
universe, was discussed.

D. The project proposes ‘near-ultimate’ survey
polarisation that would exhaust the primordial
information in this ‘gold-mine’ for cosmology.

E. CMB expands into Cosmic  Microwave
Background, and the scientific space project CMB-
Bharat has been presented as a proposal to ISRO
and is being considered by it.

F. This was one highlight of the workshop that
also saw discussions on the X-ray telescope
ROSITA which is to be launched in June 2019.

174. Which of the following will be the FIRST statement
after rearrangement?

1) A ) B
) C (4D
(5) E

175. Which of the following will be the SECOND statement
after rearrangement?

1) A ) B
3 C (4D
(5) E

176. Which of the following will be the THIRD statement
after rearrangement?

(1A (2B
})C (4)D
() E
177. Which of the following statements will follow C after
rearrangement?
OE (2D
d)cC (4)B
(5) A
178. Which of the following statements will precede F after
rearrangement?
(1) A (2B
d)C (4)D
() E

Directions (179-184): Read the following passage carefully
and answer the questions.

Over the course of this year and next, the biggest
economic risks will emerge in those areas where
investors think recent patterns are unlikely to change.
They will include a growth recession in China, a rise
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in global long-term real interest rates, and a
crescendo of populist economic policies that
undermine the credibility of central bank

independence, resulting in higher interest rates on
“safe” advanced-country government bonds.

A significant Chinese slowdown may already be
unfolding. Sino-US trade war has shaken confidence,
but this is only a downward shove to an economy that
was already slowing as it makes the transition from
export- and investment-led growth to more
sustainable domestic consumption-led growth. How
much the Chinese economy will slow is an open
ended question. But, given the inherent contradiction
between an ever-more centralized Party-led political
system and the need for a more decentralized
consumer-led economic system, long-term growth
could fall quite dramatically.

Unfortunately, the option of avoiding the transition to
consumer-led growth and continuing to promote
exports and real-estate investment is not very
attractive, either. China is already a dominant global
exporter, and there is neither market space nor
political tolerance to allow it to maintain its previous
pace of export expansion. Bolstering growth through
investment, particularly in residential real estate,
which accounts for the lion’s share of Chinese
construction output— is also ever more challenging.
Any significant growth recession in China would hit
the rest of Asia hard, along with commodity-exporting
developing and emerging economies. Nor would
Europe — and especially Germany — be spared.
Although the US is less dependent on China, the
trauma to financial markets and politically sensitive
exports would make a Chinese slowdown much more
painful than US leaders seem to realize.

A less likely but even more traumatic outside risk
would materialize if, after many years of trend decline,
global long-term real interest rates reversed course
and rose significantly. There would be a significant
over-tightening by the US Federal Reserve in 2019.
This would be problematic, but it would mainly affect
short-term real interest rates, and in principle could be
reversed in time. The far more serious risk is a shock
to very long-term real interest rates, which are lower
than at any point during the modern era.

Which of the following statements can be inferred
from the passage?

1. Populist policies have an adverse impact on central
banks.

2. A growth recession in China is imminent unless
something is done to prevent it.

3. The government bonds issued by advanced
economies are generally considered safe.

(1) Only 1 (2) Only 2

(3)Only 2 and 3 (4) Only 1 and 2
(B)All1,2and 3

As per the passage, which of the following statements
is TRUE?

1. Decentralized consumer-led economic system is a
prerequisite for long term growth.

2. The trade war between US and China was caused
because of the centralized Party- led political system
of China.

3. Trade war between US and China is not the only
factor that has caused the slowdown of Chinese

economy.
(1) Only 1 (2) Only 2
(3) Only 3 (4) Only 1 and 2

(B) All1, 2and 3

181.

182.

183.

184.

What is the tone of the third paragraph of the

passage?
(1) Elated (2) Cautionary
(3) Optimistic (4) Laudatory
(5) Biased

What is the purpose of the author of the passage?

(1) to highlight the impact of populist policies on the
global economy.

(2) to highlight the risks to the global economy in the
coming years.

(3) to highlight the consequences of the trade war
between US and China.

(4) to highlight the risks of globalization.

(5) None of the above

Refer to the sentence: How much the Chinese
economy will slow is an open ended question.

Which of the following is an example of an open
ended question?

(1) Should Schools Cancel Summer Vacation

(2) Should Farm Animals Have More Legal
Protections

(3) How Necessary is a College Education

(4) How Should Nations and Individuals Address
Climate Change

(5) All of the above.

What is the meaning of the idiom ‘the lion’s share’?
(1) as strong as a lion.

(2) a lesser known fact

(3) the lesser of the two evils.

(4) the largest part of something.

(5) None of the above.

Directions (185-190): Read the following passage carefully

15 | Page

and answer the questions.

European colonization of the Americas resulted in the
killing of so many native people that it transformed the
environment and caused the Earth’s climate to cool
down, new research has found. Settlers killed off
huge numbers of people in conflicts and also by
spreading disease, which reduced the indigenous
population by 90% in the century following
Christopher Columbus’s initial journey to the
Americas and Caribbean in 1492. This “large-scale
depopulation” resulted in vast tracts of agricultural
land being left untended, researchers say, allowing
the land to become overgrown with trees and other
new vegetation. The regrowth soaked up enough
carbon dioxide from the atmosphere to actually cool
the planet, with the average temperature dropping by
0.15C in the late 1500s and early 1600s, the study by
scientists at University College London found.

“The great dying of the indigenous peoples of the
Americas resulted in a human-driven global impact on
the Earth system in the two centuries prior to the
Industrial Revolution,” wrote the UCL team of
Alexander Koch, Chris Brierley, Mark Maslin and
Simon Lewis. The drop in temperature during this
period is known as the “Little Ice Age”, a time when
the River Thames in London would regularly freeze
over, snowstorms were common in Portugal and
disrupted agriculture caused famines in several
European countries.

The UCL researchers found that the European
colonization of the Americas indirectly contributed to
this colder period by causing the deaths of about 56
million people by 1600. The study attributes the
deaths to factors including introduced disease, such
as smallpox and measles, as well as warfare and
societal collapse. Researchers then calculated how
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much land indigenous people required and then
subsequently fell into disuse, finding that around 55m
hectares, an area roughly equivalent to France,
became vacant and was reclaimed by carbon dioxide-
absorbing vegetation. The study sketches out a past
where humans were influencing the climate long
before the industrial revolution, where the use of fossil
fuels for the manufacturing of goods, generation of
electricity and transportation has allowed tens of
billions of tons of carbon dioxide to be released into
the atmosphere.

Widespread deforestation for agriculture and urban
development has also spurred the release of
greenhouse gases, causing the planet to warm by
around 1C over the past century. Scientists have
warned that the world has little over a decade to
drastically reduce emissions or face increasingly
severe storms, drought, heatwaves, coastal flooding
and food insecurity. The revegetation of the Americas
after European arrival aided declines of global carbon
content in the air, dropping by around seven to 10
parts of carbon dioxide for every million molecules of
air in the atmosphere. This compares to the 3ppm of
carbon dioxide that humanity is currently adding to
the atmosphere every year through the burning of
fossil fuels.

As per the passage, which of the following is/are the
events that occurred during “Little Ice Age™?

1. Freezing of river Thames.

2. Snowstorms in Spain.

3. Famines in some European countries.

(1)1and2 (2) Only 1
(3)2and 3 (4) Only 2
(5)1and 3

As per the passage, in which year did Christopher
Columbus first set sail for the Caribbean?

(1) 1490 (2) 1491
& 1494 o

Which of the following statements can be inferred
from the passage?

1. The climate of the earth is affected by human
activities.

2. The indigenous population in Americas reduced by
over 50% by the 16" century.

3. Reducing the human population is beneficial for the

planet.

(1)1and 2 (2) Only 1

g; i ang g (4) Only 2
an

Which of the following can be used to describe the
tone of the passage?
(1) Admiring

(3) Sarcastic

(5) Humorous

(2) Descriptive
(4) Condescending

As per the passage, which of the following statements
is/are correct?

1. European colonization of the Americas caused the
deaths of about 56 million people by 1600.

2. Earth has warmed by around 1C over the past 100
years.

3. Currently, humanity is adding 10ppm carbon
dioxide to the atmosphere every year through the
burning of fossil fuels.

(1) Only 1 (2)1and 2
(3) Only 2 (4)2and 3
(5) Only 3

190.

Which of the following words has a meaning similar to
“‘indigenous” used in the passage?

(1) Migrant (2) Ingenuous

(3) Native (4) Foreign

(5) Authentic

Direction (191-195): In the following question, a sentence is

191.

192.

193.

194.

195.

given, divided into five parts. Part (5) is grammatically
correct. Out of the other four parts, one part contains
an error. Mark the option containing the part with an
error. If none of the parts have errors, mark 'No
errors' as your answer. If all the parts have errors,
mark 'All have errors'.

The Accord sought to calm a (A)/ movement against
illegal migration (B)/ that had erupted in bloodshed
and (C)/ conformation taking thousands of (D)/ lives
between 1979 and 1985 (E).

1c (2D

R E (4) No error

(5) All have errors

This rather lacklustre responses to major ‘futuristic’
(A)/ challenges towards our national security raises a
larger (B)/ question: is India adequate prepared for
(C)/ the new age wars in general or is he still (D)/
preparation for the last war it fought, and won? (E)
QA (2D

3 E (4) No error

(5) All have errors

The arrangement is meant to guarantee continuation
(A)/ of the soft border between Northern Ireland (B)/
and the Republic of Ireland, even if (C)/ London and
Brussels failed to strike (D)/ a concrete relationship
after Brexit (E)
1) A

3)D

(5) No errors

(2)C
(4) All have errors

He moves on to his next (A)/ role, but can a role be
(B)/ performed without convincing yourself (C)/ about
the goodness of the character (D) you are essaying
on screen? (E)
@A

3 E

(5) No errors

(2)B
(4) All have errors

The investigating agency has a long way to (A)/ gone
before it establishes whether the loans (B)/ were
given in return for financial favours, (C)/ a charge that
is at the heart of booking them (D)/ for criminal
conspiracy, cheating and corruption (E).

1)B 2cC

(3 E (4) All have errors

(5) No errors

Direction (196-200): Match the statements from column 1 with

196.
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column 2 and find which of the following pair of
statements given in the options make contextually
and grammatically correct sense.

Column 2

D. countries relied
heavily on foreign
aid.

E. which you can

use to change the
world.

Column 1

A. Education is the
most powerful weapon

B. Another component
of the East Asian
economies’ strategies
for developing human
capital

C. In the earlier stages
of human-capital
investment in East
Asia,

F. was a gradual
shift in focus from
quantity to quality.
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198.

199.

200.

201.

(1)Aand E (2) Band D
(3)Aand D (4)Cand F
(5) Cand E

Column 1 Column 2

A. Many developing
countries today boast
rapidly growing young

D. realistic outcomes will
be virtually impossible to
deliver.

B. Without deliberate
and practical human-
capital strategies,

E. populations that could
be a boon for economic
growth and dynamism.

C. Given the effect of
human capital on
national productive and
development

F. developing countries
should be placing a high
priority on boosting
human capital.

capacities,
(1)Aand D (2)Band E
(3)Band F (4) Aand F
(5)CandF

Column 1 Column 2

A. Even if China maintains
its market-oriented reform
momentum,

D. China’s strategy for
economic growth has been
a work in progress

B. While steps can be
taken to reduce these
tensions,

E. about which there is still
significant domestic
disagreement.

C. A defining feature of
China’s four decades of
reform

F. has been the state’s
evolving role in the
economy.

(1)Aand F (2)Band D
(3)Aand D (4)Aand F
(6)CandF

Column 1 Column 2

A. It is worth noting that
China never adopted

D. is hampering outward
investment by Chinese
multinationals.

B. The lack of clarity
about the state’s role in
private firms

E. dynamic and relatively
free private sector.

C. The relative roles of

F. China has had a kind

the state and the market | of multi-stakeholder
in China’s model all along.

(1) Aand E (2)Band D

(3)Aand D 4)Aand F

(5) Cand E
Column 1 Column 2

A. We should not rule
out the possibility of

D. could include approaching
the Trans-Pacific Partnership’s
member states for accession

B. China could make a
dramatic
to zero tariffs

E. China pitching tariff reforms
commitment | to

the wider international

community.

consolidate and
expand its role within

the

C. China is likely to | F.
China’s
establishment

minds in
policy

sober
foreign

more

(1)Aand E (2)Band D
(3)Aand D (4) Aand F
(5)Cand E
HINDI
fad=r (201-205): FafRad e & ¥ wR gEmRlf osg €1 59 wHe A
99 7t 2o o e §, 9t SiuesT SR B
(a) 9T (b) g4
(c) Sgfd (d) ST
(e) T

Fb:-

202.

203.

204.

205.

Ma ()b
(3)c 4 d
(5) e

(a) 3T (b) TSI
(o |t (d) T
(e) Hfd

Ma (b
B3)c @ d
(5) e

(a) SFRTT (b) %
(c) Uiy (d) T
(e) TTST

Ma (b
3B)c 4) e
(5)d

(a) Ulcq (b) T8
(c) = (d) 7&t
(OGESER

Ma (b
(3)d (4 c
(5) e

(a) A (b) FTHIR
(c) 3m8a (d) Bt
(e) 3ifg

Ma (b
(3)d 4)c

(5) e

1w (206-210): = e a1 UAS g IR HIT H §ier TR (a), (b),

206.

207.

208.

209.

210.

() 3R (d) HHF foT 7T §| M) I8 ST B & | &
ol T & SR, HTeT, R, Wrect & Tad VAT O 38 aRE
DI B1g Ze! I e 71 I 3R Bl o a1 F Tt wep W A
& Enfl, IT U BT HHIS & IR 81 SR I ERfRd & O
IR (e) ST

IS BT °IST (a)/SIR-SIR ¥ (b)/ TG (c)/ 36T 4T (d)/ Bis

A TE (e)

(Ma )b

(3)d @) c

(5) e

Y TF BT (a)/ITN (b)/ T e AR (c)/ 7 far (d)/
CIMECERIC)

(1 a )b

3)d (4) c

(5) e

& (a)/39 93F B (b)/ THER (c)/ 51 &t (d)/ PTs ¢! Tal (e)
(1 a )b

3)d 4)c

(5) e

TAR S FT (a)/ AT (b)/ TR ¥ FAFHRY (c)/ TF &
(d)/ P13 ZE a1 (e)

(1)a )b

3)d (4) c

(5) e

k! ‘%ﬂ? (a)/ ST (b)/ T TR (c)/ THIH & 3T (d)/ BTs
(e)

Ma @b
3)d @c
(5)e

=1 (211-215): ¥ $3 a0EY T g T M 7 R I 91 AR
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211.

212.

213.

214.

215.

S aTeTRr A1 Weg TG HT et 31 Udbe Rl g1 39 fadweq
B HHID S ATIHT IR 81 TS D13 Ueq 31 78T Uabe HraT 8
N IWR (5) srufa * 378 A FIS 7T T

5% UHTg & IS B IHT T 8-

(1) 3aRerd (2) 3iFard
(3) 3MITH (4) 3mfea
(5) STH A F¥ T

51 77 7@l & A9 F e Bl
(OEER (2) T
(3) Hreft (4) T
(5) 3TH Y P T8I

THIE & 3FCR BT HIT (ST @HI)-

(1) 3 R (2) T DE
(3) HIUT Ha (4) TST R
(5) 379 A PIS el

g HTS Y 3T AT § I g3l 3-

(1) TR (2) 39
B) (4) SRR
(5) 379 A PIS el

g A7 orIeT 331 1 Bie 8-

(1) 3/ Ten (2) ISR
(3) PR (4) RSP
(5) S99 A BIS T8

&= (216-220): == T 7T Ud® wy T T Rad FeT gan g 3R 3P

216.

217.

218.

219.

220.

Ui Yot U T &1 399 A Bls U 39 Rad RIF W @ oA
Y 98 919 U 31Ul aTed & ST 81 9E Weg 1 IR D
P B IR & w0 7 3ifFhg pifve, Ry T vt F
affies Sugad &1 9o H1 5
Waﬁﬁg%a‘r%ﬁmm%eﬁ?mﬁmﬁ
.................. |

(2) HTa
(4) =T
(5) ST A IS T

AU {5t o1 I8l A1 8, 98 Il SNl §, JUf ITd Ul
BHAR........ ENEIICICEA!

(1) 3R
(3) Slcid
(5) 79 A BIS 781

3T & 1Y g T &l ... F T H, M F g uy o
SR I8 HBT off S UdT 8, SHHT Ul adh g8 el e |

(2) H=T
(4) YHIg-T

(1) gag R ENE
(3) faemy . (4) T
(5) 9 A BIE LT

TAR ol 7 3 ........ 3d 1l QR § oTb forg abgt wiretr © b
SIHT FAUA 37Td 3D TWT 37§ I TS e |

(1) gar (2) =T

(3) gat (4) ga®

(5) ST A PIS 781

TRINTAT o P S S B

(1) HHGAT (2) G

3) dRar (4) 3fpHUTar
(5) TTH A PIS 81

fréar (221-225): 7 feu 7T uf=dle & o fad = 3 Ru T € aur

Fb:-

I Ty TAT ¥ AT T 7| T T uRwye & A g €,
3R YAH & WA (a), (b), (<), (d) 3R (e) ey fau U |
Ul B A P T 39 Rad R”F 3 R uRw & Tl
UG & A IR B T B 3T I fdehed bl 1 PRAT S,
3R ITHT HHIS & I & U H AT g1 MUl 3y MU
foreal o O 999 IUYSd &1 TG99 AT 8|

221.

222.

223.

224.

225.

U 9R U1 §3fT foh oRTa <1 & 37 (221) 3fb1d UST| 37
T3 oRTa § YRS §¢ Rt Bfd I8d A1 35 Hial 39 b
F T I IS BT & (222) T, 98 gHI BT 3R AT §
3R ¢ 1t TaT B1 HI B W B I o1 T 31 3R Sl
-G ol HIST & (223) & oTH & o Fwd o2

T e A3 off, 7 yaest G it I T A 3R AR STpait
3R STl SITHRY &1 8% &1 3@l o1l fhr +ft 3 S fagm -
&Y (224) TP R I a9, 3R 3T & 4RT TR H o
Ugd| Hfd A TR F 6 T AR | (225) 3R o0 & 3
FET- “3fd T ol & U ST §, I8 PO & & af @H-dH &1
T ST TS| I I g I8! Jear ail”

g HEDP Hd ATadR PI 3R Id |
(1) ffya (2) 3ty
(3) Yt (4) TIDT
(5)

(1) IR (2) RUI

(3) TR (4) Tars

(5) TR

(1) dre (2) GXIR
(3) ;SR (4) AT

(5) i@

ORES @ fae

(3) USRI (4) g

(5) TTEY

(1) ORI STl (2) Bt STeTl
(3) VNG STl (4) ST STl
(5) BR STal

forda (226-230): 2 (A), (B), (C), (D), (E) 3R (F) H &: By QUM Bl

226.

227.

228.

229.

230.
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(F) 35 Hegy fora i freh 2 a71a @ 39 od ! Wt

a1 % §1E UgEl a1 DI 1 g
MA (2)F
3)D 4)cC
(5)E

QAR & S1G RT ATed HI |1 g
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3)F 4D
(5) A
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(1D (2)B
3)C 4)F
(5) A
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(5)C

QAR & S DT I BIF & g2
(Mo (2)F
3)cC 4) A
(5)B

Web :-


https://www.facebook.com/tesmuseduserve
https://tesmus.com/

RRB PO MAINS_2024 TEST ID - RPM - 87400621

= (231-240): R foT U M # w@HgdE ufer SR SW W
e ueit o IR il

I d@ URdg Tt # Hae I & FP FX UEREH
IUAEY N T 7, fg 3P RAUS WRIRT HT AU
HETHRA ¥ BT ¢ 3TPT A RUI Haltad T6 ¢ & FeTHRA
FIA § g4 6l URA T 7 offa waferard) eRer @t
ygEdr fe@rs usdt §, 98 HeTHRAD WS g6 W<
YUIg-HIGHT &1 IHieH 3R i 3@ §1 AemiRd ¥ aftfa
R R I Ty P ST A ™A F & 7 oifd, o, quf
3 A%-Taiel &1 IR 9gd o Riféd 8 1 a1l Jed 3t
IROM A & 09 SR fyars-awm w1fid g9 & & 99 ok fyarg
F &3 o omd-oFrf &1 W oft I B T ot s ot SRIR-
F1 ST 9, s AN-FH= RAFTET 9, UM He-H=A1
SEad § faaTg wR dd & | T -auEl o1 gfd & foe grnie
Taferslt &1 Ieced AMAGT BT qad AUGRY § ARSI &
Wep! ¥ gg Ht srgfd g1 AT ST UT| HW0T gRT Sfauft
T Ul RT gHs P 3ugRur qur fig-ffswan, vegy-
TG, RG-S, T B AT & TRAaRIed! ¥ g 54t
BT TG wRar g1 T RUfa & 3 wervRa @ § W
YR 1 ATTI-TIfeed T Fdd- THT M, o T8 Sgfad =
TR HRTHRA # Ty URifes SureaH! & gaifie Agayul
TI-gHARN JURSTH ¢ Fored W UH a1 IAE @1 9
ygfal Iuas Bt §, S WRad! JHREHe JurReEl o oft
IR Faferd T €, FUT-TaS-MHT I 3ge uRed J g
UF P ITURY, &9 GRT W BT SHEH-YSH, TTaD- T
FAT T e arersli &1 Iurufa, aRfufdeawr Arae- i
¥ fowe wd gAffad, org ®WewRd afe vereal @t
gr%{gr%% @ TA-THIN SURAFSAH] Halld HTdva
- |

Iuad fadRUl BT Yaid® Sugad b 8-

(1) 4G TUT HGTHRA (2) THRST TRERT 3R AU
(3) UURT 3R (4) U1 BTt B Frdfean
(5) 379 A P T8I

U 3R yRUg-grew & fwg § qeTHRd & Ps UG I SR
TYHd P & [P ST -

(1) I & fo1 1S I0-faarg wnefes et grar ot

(2) 99 & AR & fore =i =gt Ut

(3) U9 3R f3are & &= & 3md-oF R o1 W qud Bl XeT o

(4) YURI-TaT I gfef TR et 2R

(5) 79 A BIS T

BHAR I ! UTRiaH JHTUes T SUas §-

(1) Iufwar o (2) g H

(3) STH A PIS T&I (4) DR gt T T
(5) TR &

TRIYRA $Id | gd YR T § 5 efPaior ot uar
far gsdt 82

(1) HEifed () I

(3) Ad-uyH (4) tfomaifea
(5) STH A F¥ T

TS EgY-THTad TR SR S1fAe -3 YRR H THT 8-
(1) 7% Hac Y T=G s 9

(2) 3% TaiIH FHy URifie U= g9 &

(3) B TRABT3M & Wb A IZ e A

(4) T Taiidep PN ARSI B |

(5) STH A IS 81

s Rfofad # ¥ PH-I1 Yeg/areiw T & A 3R}
o forg T sa/areiier o7 T 82

3RAUS
(1) eI Ug (2) Rfder
(3) iyl (4) 3ffaurfsa

(5) Yad
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(1) Jufwg ¥

(3) HETHRA I
(5) A I

TR AT 1 fFwde Td GAHa SEeRul 8

M) MRS F AT (2) sfA-REier & = 9
@) TA-cHERI & HEHd  (4) PU-STEAd & e @
(5) TR A B T

Iy

(1) TR

(3) qHIEUE

(5) 3T Y P13 TRl

237.
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Ans.(1-5):

Ans.1(1)
Ans.6(5)

Ans.7(3)

Ans.8(3)

Ans.9(2)

Ans.10(4)

Ans.(11-15)

Fb:-

Reasoning

After filling the remaining data, we get:

Quantity

Box Number | Colour | Expiry year
Yellow | 2030 3l
Pink | 2032 61
Blue | 2026 53
Black | 2028 37
1 41

202
202
Red 2029 39
202
202

Green

2 7
4 3

Orange

| ta]| w| =] | o] | es

White

Ans.2(3) Ans.3(5) Ans.4(4) Ans.5(2)
Both | and Il are actions that would reduce air
pollution, and hence should be the courses of
action.

None of the statements alone is sufficient to
answer the question.

On combining statements | and 1l, G sits 2" to
the right of F. 3 persons sit between G and C. K
sit 3 to the left of C. F sit to the left of H. B sits
4" to the left of K and at most 5 persons sits to
the right of H, no proper arrangement is
possible.

On combining statements | and I, G sits 2" to
the right of F. 3 persons sit between G and C. K
sit 3" 1o the left of C. D sits at the extreme left
end of the row. E sits immediate right of H. B,
who is not the neighbor of C, doesn't sit 2" to
the right of A, we get the following arrangement,

[DIBJF[AJGIKIHIE [C]

Clearly, only one person sits to the left of B.
Rise in the fare, and being too much crowded
give inconvenience to riders, hence are the
reasons for the decrease in ridership by the
Metro.
So, option (3) is the correct answer.
Option 2 represents positive-benefit of the
metro, while Option 1 illustrates a quality of the
Delhi metro.
(A) is true as the main of vaccination is to
prevent diseases. (R) is true as well since every
parent would like to have their children in the
best of health. But (R) is not an explanation for
(A). Rather, it's the other way around. Hence,
Conclusion Il compares the effect of openness
of markets with (presumably) the effects of the
presence of democracy on economic growth.
Their relative importance is not stated in the
given statement and hence we cannot conclude
if one is more important than the other. Thus
conclusion Il does not follow.
The statement mentions the two requirements
i.e. necessities for economic growth. As nothing
is mentioned whether they are the only these
requirements enough for economic growth i.e.
growth factor alone to decide it.
The circumference of the circle is 40m. So, the
minimum distance between adjacent persons is
5m. C sits 15m to the right of A. Distance
between E and H is 15m. H sits adjacent to C.
The immediate neighbours of C face the same
direction. E doesn’t sit adjacent to A. We get two
cases as shown below.

H

Ans.11(2)
Ans.12(2)
Ans.13(1)
Ans.14(1)
Ans.15(3)
Ans.16(2)

Ans.17(4)

Ans.18(2)

Ans.(19-21)

Ans.19(1)
Ans.22(2)

1| Page

3 person are facing away from the centre.

H is sitting 3 to the left of G.

The distance between E and C is 10 m.

F is sitting opposite to A.

Two persons are sitting between E and A.

From statement | alone, no arrangement is
possible as per their score.

From statement Il alone, as C scored more than
D, who scored the 4™ highest marks. B scored
more than C. At least 5 students scored more
than H. G scored less than H. E doesn’t scored
less than F. E doesn’t scored the highest mark,
so these students are arranged as per their
score,

B>E/IC >CIE>D>F>H>G

(Highest) (Lowest)

If C doesn’t score the 2" highest marks, 2
students scored more than C.

Hence, statement Il alone is sufficient to answer
the question.

The statement neither compares the two types
of cancers nor does it propagate the Hawaiian
diet. The reason here might be the difference in
climate, people or diet in the two countries. This
information is not given and without this drawing
a conclusion about the diet or anything else
would be incorrect. Thus neither conclusions
follow.

Conclusion | is not correct because it negates
the statement itself. The statement made states
that resources are required to maintain a good
standard of living. It is given that these
resources will deplete so we can conclude that a
good standard  of living will be difficult to
maintain in the future. Thus conclusion Il follows.

Santosh
(Mathematics)

Sreedhar
(General Science)

Sudheer
(Solar Power)

Sukanya

Swathi (Young Scientist)

(Kuran)

Suresh

Sindhu (Hindi)

(English)
¢ Swetha

{The Fairy)
Ans.20(1) Ans.21(4)
None of the statements alone is sufficient to
answer the question.
On combining statement | and statement Il, no
proper arrangement is formed.
Again combining statement | and statement I,
no proper arrangement is possible.
On combining statements Il and statement Ill, R
lives on an even numbered floor. V lives
immediately below R. Only one person lives
between V and S, who doesn’t live on the
3loor. T lives immediately above S, who
doesn’t live on the topmost floor. U lives 4 floors
below T. P lives above U but below Q. There are
at least 3 floors between Q and W, so following

arrangement is possible:
Floors | Persons
8

B S B s e
=zl c|<| T w|H| D0

Clearly, 4 persons live between W and T.
Data given in both statements Il and Ill are
together sufficient to answer the question.
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Ans.23(3)

Ans.24(5)

Ans.25(2)

Ans.(26-30)

Ans.26(2)
Ans.(31-35)

Fb:-

Option 1 is not a suitable course of action.
Firstly, the villagers are simply claiming that the
gates were opened without warning, it might not
be true. Secondly, before punishing anybody, a
proper investigation needs to be done to find out
the reasons for opening the gates. It's possible
that the gates were opened due to an
emergency. Option 2 is a suitable course of
action. The villagers should be compensated so
that they can build their lives again. Also, since
they have lost their livelihoods, they will not be
able to repay their loans. So, on compassionate
grounds, their loans should be waived. Option 3
is not a suitable course of action. The passage
does not say that villagers lost their crops. It is
possible that the villagers did not grow any crops
(so giving them insurance will be futile).

From statement |, the word ‘day’ is coded as
either ‘raj’ or ‘live’, so statement | alone is not
sufficient to answer the question.

Even from statement Il alone, the code of the
word ‘day’ can’t be known because of lack of
information.

On combining statement | and statement I, the
code for the word ‘festival’ is ‘not’ and the code
for the word ‘after’ is ‘but’, but the code for the
word ‘day’ can’t be known.

The passage states that young players are now
aiming for cash-rich T20 leagues rather than
focusing on Test cricket. This implies that they
are getting more money by playing T20 cricket
than Test cricket. Therefore, 1 can be inferred.
The passage states that as per the survey done
in UK, more people watch T20 cricket than Test
cricket. So, for example, out of 10 people- 4
prefer T20 and 3 prefer Test match. This means
that it is more probable that a person will watch
T20 cricket than a Test match. Therefore, 2 can
be inferred.

The passage states that more and more young
players aim for T20 leagues. This does not
mean that none of the young players wants to
play test cricket. It just means that more players
are opting for T20 over Test match. Therefore, 3
cannot be inferred.

Floor| Person
9 z
3 T/w
7 WIT
6 s
5 X
T U
3 v
2 Y
1 R
Ans.27(5) Ans.28(5) Ans.29(1) Ans.30(5)
Month | Day | Person | Relation
12 B Wife
April
23 M Father
12 I Sister
July
23 R
12 A Mother
August
23 D Son
12 C Daughter
October
23 E Brother

Here, we can also draw a blood chart of these
persons.

Ans.31(3)
Ans.(36-40)

Ans.36(1)

Ans.41(1)

Ans.42(2)

2 | Page

Al) == M(+)
) —— E) —— K#B()
D(+) — C()

Ans.32(2) Ans.33(1) Ans.34(4) Ans.35(1)
Step 1: Difference between the product of first
digits from both the blocks and product of
second digits from both the blocks i.e. 6 x 7

=42 and 3 x5=15.

Difference between 42 and 15 is 27.

Same process is applied in all pair of blocks.
Step 2: In this step, first digit of each block is
added and then multiplied by 3 and the result is
addedto 18i.e. (2+1+1)x6+9=33

Same process is to be repeated (on second
digits of all three blocks) to get the second block.
Step 3: In this step, square of first digit of first
block and square of first digit from second block
is added and then product of first digit from both
the blocks is subtracted from iti.e. 32+ 32-3 x 3
=09.

Same process is done on second digits of
previous blocks to get the second block of this
step.

Step 4: Difference between the sum of the
blocks and difference of both the blocks is
calculated to get the final answer i.e. 09 + 63 =
72; and difference between 63 and 09 is 54.
Finally, difference between 72 and 54 is 18.
[eT1] [EI2] [slel [ERER

put: [ 5] 8| [a]s]

Step I:

Step Iz

Step Il

ENEN
Same procedure is applied for the given input:
Ans.37(2) Ans.38(1) Ans.39(4) Ans.40(5)

Quantitative Aptitude

Quantity I: Ratio of profit share i.e. A:B: C
=1200: 1500: 1800 =4:5: 6

Profit share of A for being a working partner
= 16% of 2500 = Rs. 400

Profit share of A for his investment = 4/15 x
2100 = Rs. 560

Total profit of A =400 + 560 = Rs. 960
Quantity II:  Ratio of profit sharei.e. A: B: C
= 4000 x 12: 3000 x 12: 2000 x 6 =4: 3: 1
Profit share of B = 3/8 x 2520 = Rs. 945

Let, original time is taken by Pankaj to reach
point B from point A = x hours

Then, original time is taken by Pratik to reach
point B from point A = (x — 1.5) hours

Also, let original speed of Pratik = y km/h
S0,45x x =y x (x—1.5)

And,y x (x—15)=(y—6) x (x—1)
yx—15y=(y-6) x (x - 1)

yX—15y =yx—-6x—-y+6

0.5y =6x—-6

y=12x-12

Therefore, 45 x x = (12x — 12) x (x — 1.5)
45x = 12x2 — 12x — 18x + 18

12x2 - 75x +18 =0

4x?—-25x+6=0

4x2 - 24x—-x+6=0

Ax(x-6)—1(x-6)=0

Step IV
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Ans.43(5)

Ans.44(4)

Ans.45(3)

Ans.46(2)
Fb:-

x =6, 1/4

Since x = 1/4 is not possible.

So,x=6

Therefore, speed of Pratik = 12x — 12 = 60 km/hr
Percentage of milk in mixture X = 87.5%

So, Ratio of milk to water in mixture X =7: 1
Let the initial quantity of milk and water in
mixture X be ‘7a’ litres and ‘a’ litres.
So,a+12=7a

6a=12, a=2 litres

So, initial quantity of mixture X =7a + a = 8a

= 16 litres

Quantity of milk in mixture Y = 16 litres

So, quantity of water in mixture Y = 3/4 x 16
=12 litres

Let, the amount of water and the amount of
alcohol initially in the container = 7a liters and
22a liters, respectively.

The amount of water and the amount of alcohol
taken out from the container = 7b liters and 22b
liters, respectively.

Statement I: (7a—7b + 24)/ (22a - 22b + 4)
=3/8

56a — 56b + 192 = 66a — 66b + 12

10a - 10b =180

a—-b=18

So, statement | alone is not sufficient to answer
the question.

Statement Il: 7a—7b + 24 = 150

7a—7b =126
7(a—b) =126
a—-b=18

So, statement |l alone is not sufficient to answer
the question.

Combining statement | and statement Il:
(7a—7b + 24)/ (22a—22b + 4) = 3/8

56a —56b + 192 = 66a — 66b + 12

10a —10b =180

a—-b=18

And, 7a—7b + 24 = 150

7a—-7b =126

7(a—b) =126

a-b=18

So, the data given in both statements | and I
together are not sufficient to answer the
guestion.

Let, present age of Mayank and Ankit be x years
and y years

So, (x + 3)/(y + 3) = 17/15

15x +45=17y + 51

15x =6 + 17y

X =(6+ 17y)/15

Statement I: (x—3)/(y—-3)=7/6

6x —18=7y—-21

7y—-6x(6+17y)/15=3

105y — 36 - 102y = 45

3y=81

y=27

X =(6+17y)/15=31

Required difference = 31 — 27 = 4 years

So, statement | alone is sufficient to answer the
question.

Statement II: (x + 5)/(y — 7) = 9/5

5x+25 =9y -63

9y —5x =88

9y —5x (6 + 17y)/15 =88

135y — 30 — 85y = 1320

50y = 1350, y = 27

X=(6+17y)/15=31

Required difference = 31 — 27 = 4 years

So, statement Il alone is sufficient to answer the
question.

From statement I:

Ans.47(2)

Ans.48(4)

Ans.49(3)

Ans.50(4)

Ans.(51-53):

Ans.51(1)

Ans.52(3)
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Let marked price be Rs. x

Then, selling price = 70% of x = Rs. 7x/10
Profit = Rs. 250

Let cost price be Rs. y

So, y + 250 = 7x/10

Statement | alone is not sufficient to answer the
guestion.

From statement II:

Let selling price be Rs. x

Therefore, selling price = (2000/125)x 100

= Rs. 1600

So, cost price = (1600 x 100)/160 = Rs. 1000
Statement Il alone is sufficient to answer the
question.

Quantity I: According to question,

(x — 8000)/(x + 6000 — 10000) = 1/2

2x — 16000 = x — 4000

x = 12000

Quantity II:

Marked price of the article = 1.5 x 10000

= Rs. 15000

'y’ = 80% of 15000 = 12000

Quantity Ill: ‘z’ = (2400 x 1800)/(20 x 30)

= 7200

Quantity I: Quantity of final mixture
=1/3 x60 + 60 + 20

=20 + 60 + 20 = 100 litres

Revenue generated by selling mixture

=100 x 60 = Rs. 6000

Quantity Il: Expected Cash back received by
Rahul = 10% of 60000 to 15% of 60000

= Rs. 6000 to Rs. 9000

Quantity Ill:  Amount received by Amit

= 50% of 14000 = Rs. 7000

Let the principal amount deposited on
compound interest be Rs. p.

Amount accumulated after 3 years = p x (1.1)3
Amount accumulated after 2 years = p x (1.1)?
So, p x (1.1)3—p x (1.1)2 = 968
1.331p—1.21p = 968

0.121p = 968

p = Rs. 8000

So, 3200 = (8000 x x x 5)/100

Xx=8

Cost price of a shirt = 420/1.4 = Rs. 300

Total price paid by Abhishek = 2200 — 40
=Rs. 2160

Price of each shirt for Abhishek = 2160/6
=Rs. 360

Total price paid by Vishal = 3400 — 25

=Rs. 3375

Price of each shirt for Vishal = 3375/9 = Rs. 375
Profit percent earned from Abhishek

= (360 — 300)/300 x 100 = 20%

Profit percent earned from Vishal

= (375 —300)/300 x 100 = 25%

Required difference = 25 — 20 = 5%

Ratio of profit share of Vishal: Varun = 1500 +
1500 + 200: 1800 + 1800 + 400 = 3200: 4000
=4:5

Profit share of Vishal for being active working
partner = 0.20 x 9000 = Rs. 1,800

Profit share of Vishal for his investment

= 0.80 x 9000 x 4/9 = Rs. 3,200

So, the total profit share of Vishal = 1800 + 3200
= Rs. 5,000

So, the value of A = Rs. 5,000.

Marked price of the article = 1.30 x 5000
=Rs. 6,500

Selling price of the article = 0.80 x 6500

=Rs. 5,200

So, the profit earned = 5200 — 5000 = Rs. 200
Profit share of Varun = 9000 — 5000 = Rs. 4,000
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Ans.53(2)

Ans.54(5)

Ans.55(2)

Ans.56(4)

Ans.57(4)

Ans.58(2)

Ans.(59-63)

Fb:-

Interest earned by Varun after three years

= 4000 x {(1 + 0.10)3 - 1} =Rs. 1,324

So, the value of B = Rs. 1,324

Amount spent by Vishal on entertainment and
transportation together = 0.55 x 5000

=Rs. 2,750

Amount given by Vishal to mother

= (5000 — 2750)/3 = Rs. 750

Amount left with Vishal = 5000 — 2750 — 750
=Rs. 1,500

So, the value of C = Rs. 1,500

So, the desired average = (5000 + 1324 +
1500)/3 = 7824/3 = Rs. 2608

Amount spent by Vishal on entertainment and
transportation together = 0.55 x 5000 = Rs.
2,750

Amount given by Vishal to mother = (5000

— 2750)/3 = Rs. 750

Amount left with Vishal = 5000 — 2750 — 750
=Rs. 1,500

So, the value of C = Rs. 1,500

Let the time for which Vishal invested the money
= X years

So according to question: 1500 x 0.13 x x

= 1170

x =1170/195, x = 6

So, the time for which Vishal invested the money
= 6 years

The series follows the pattern:

11+3t=14

14 +32=23

23 +3%3=50

50 +34=131

131 +35=374

Therefore, 374 should be in place of 376.
The series follows the pattern:

17 +23x1=40

40 + 23 x 3 =109

109 +23 x5=224

224 +23 x 7 =385

385 + 23 x 9 =592

Therefore, 109 should be in place of 111.
The series follows the pattern:

10+11=21

21+21=42

42 +41=83

83+ 71=154

154 + 111 = 265

Therefore, 154 should be in place of 164.
The series follows the pattern:

7+11+1=9

9+21+2=13

13+31+3=22

22 +41 +4 =50

50 + 5! +5=175

Therefore, 50 should be in place of 52.
3x1-12=2

2x2-22=0
0x3-32=-9
-9x4-42=-52

-52 x5 -52=-285

Therefore, 0 should be in place of -1.

Total quantity of sugar sold on Thursday = 30/2
+35+15x2=80kg

Total number of 1 kg sugar packets sold from
Monday to Friday = 476 — 126 x 2 — 184/2 = 132
Number of 1 kg sugar packets sold on
Wednesday = 132 — (18 + 22 + 35 + 30) = 27
Total quantity of sugar sold on Wednesday
=50/2 + 27 + 24 x 2 =100 kg

Total quantity of sugar sold on Monday
=476 — (84 + 100 + 80 + 98) = 114 kg

Ans.59(3)

Ans.60(4)
Ans.61(1)

Ans.62(2)

Ans.63(1)

Ans.(64-68):

Ans.64(1)
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Number of 500 g sugar packets sold on Monday
=(114-18-40x2)x2=32

Let the number of 500 g sugar packets sold on
Tuesday be‘x'.

So, the number of 500 g sugar packets sold on
Friday = 184 — (32 + x + 50 + 30) = (72 — Xx)
Number of 2 kg sugar packets sold on Friday
={98 — (72 — x)/2 — 30}/2 = 16 + 0.25x

Number of 2 kg sugar packets sold on Tuesday
=126 - (40 + 24 + 15 + 16 + 0.25x) = 31 — 0.25x
According to question: 1.92 x (31 — 0.25x)
=72-x

59.52 -0.48x =72 -x

0.52x =12.48,x =24

Number of 500 g sugar packets sold on Tuesday
=24

Number of 500 g sugar packets sold on Friday
=72-24=48

Number of 2 kg sugar packets sold on Friday
=16 +0.25 x 24 = 22

Number of 2 kg sugar packets sold on Tuesday
=31-0.25x%x24=25

Number | Number | Number Total
of500g | of1kg of 2 kg quantity
packets | packets | packets | of sugar
sold sold sold sold (kg)
Monday 32 18 40 114
Tuesday 24 22 25 84
Wednesday 50 27 24 100
Thursday 30 35 15 80
Friday 48 30 22 98
Total 184 132 126 476

Desired percentage
={(114 - 80)/80} x 100 = 42.5%
Quantity of sugar sold in 2 kg packets on
Tuesday = 2 x 25 = 50 kg
Quantity of sugar sod in 500 g packets on Friday
= 48/2 = 24 kg
So, the desired difference = 50 — 24 = 26 kg
Desired ratio = 80: 100 = 4:5
Total revenue generated on Wednesday = 50 x
25 + 27 x 48 + 24 x 90 = Rs. 4,706
So, the average selling price per kg = 4706/100
=Rs. 47.06
Number of 500 g sugar packets sold on
Saturday = 1.25 x 48 = 60
Number of 1 kg sugar packets sold on Saturday
=1.40x30=42
Number of 2 kg sugar packets sold on Saturday
=1.50x22=33
Total quantity of sugar sold on Saturday = 60/2
+42+33x2=30+42+66=138kg
Marked price of each pant = 580/0.725
=Rs. 800
Cost price of each pant = 800/2 = Rs. 400
Profit on each pant = 580 — 400 = Rs. 180
Profit on 16 pants = 180 x 16 = Rs. 2880
Let, total profit of the shopkeeper be Rs. X’
So, 0.12x = 2880
X = 24000
Also, cost price of 16 pants = 16 x 400
= Rs. 6400
Let, cost incurred for buying all the articles be
Rs. 'y’
So, 0.128y = 6400

= Rs. 50000

Total profit

Frofit on gach Total cast Costprice of each | Selling price of
n each uni

unit price unit
Pants Rs. 2680 Rs. 180 Rs. 6400 Rs. 400

Shirt 5%

7| 3500118 = Rs. 200 | 18% of 50000 | B0DOME = Rs, 500
= Rs. 000

0
= | 1820112 = Rs. 160 | 7.2% of 50000 | 3600012 = Rs, 300

Tacket 0720 = s, 286 | 2 74000720 = Rs. 700

Blazer G001 = Re. 400 72000115 = Rs. 800

= Rs. 12000
0% of 50000
= Rs. 5000

Shoes T6% of 24000
= Re. 3840

Marked price of each shirt = 700/ (1.75/3)
= Rs. 1200
Marked price of each Jacket = 988/0.6175
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Ans.65(4)

Ans.66(2)

Ans.67(1)

Ans.68(2)

Ans.(69-73):

Ans.69(3)
Ans.70(2)

Ans.71(3)

Ans.72(2)

Ans.73(5)

Ans.74(4)

Fb:-

= Rs. 1600

Required difference = 1600 — 1200 = Rs. 400
‘x’ =580 + 700 + 460 + 988 + 1200 + 1105

= Rs. 5033

'y’ = 5033 + 1438 = Rs. 6471

So, x:y=5033:6471=7:9

Marked price of each unit of blazer = 1.75 x 800
= Rs. 1400

Discount percentage = {(1400 — 1200)/1400}x
100 ~ 14.28%

Original Marked price of each unit of trousers

= 460/0.575 = Rs. 800

Discount after 5" unit = 52.5% of 800 = Rs. 420
So, total discount given =5 x 340 + 2 x 420

= 1700 + 840 = Rs. 2540

Profit percentage earned on each unit of Shoes
=480/625 x 100 = 76.8%

Profit percentage earned on each unit of Pants
= 180/400 x 100 = 45%

Required difference = 76.8 — 45 = 31.8%

Ans.75(2)

Ans.76(3)

City Number of Total number of
males units of blood
donated donated
blood
Delhi 370-120= 250 %2+ 120= | 0.40 % 620 =248 | 620 - 248 - 80 - 140
250 620 =152
Chandigarh | 400 - 300 = 100 x 2 +300= [ 0,32 =500 =160 | 500 - 160 - 118 - 72
100 500 =150
425 -250 = 175 =2+ 250 = | 0.45 = BOO = 270

Number of units of O
blood group donated

Number of units
of AB blood
group donated

Shimla B00D-270-55-75=
175 600

Jaipur 375-150= 225x2+150= | 0.36 =« 600 = 216
225

BOD-216-75-92=
217

315-240 = 75%2+240 = 0.50 x 390 = 195 [ 390 - 195-60-50 =
75 390 B85S

Desired ratio = 248: 217 =8: 7

Quantity I: Desired difference

=620 -390 = 230

Quantity II: Desired average = (248 + 160 +
270)/3 = 678/3 = 226

So, Quantity | > Quantity Il

Desired percentage = (195 — 150)/150 x 100
= 450/15 = 30%

Quantity I: Let the number of males who
donated O blood group in Shimla = x

So according to question: 2x + 70 = 200

2x =130

X =65

So 65 males donated O blood group in Shimla
Quantity II: Let the number of females who
donated AB blood group in Jaipur = x

So according to question: 2 x 78 + x = 216
156 + x = 216

X =60

So 60 females donated AB blood group in Jaipur
So, Quantity | > Quantity Il

Number of units of A blood group donated in
Bangalore = 1.25 x 60 = 75

Number of units of B blood group donated in
Bangalore = 1.30 x 50 = 65

Number of units of AB blood group donated in
Bangalore = 1.20 x 195 = 234

Number of units of O blood group donated in
Bangalore = 1.40 x 85 =119

Total number of units of blood donated in
Bangalore = 75 + 65 + 234 + 119 = 493

Total number of balls in the bag =x +y + 3x — 6
+2y+4=4x+3y -2

Probability that a red ball is drawn = 2/*4Cy/4**3y-
2C1=2/5

2y + 4)/(4x + 3y —2) = 2/5

10y +20=8x+ 6y —4

Kolkata

Ans.77(2)

Ans.78(2)

8x—4y =24

2X—=Y =6 .cceinnnnnnn (i)

Probability that a yellow ball is drawn = YC1/4*3-
2Cy1 = 4/25

yl(4x + 3y — 2) = 4/25

25y =16x + 12y — 8

16x—13y=8....... (ii)

Solving (i) and (ii)we getx=7andy =8
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So the total number of balls inthe bag =4 x 7 +
3x8-2=50

The bag contains 7 green, 8 yellow, 15 blue and
20 red balls.

So the probability that a green ball and a red ball
are drawn = 7Cy x 20C1/%0C, = 7 x 20/1225
=4/35

So the probability that a red ball is drawn from
the box = 20C1/°0C; x 10C1/16C; = 2/5 x 5/8 = 1/4
Case II: A ball other than red ball is drawn from
the bag

So the probability that a red ball is drawn from
the box = 30C4/50C1 x °C1/'6C1 = 3/5 x 9/16
=27/80

So the probability that a red ball is drawn from
the box = 1/4 + 27/80 = 47/80

Let the ages of A and B five years ago were 5x
years and 8x years respectively.

So the present ages of A and B are ‘5x + 5’
years and ‘8x + 5’ years respectively.

Present age of D = (5x + 5)/0.75 = (20x + 20)/3
years

Age of D after 10 years = (20x + 20)/3 + 10

= (20x + 50)/3 years

Age of C after 10 years = (20x + 50)/3 x 9/10

= (6x + 15) years

Present age of C =6x + 15 - 10 = 6x + 5 years
According to question: 5x + 5 + 8x + 5 + (20x +
20)/3+6x+5=4x%x37.5

77x + 65 =450

77x =385, x=5

So the present age of B=8 x 5 + 5 =45 years
Present age of C=6 x5+ 5 =35 years

So the difference between the ages of B and C
=45 -35=10years

Let the total work = 672 units (LCM of 24, 28
and 32)

Amount of work done by A in one day

=672/32 = 21 units

Amount of work done by B in one day

=672/24 = 28 units

Amount of work done by C in one day = 672/28
= 24 units

A worked for x days, B worked for 4x —2 — (x +
1) = “3x — 3’ days and C worked for ‘4x — 2’ days
So according to question: 21x + 28(3x — 3) +
24(4x —2) = 672

21X + 84x — 84 + 96x — 48 = 672

201x — 132 =672

201x = 804

x=4

So the value of X2 —2x + 20 =42 -2 x 4+ 20
=16-8+20=28

Investment of A for second year = 2400 x 0.80
=Rs. 1,920

Investment of B for second share = 2500 x 0.70
=Rs. 1750

Ratio the profits of A to B = 2400 + 1920: 2500 +
1750 = 4320: 4250 = 432: 425

So the profit percent of A out of the total profit
= 432/(432 + 425) x 100 = 43200/857 = 50.4%
So option | can be the answer.

Option II: Investment of A for second year

= 2400 x 0.75 = Rs. 1,800

Investment of B for second share = 2500 x 0.70
=Rs. 1750

Ratio the profits of A to B = 2400 + 1800: 2500
+ 1750 = 4200: 4250 = 84: 85

So the profit percent of A out of the total profit
= 84/(84 + 85) x 100 = 8400/169 = 49.7%

So option Il can’t be the answer.

Option llI: Investment of A for second year

= 2400 x 0.88 = Rs. 2,112
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Ans.79(4)

Ans.80(2)

Ans.81(1)

Ans.82(1)
Ans.83(1)

Fb:-

Investment of B for second share = 2500 x 0.84
= Rs. 2100

Ratio the profits of A to B = 2400 + 2112: 2500
+ 2100 = 4512: 4600 = 564: 575

So the profit percent of A out of the total profit
= 564/(564 + 575) x 100

=56400/1139 = 49.51%

So option Il can’t be the answer.

Quantity I:

Let the marked price of each book be Rs. x.
Overall discount by the shopkeeper at book X
=10 + 15— [(10 x 15)/100] = 23.5%

Selling price of book X = 0.765x

Discount on book Y by the shopkeeper = 28%
Selling price of book Y = 0.72x

According to question,

0.765x — 0.72x = 27

0.045x = 27

X = Rs. 600

Quantity II:

Selling price of article = Rs. 490

Loss percentage = 12.5%

Cost price of the article = 490/0.875 = Rs. 560
So, marked price of the article = 560 x (7.5/7)
= Rs. 600

Therefore, Quantity-1 = Quantity-II

Quantity I:

Let, total work be LCM of 24, 20, and 36

= 360 units

Total units of the work done by A in a day

= 360/24 = 15 units

Total units of the work done by B in a day

= 360/20 = 18 units

Total units of the work done by C in a day

= 360/36 = 10 units

Total units of work done by all three in first 5
days = 43 x 5 = 215 units

Total units of work done by C in last 7 days
=10 x 7 =70 units

Remaining work = 360 — (215 + 70) = 360 — 285
=75 units

So, 75 units of work would be done by Aand C
in 75/25 = 3 days

Therefore, total time taken to complete the work
=5+ 7+ 3=15days

So, value of ‘X’ =15

Quantity II: Let 6 years ago, the age of Hitesh
and the age of Nitesh = ‘4x’ years and ‘3x’ years,
respectively.

So, (4x + 21)/ (3x + 21) = 15/13

52x + 273 = 45x + 315

X=42,X=6
Therefore, present age of Hitesh = 4x + 6 = 30
years

And, present age of Nitesh = 3x + 6 = 24 years
So, 'y =24-8=16

General Awareness

This tree has been found in the Donga Serpo
area of Karbi Anglong in Assam. It took almost
four years to classify this plant as a dragon tree
species. From this plant, bright red colored latex
is secreted, which has been used in medicine,
varnish and dyeing of clothes since ancient
times.

Madhya pradesh Government has launched
"Learn and Earn scheme".

The scheme will teach employable skills to the
youth in 703 work areas which have been
identified for training.

Along with learning skills, the youth will also be
given an allowance of Rs 8000 to 10000.

Ans.84(2)

Ans.85(1)

Ans.86(1)

Ans.87(2)

Ans.88(4)
Ans.89(5)

Ans.90(1)
Ans.91(5)

Ans.92(1)
Ans.93(3)
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At least one lakh youth will be provided training
under the scheme.

Indian-origin scientist Joyeeta Gupta has been
awarded the Spinoza Prize, the highest
distinction in Dutch science.

The award is also sometimes referred to as the
"Dutch Nobel Prize".

Gupta will receive 1.5 million euros to spend on
scientific research and activities related to
knowledge utilisation.

The Spinoza Prize is an annual award of 2.5
million euro prize money, to be spent on new
research given by the Dutch Research Council
(NWO).

The award is the highest scientific award in the
Netherlands.

It is named after the philosopher Baruch de
Spinoza.

Five recent year awardees -

2018 — Anna Akhmanova, Carsten de Dreu,
Marileen Dogterom, John van der Oost

2019 — Bas van Bavel, Ronald Hanson, Amina
Helmi, Yvette van Kooyk

2020 — Nynke Dekker, Jan van Hest, Pauline
Kleingeld, Sjaak Neefjes

2021 - José van Dijck, Marc Koper, Lieven
Vandersypen and Maria Yazdanbakhsh

2022 — Thea Hilhorst, Klaas Landsman, Corné
Pieterse, Ignas Snellen

Union Minister for Fisheries & Animal Husbandry
Giriraj Singh launched an Online Course Mobile
App “Matsya Setu” for fish farmers.

The mobile app has been developed by the
ICAR-Central Institute of Freshwater
Aquaculture (ICAR-CIFA), Bhubaneswar.

The online course app mainly aims to educate
the fish farmers in the country with the latest
freshwater aquaculture technologies.

The target is to set up 25,750 MW of solar
capacity by the year 2022 under the Prime
Minister Kisan Energy Security and Upliftment
Mahabhiyan (PM-Kusum) scheme. There is a
plan to run all diesel / electric pumps used for
irrigation across the country with solar energy
under the Kusum scheme.

19-year-old Indian player Sunil Kumar won the
gold medal in the men's decathlon event at the
Asian Under-20 Athletics Championships being
held in Yecheon city of South Korea.

Sunil secured the first position by scoring 7003
points in 10 events decathlon.

He got first place in 100 meters hurdles, discus
throw and javelin.

Indian athletes fetched 19 medals at the Asian
U20 Athletics Championships 2023 held in
Yecheon, Republic of Korea from June 4 to 7.
Japan topped the medals table with a total of 23
medals - 14 golds, four silvers and five bronze.
The People’s Republic of China came second
with 11 golds, five silvers and three bronze
medals.

Jaipur is the headquarters of AU Small Finance
Bank.

MSME stands for Micro Small and Medium-sized
enterprises

Vienna, Austria is the headquarters of UNIDO
Narora Atomic Power Station is located in Uttar
Pradesh

Anna International Airport located in Chennai
Manas National Park or Manas Wildlife
Sanctuary is a national park, UNESCO Natural
World Heritage site, a Project Tiger reserve, an
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Ans.95(4)

Ans.96(1)
Ans.97(4)

Ans.98(3)

Ans.99(3)

Ans.100(4)
Ans.101(5)

Ans.102(2)
Ans.103(4)

Ans.104(4)

Ans.105(1)
Ans.106(3)

Ans.107(2)
Ans.108(2)
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elephant reserve and a biosphere reserve in
Assam

Holkar Cricket Stadium is located in Indore
Sreejesh Parattu Raveendran is the Hockey
Player.

Dena Bank - Trusted Family Bank

International Bank for Reconstruction and
Development headquarters located in
Washington DC

India Post Payment Bank offer payments and
remittance services

Non-Performing Assets or non-performing loans
are loans given by a bank on which repayments
or interest payments are not being made on time
BIS - Bank for International Settlements
Commercial banks borrow funds by the RBI if
there is any shortage in the form of rupees. If
this rate increases it becomes expensive to
borrow money from RBI and vice versa. It is
called Repo Rate

The deposits with NBFCs are not insured

The government has created a Ministry of
Cooperation to boost the Indian cooperative
movement and give a fillip to the indigenous
enterprises.

India’s first minister of cooperation will also be
sworn in once the Union Cabinet reshuffle takes
place and the new ministers take the oath of
office at the Durbar Hall in President House.

The new ministry of Cooperation will work to
realise the vision of “Sahkar se Samriddhi” and
will provide a separate administrative, legal and
policy framework to boost the cooperative
movement in the country.

Union Minister for Health and Family Welfare Dr.
Mansukh Mandaviya unveiled the fifth State
Food Safety Index.

Among the larger states, Kerala topped the
ranking, followed by Punjab and Tamil Nadu.
Among the smaller states, Goa topped the list,
followed by Manipur and Sikkim.

Jammu & Kashmir, Delhi, and Chandigarh
secured the 1st, 2nd, and 3rd ranks respectively
among the union territories.

Germany is preparing to host the biggest air
deployment exercise in NATO’s history, a show
of force intended to impress allies and potential
adversaries such as Russia.

The Air Defender 23 exercise starting next week
will see 10,000 participants and 250 aircraft from
25 nations respond to a simulated attack on a
NATO member country.

The United States alone is sending 2,000 U.S.
Air National Guard personnel and about 100
aircraft to take part in the training maneuvers.
NATO was created by 12 countries from Europe
and North America on 4 April 1949.

Since then, 19 more countries have joined
NATO through nine rounds of enlargement (in
1952, 1955, 1982, 1999, 2004, 2009, 2017,
2020 and 2023).

Article 10 of the North Atlantic Treaty sets out
how countries can join the Alliance.

Union Minister of Steel and Civil Aviation,
Jyotiraditya M Scindia has stated that India has
moved from 4th largest producer of crude steel
to the second largest producer of crude steel
from 2014-15 to 2022-23.

India stand just behind China which is the
largest exporter of crude steel in the world.
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India has reported a hike of 42% in Crude steel
production from 88.98 MT(Metric ton) in 2014-15
to 126.26 MT in 2022-23.

Top 10 steel producers -

People’s Republic of China - 95.7 Mt

India - 11.4 Mt

Japan - 7.5 Mt

United States of America - 6.7 Mt

Russia - 6.6 Mt

The Reserve Bank of India mandated that 7.5%
of the bank’s total credit (ANBC or CEOBE)
should be provided to Micro enterprises.
Recently, the Union MSME Ministry announced
the inclusion of retail and wholesale trade under
MSMEs (Micro, small and medium enterprises).
As per this categorisation, the traders will how
get the benefit of priority sector lending under
RBI guidelines.

The Standing Committee of the National Board
of Wildlife has given its approval to the Indian Air
Force to setup a new airbase in Ladakh.

The new IAF airbase is expected to comeup in
the Changthang sanctuary area, right off the
Line of Actual Control.

New IAF Base of 500 hectares in Changthang
Sanctuary -

The new airbase that is being setup in the
Ladakh region will be spread across 500
hectares of land within the reserve.

The project proposal has sought the use of
508.187 ha from Changthang Wildlife Sanctuary
for the creation of the IAF Airbase within the
Union Territory of Ladakh.

The approval granted for the project also
includes several conditions that IAF has to fulfil
including compensation charges for
environmental damage and measures that are
required to reduce damage and impact on the
vulnerable ecology of the region.

As per media reports, the plan has so far
received clearance from Chief Wildlife Warden,
the State Board of Wildlife, and the Ladakh
administration Ladakh.

Following this, the Standing Committee of the
National Board of Wildlife has also approved the
project.

Significance -

The development of a new airbase in Ladakh
that too at Changthang Sanctuary is of great
significance as it will allow IAF to operate
missions closer to LAC - Line of Actual Control,
which borders neighbouring China.

Until now, the Leh airbase of IAF had been the
only facility from where IAF operations were
carried out.

In the 1960s, IAF also developed Advanced
Landing Ground facilities built at Fukche.
Recently, ALG was also developed at Daulat
Beg Oldie, Thoise, and Nyoma, of which the
Nyoma ALG falls within Changthang sanctuary
area.

World’s tallest sandcastle built in Denmark now
holds the new Guinness World Records.

The sandcastle standing at 21.6 metres high
(69.4 feet) is 3.5 meter taller than the one built in
Germany in 2019 that held the previous world
record of 17.66 metres.

About Denmark:

Capital: Copenhagen

Currency: Danish krone

Population: 58.1 lakhs (2019)
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Five countries have been elected as non-
permanent members of the UN Security Council
following a vote in the General Assembly.
Algeria, Guyana, Republic of Korea, Sierra
Leone and Slovenia will join the premier body for
maintaining international peace and security,
starting in January, serving for a two-year
period.

The five newly elected countries will join
Ecuador, Japan, Malta, Mozambique and
Switzerland as non-permanent members of the
Council.

The Security Council is composed of 15
countries, five of which — China, France, Russia,
the United Kingdom and the United States — are
permanent members, granting them the right to
veto any resolution or decision.

The 10 non-permanent members are elected by
the General Assembly, which comprises all 193
UN Member States, and in line with
geographical distribution by region.

Ritu Kalra has been appointed as Harvard
University's Vice President for Finance and
Chief Financial Officer.

She has been serving as Harvard's Assistant
Vice President of Finance and Treasury and
Special Projects Adviser.

Kalra is an Indian-American investment banking
and financial management expert.

She spent 18 years at Goldman Sach as
Managing Director.

Delhi's Indira Gandhi International Airport (IGI)
Airport has introduced the 'DigiYatra' facility for
passengers.

The initiative launched at Terminal-3 of IGI
Airport is a three-step registration process.
Passengers can use the facility seamlessly,
inside the terminal, security check area, and at
the boarding gates.

DigiYatra is a faster, safer, and smoother way of
travel.

Miss World will be hosted in India in November
2023, after 27 years since the last time it was
held in the country in 1996.

The event will feature contestants from over 130
countries.

India has won the Miss World title six times in
the past, with Reita Faria being the first Indian
woman to win the title in 1966.

The first-ever Miss World from India Reita Faria
won the contest in 1966.

Aishwarya Rai (1994), Diana Hayden (1997),
Yukta Mookhey (1999), Priyanka Chopra (2000)
and most recently Manushi Chillar (2017) are the
other Indian winners of the contest.

A new book titled “The Light of Asia” authored
by Jairam Ramesh is a biography of an epic bio-
poem on the Buddha.

Ramesh, the author, Member of Parliament,
former Union Minister, and Congress leader.

The private sector lender HDFC Bank introduced
a new SMS banking facility for its customers.
The bank claims that now customers can access
a wide range of banking services round-the-
clock, 24/7 x 365 no matter where they are.

With the new SMS banking facility, customers
can now check account balances & summaries,
apply for loans, manage credit cards, apply for
chequebook requests, generate account
statements and more.
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The program counter is used to keep track of the
address of the memory location where the next
instruction is located.

F=>15

System Bus resides on the motherboard and
connects the CPU to other components on the
Motherboard

In power point the header and footer can be
found on the insert table in Text group.

Spoofing represents user identity describes a
situation in which one person or program
successfully masquerades as another by
falsifying data.

The corrupted data of hard disk is called Ripper.
Telephone is the example for Full Duplex

The extension to save power point document

as .ppt

The peripheral nodes are connected to a central
node, which rebroadcasts originating node
received from any peripheral node to all
peripheral nodes on the network, including the
originating node is known as Star topology.

The Physical layeris responsible for transmission
and reception of theunstructured raw bit stream
over a medium

Web crawler is a program that visits web sites
and reads their pages and other information in
order to create entries for a search engine index
The proxy server is a computer that offers a
computer network service to allow clients to
make indirect network connections to other
network services.

FAT = File Allocation table

Embedded OS is the specialized OS for use in
computers which are built into larger systems.

A Web interface allows you to access your e-
mail from anywhere.

Drive imaging is the software creates a mirror
image of the entire hard disk, including operating
system, application, files and data.

The computer to which a user's computer
connects in order to access the internet is called
Server

ROLLBACK of the database is called TCL
(Transaction control language) statement
Random access is the ability of a device to
"jump" directly to the requested data.

The programs which are as permanent as
hardware and stored in ROM is known as
Firmware.

HTTPis the communications protocol that sets
the standard used by every computer that
accesses Web - based information

Hardware devices that are not part of the main
computer system and are often added later to
the system. They are called peripheral.

Booting is when the computer is turned on and
the operating system is loading.

The name for the way that computers
manipulate data into information is called
Processing
Explanation:

UTP and STP are example for twisted pair
cable.

The select query displays a subset of data from
one table based on specified criteria.

The interrupt, which can be minimized are
Maskable interrupt

A disk  scheduling algorithm in an
operatingsystem causes the disk arm to seek
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backand forth across the disk surface
servicingall requests in its path, based on Scan
In an absolute loading scheme, Reallocation
loader function is accomplished by an
assembler.

The file structure that redefines its first record at
a base of zero uses the term relative
organization.

Printer is an output device

A technigue for searching special databases,
called data warehouses, looking for related
information and patterns is called Data mining.
QDR =Quad data rate

The data which are opened in the workstation,
which is disconnected will be stored in H drive.
Merging cells involves creating a single cell by
combining two or more selected cells.

Multiple choice examination answer sheets can
be evaluated automatically by Optical Mark
Reader.

A file is corrected immediately after the input of a
transaction. This is an example of Online
updating.

SACK = Selective Acknowledgement

The shortcut key to centre alignment of the
paragraph is Ctrl + E

Cache memory will take shortest access time.

The sentence talks about money earned through
gambling. Since this money is not earned
through hard work, one can assume it is
dependent on luck and unreliable. EASY COME,
EASY GO means something that is lost as easily
as it is won, which fits here contextually.

EYE CANDY - an attractive person. LION'S
SHARE - the majority part of something. LOCK
AND LOAD - to prepare for something
unpleasant. LOOSE CANNON - an
unpredictable or uncontrolled person.

The sentence talks about how arguments with
her friends stopped after her marriage. RIGHT
AS RAIN means to be resolved or in good state,
which fits here.

FIT AS A FIDDLE means healthy. RIGHT ON
THE BUTTON means to be exact. WEAK AT
THE KNEES means to be physically weak.
WHITE AS A SHEET means pale-faced.

The sentence talks about a reason why the
listener’s health is failing. All of the idioms mean
to work extremely hard. All the idioms fit
contextually in the sentence.

The sentence talks about how the increase in
pressure has contributed to the increase in
pressure to complete the deadlines. UNDER
THE GUN means to be under pressure, which
fits here contextually.

UNDER THE INFLUENCE means to be
intoxicated. UNDER THE THUMB means under
someone’s authority. UNDER THE WEATHER
means unwell.

The sentence talks about the deadline for the
submission of the reports. UNDER THE WIRE
means at the last moment, which fits here
contextually.

UNDER HIS NOSE means in someone’s
presence. UNDER THE TABLE means to be
done by underhand means. UNDER A CLOUD
to be under suspicion of having done something
wrong.

The sentence talks about how science
competitions must play the role of establishing
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an equilibrium (balance) between celebrating
individual achievements (accomplishments) and
coming to terms (acknowledging) with the fact
that science does not happen by itself.
RANDOM is an adjective is incorrect here as it is
not modifying a noun and does not render
meaning to the context. SELDOM (rarely) would
be a better fit.

The sentence talks about how the author went to
the borders of two countries (Thailand and
Cambodia) to study (investigate) the disease
which had no cure (incurable) and was prevalent
there. EPIDEMIC (noun) refers to an outbreak of
a disease. It does not fit here grammatically, as
we need an adjective. ENDEMIC (adj.) means
prevalent in a certain area, and would have
been more suitable here.

The sentence talks about how the author spent
most of his career making (developing) a drug
that had the capacity (potential) to help in
(enable) the eradication (elimination) of cholera.
All the words have been used correctly.

We need a verb in the base form to fit in the
infinitive construction TO+VERB. The sentence
states that January is the month in which the
performance of the global economy is assessed
and future predictions are made. Thus, we need
a word which highlights the action of prediction.
ANTICIPATE means to imagine or expect that
something will happen. Thus, it fits contextually.

EXACERBATE- to make something that is
already bad even worse. It does not fit
contextually.

ANNIHILATE- to destroy something completely
so that nothing is left. It does not fit contextually.

ADMONISH- to tell someone that they have
done something wrong. It does not fit
contextually.

The sentence has a negative tone. It states that
the political climate has changed but the global
economy is not in good shape. The sentence
implies that the data that have emerged point
out that the economic prospects in the short
term are not positive. All the options are correct.
The phrase a bright/rosy/promising picture
means to make something sound very good.

We need a noun here as denoted by the use of
the article THE (articles are used to modify only
nouns). This sentence provides the reason
behind the negative outlook of the global
economy. It states that the findings of the report
of World Bank’s Global Economic Prospects is
the reason. TO SET THE TONE FOR
SOMETHING means to establish the mood of
something, or the manner in which something
will be conducted. The other options do not fit
contextually

TENDENCY- an inclination towards a particular
characteristic or type of behaviour.

CRUX- the decisive or most important point at
issue.

CRUST- the external
something.

We need an adjective to modify the noun
PICTURE. Additionally, it should carry a
negative meaning as the sentence states that
the findings of the report are similar in essence,
to its title: “Darkening Skies”. This implies a
negative tone. Out of the options only BLEAK
fits contextually as it carries a negative meaning.
BLEAK means (of a situation) not hopeful or
encouraging; unlikely to have a favourable

side or surface of
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outcome. The other options have a positive
meaning.

GREAT- of an extent, amount, or intensity
considerably above average.

UNIQUE-being the only one of its kind; unlike
anything else.

EXCEPTIONAL- unusual; not typical.

The sentence points out another event that
reinforces the argument presented in the
previous sentence, which highlights that the
outlook of the global economy is not positive. It
states that the European Central Bank has
shown concern over the state of the economy of
the Eurozone. The phrase SOUNDED THE
ALARM means to alert other people about
something dangerous, risky, or troublesome.
The other options do not fit in the phrase.

The passage talks about a workshop that took
place in Bengaluru.

Statement B introduces the main idea of the
passage and therefore it will be the first
sentence after rearrangement.

Statement A gives the location of the workshop
and so it will follow B. Also, ‘the workshop’
mentioned in A refers to the workshop
mentioned in B.

Statement C talks about what was discussed in
the workshop i.e. ‘CMB-Bharat. Also, ‘the
workshop’ mentioned in C refers to the
workshop mentioned in statements A and B.
Therefore, C follows A.

Statement E discusses what CMB-Bharat stands
for and why was it discussed in the workshop.
Therefore, E follows C.

Statement D states what is CMB-Bharat. Also,
‘the project’ refers to CMB-Bharat mentioned in
C and E. Therefore, D follows E.

Thus, the sequence is BACED-F.

The passage talks about a workshop that took
place in Bengaluru.

Statement B introduces the main idea of the
passage and therefore it will be the first
sentence after rearrangement.

Statement A gives the location of the workshop
and so it will follow B. Also, ‘the workshop’
mentioned in A refers to the workshop
mentioned in B.

Statement C talks about what was discussed in
the workshop i.e. ‘CMB-Bharat. Also, ‘the
workshop’ mentioned in C refers to the
workshop mentioned in statements A and B.
Therefore, C follows A.

Statement E discusses what CMB-Bharat stands
for and why was it discussed in the workshop.
Therefore, E follows C.

Statement D states what is CMB-Bharat. Also,
‘the project’ refers to CMB-Bharat mentioned in
C and E. Therefore, D follows E.

Thus, the sequence is BACED-F.

The passage talks about a workshop that took
place in Bengaluru.

Statement B introduces the main idea of the
passage and therefore it will be the first
sentence after rearrangement.

Statement A gives the location of the workshop
and so it will follow B. Also, ‘the workshop’
mentioned in A refers to the workshop
mentioned in B.

Statement C talks about what was discussed in
the workshop i.e. ‘CMB-Bharat. Also, ‘the
workshop’ mentioned in C refers to the
workshop mentioned in statements A and B.
Therefore, C follows A.
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Statement E discusses what CMB-Bharat stands
for and why was it discussed in the workshop.
Therefore, E follows C.

Statement D states what is CMB-Bharat. Also,
‘the project’ refers to CMB-Bharat mentioned in
C and E. Therefore, D follows E.

Thus, the sequence is BACED-F.

The passage talks about a workshop that took
place in Bengaluru.

Statement B introduces the main idea of the
passage and therefore it will be the first
sentence after rearrangement.

Statement A gives the location of the workshop
and so it will follow B. Also, ‘the workshop’
mentioned in A refers to the workshop
mentioned in B.

Statement C talks about what was discussed in
the workshop i.e. ‘CMB-Bharat. Also, ‘the
workshop’” mentioned in C refers to the
workshop mentioned in statements A and B.
Therefore, C follows A.

Statement E discusses what CMB-Bharat stands
for and why was it discussed in the workshop.
Therefore, E follows C.

Statement D states what is CMB-Bharat. Also,
‘the project’ refers to CMB-Bharat mentioned in
C and E. Therefore, D follows E.

The passage talks about a workshop that took
place in Bengaluru.

Statement B introduces the main idea of the
passage and therefore it wil be the first
sentence after rearrangement.

Statement A gives the location of the workshop
and so it will follow B. Also, ‘the workshop’
mentioned in A refers to the workshop
mentioned in B.

Statement C talks about what was discussed in
the workshop i.e. ‘CMB-Bharat. Also, ‘the
workshop’” mentioned in C refers to the
workshop mentioned in statements A and B.
Therefore, C follows A.

Statement E discusses what CMB-Bharat stands
for and why was it discussed in the workshop.
Therefore, E follows C.

Statement D states what is CMB-Bharat. Also,
‘the project’ refers to CMB-Bharat mentioned in
C and E. Therefore, D follows E.

Both 2 and 3 are correct. The first paragraph of
the passage states that growth recession in
China is one of the economic risks that is
possible in the future. Hence, it will happen if
steps are not taken to prevent it. 3 states that
the outcome of the economic risks would be a
rise in the interest rate of advanced-country
government bonds. It uses the word “safe” to lay
emphasis on government bonds of advanced
economies to highlight that are generally
considered safer.

1 is incorrect. The passage merely states that
the populist policies that are likely to be adopted,
would affect the independence of the central
bank. But this cannot be said about all the
populist policies.

The passage states that the Chinese economy
was already slowing down before the US-China
trade war. Thus, there were other factors that
caused the slowdown of Chinese economy.
Refer to the lines: Sino-US trade war has
shaken confidence, but this is only a downward
shove to an economy that was already slowing
as it makes the transition from export- and
investment-led growth to more sustainable
domestic consumption-led growth.
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1 is incorrect. The second paragraph states that
China needs a decentralized consumer-led
economic system to sustain its growth. But it
does not state that it is a mandatory. Refer to
the lines: But, given the inherent contradiction
between an ever-more centralized Party-led
political system and the need for a more
decentralized consumer-led economic system,
long-term growth could fall quite dramatically

2 is incorrect. The passage does not discuss the
cause behind the US-China trade war.

In the third paragraph of the passage, the author
has talked about the impact of recession in
China, on the global economy. The author has
also said that the US leaders are
underestimating the fallout of the recession in
China. Thus, the aim of the author is to caution
the reader of the consequences of recession in
China. A, B and D are incorrect as they convey a
positive tone. E is incorrect as the author is not
unfairly prejudiced for or against someone or
something.

The author’s aim is to highlight the potential risks
to global economy. Refer to the lines: They will
include a growth recession in China, a rise in
global long-term real interest rates, and a
crescendo of populist economic policies that
undermine the credibility of central bank
independence, resulting in higher interest rates
on “safe” advanced-country government bonds.
A less likely but even more traumatic outside
risk would materialize if, after many years of
trend decline, global long-term real interest rates
reversed course and rose significantly.

A is incorrect. The passage merely comments
on how the adoption of populist policies may
impact the independence of central bank.

C is incorrect. The passage does not discuss the
consequences of trade war between US and
China.

D is incorrect. The passage does not discuss
globalization.

Open-ended questions are ones that require
more than one word answers. When people
begin an open-ended discussion or activity, they
do not have a particular result, decision, or
timespan in mind. The sentence seeks to
convey that different people would have different
opinion on the degree of slowdown of the
Chinese economy. It is subjective and requires
an in-depth analysis. Similarly, all the questions
mentioned in the options cannot be answered in
simply a “yes” of a “no”. Thus, all the options are
examples of open ended questions.

The idiom means the largest part of something.
The passage uses the idiom to show that the
residential real estate constitutes the majority of
the construction output in China.

Refer to the line in the passage: “Little Ice Age”,
a time when the River Thames in London would
regularly freeze over, snowstorms were common
in Portugal and disrupted agriculture caused
famines in several European countries”.
Therefore, only options 1 and 3 are correct.

The passage states that Christopher Columbus’
initial journey to the Caribbean started in 1492.
Refer to the line in the passage: “Widespread
deforestation for agriculture and urban
development has also spurred the release of
greenhouse gases, causing the planet to warm
by around 1C over the past century”. It states
that deforestation has increased emission of
greenhouse gases leading to warming of the
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planet. Therefore, it can be concluded that
human activities affect the climate of the earth.
Thus, 1 can be inferred from the passage.

Refer to the line in the passage: “reduced the
indigenous population by 90% in the century
following Christopher Columbus’s initial journey
to the Americas and Caribbean in 1492”. It
states that in the century following Columbus’
journey, the indigenous population declined by
90%. This implies that by the 16th century
(1500-1599), the population of indigenous
people had reduced by more than 50%. Thus, 2
can be inferred from the passage.

The passage states that a reduction in the
human population (caused by the killing of
native population by the Europeans) lowered the
Earth’s temperature. But this does not mean that
a lower temperature is beneficial for the planet.
Therefore, 3 cannot be inferred from the
passage.

The most appropriate word to describe the tone
of the passage is ‘descriptive’. The author has
given details, including data, of the various
researches. Also, there is no show of emotions.
The tone of the passage is not ‘admiring’ as the
author is nor praising the colonisation of
Americas.

The tone is not ‘sarcastic’ as the author is
neither dismissive nor snide.

The tone is not ‘condescending’ as the author is
not patronising the _native population or
colonisers.

The tone is not ‘humorous’ as the author has not
used any jokes or anecdotes.

Refer to the line in the passage: “the European
colonization = of the Americas indirectly
contributed to this colder period by causing the
deaths of about 56 million people by 1600”.
Therefore, 1 is correct.

Refer to the line in the passage: “..spurred the
release of greenhouse gases, causing the planet
to warm by around 1C over the past century”.
Therefore, 2 is correct.

Refer to the line in the passage: “the 3ppm of
carbon dioxide that humanity is currently adding
to the atmosphere every year through the
burning of fossil fuels”. Therefore, 3 is incorrect.
‘Indigenous’ means originating or occurring
naturally in a particular place. Its synonyms are
native, local, original, etc.

Ingenuous means innocent and unsuspecting.

In D, replace ‘conformation’ with ‘confrontation’
or ‘violence’. ‘Conformation’ means the shape of
an animal. The sentence talks about the
violence caused by a movement against illegal
migration.

In A, either replace ‘responses’ with ‘response’
or replace ‘this’ with ‘these’. The pronoun ‘this’
refers to the noun ‘response’ mentioned in A.
Therefore, either both should be singular or both
should be plural.

In B, replace ‘towards’ with ‘to’. ‘Towards’ means
‘in the direction of’. It is not contextually
appropriate here.

In C, replace ‘adequate’ with ‘adequately’. An
adverb should be used to describe the adjective
‘prepared’ and ‘adequate’ is an adjective.
In D, replace ‘he’ with either ‘she’ or ‘it. The
pronoun is being used to refer to India and ‘he’
is not the appropriate word.

In E, replace ‘preparation’ with ‘preparing’.
‘Preparation’ is a noun and we need a verb
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(‘preparing’) to denote India’s actions with HINDI
respect to wars.

Ans.193(3) In D, replace ‘failed’ with ‘fail'. The statement is Ans.201(2) Ans.202(1) Ans.203(4) Ans.204(3)
expressing a possibility (‘even if’), implying that Ans.205(4) Ans.206(3) Ans.207(2) Ans.208(5)
the event has pot occurred yet. Therefore, the Ans.209(1) Ans.210(2) Ans.211(2) Ans.212(3)
verb cannot be in the past tense. _ Ans.213(1) Ans.214(4) Ans.215(1) Ans.216(2)

Ans.194(5) The sentence is contextually and grammatically Ans.217(1) Ans.218(3) Ans.219(2) Ans.220(4)
correct. o _— Ans.221(3) Ans.222(5) Ans.223(2) Ans.224(5)

Ans.195(1) In B, replace ‘gone’ with ‘go’. The infinitive Ans.225(4) Ans.226(5) Ans.227(4) Ans.228(4)
construct is “To + Base form of verb”. Therefore, Ans.229(2) Ans.230(5) Ans.231(2) Ans.232(3)
past participle form (‘'gone’) of the verb ‘go Ans.233(5) Ans.234(4) Ans.235(3) Ans.236(4)
should be replaced by the base form ('go’). Ans.237(4) Ans.238(5) Ans.239(3) Ans.240(2)

Ans.196(1) The correct pairs are: AE, BF and CD.
AE- A talks about education being the most
powerful weapon. We need the verb stem to
complete the sentence. The sentence talks
about how education can be used to change the
world. “Education is the most powerful weapon
which you can use to change the world.”
BF- B talks about a feature of East Asian
economies and F describes the feature.
“Another component of the East Asian
economies’ strategies for developing human
capital was a gradual shift in focus from quantity
to quality.”
CD- C talks about the initial phase of human-
capital investment in East Africa. D talks about
how countries usually depended on foreign aid
to maximise human capital formation. “In the
earlier stages of human-capital investment in
East Asia, countries also relied on foreign aid.”

Ans.197(5) The correct pairs are: AE, BD and CF.
AE- A talks about the something which is
common in many developing countries and B
talks about the thing which is common. “Many
developing countries today boast rapidly
growing young populations that could be a boon
for economic growth and dynamism.”
BD- B and E together talk about something
which would not happen without deliberate and
practical strategies. “Without deliberate and
practical human-capital strategies outcomes will
be virtually impossible to deliver.”
CF- C and F together talk about the need to
place higher priority on human capital. “Given
the effect of human capital on national
productive and development capacities,
developing countries should be placing a high
priority on boosting human capital.”

Ans.198(5) The only correct pair is: CF.
CF- C talks about the defining feature of the
Chinese economy, F provides the feature that is
being talked about. “A defining feature of
China’s four decades of reform has been the
state’s evolving role in the economy.”

Ans.199(2) The only correct combination is: BD
BD- The sentence talks about the impact of lack
of clarity about the state’s role on Chinese
multinationals. “The lack of clarity about the
state’s role in private firms is hampering outward
investment by Chinese multinationals.”

Ans.200(1) The only correct combination is AE.
AE- The sentence talks about not ruling out the
possibility of China’s move to change the
existing trade order by involving other countries.
“We should not rule out the possibility of China
pitching tariff reforms to the wider international
community.”
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(3) T1 a1 Rith B 1 a1 Ryt e 11 | & el SR SR &9

¥ R i@ g

%ggmﬂ | 3R 11 H <} T WY THBRT IR oA & g
|

(5) T B | SR 11 H & TS g SHbRI TR & b R

T e B

T 20 fohhe & 3T ¥ WA & 37 Uyl W Ufdpd YHTE UST
Bl 31w ¥ S1fiw gar 3R ufquremelt et o o ek
& 20 T & o Tigd 7@ €, Sl b gRURe e fhdbe &

guﬁf@ﬁﬁﬁmawqaﬁwmﬁ&r@mmww
?

1. X T WeH @) ga § 120 o W Qe ¥ faanfsal &t
31frep Bt fiveran B

2. Gd&U & SUR, % B U Afad &1 X fohdbe 31 o &
T 20 fohthe 3G &Y 3HfdP GHIETT |

3. a1 e} ¢xe fohdhe -Tet WaT argd B

(1) Had 1 (2)13R2

(3) Had 2
(5)1,2 3R 3

4)23R3

1w (26-30) R < T2 IHER! B e ¥ ue iR Fofafad we @

26.

27.

28.

29.

30.

IR

RS, T U V,W,X Y 3Rz & g St U g A SR &
faftrsr ATl W Ed &1 T e 6o & 1 fF S g,
IGF FHW B! AR TET 2 g 3R T R Ted SR B
HfoTel T 9 Bl SHRA @I 9o | It <l 1 < dfdaat §
SAA-greA fagmn T B, s9ueR | 6 o ue dfd | ek
IR 3 iR § 939 g1 IR AN do7 9 ufd H te e
Tt § [ AT IS 957 B AT H Th AR BT AT IR
? @dad § & te ufed ST &1 W AR W 7 SR IR
UfeT f&ror &1 I HR I B) |

IR B! B T A 1 Ufed & s SR R 9 FfF
TR & 1o & g TSrh §1 z i dferd W g § ok
Trelt Hioet & faudla Soar g1 5df witie Wk e ara safad w

Bt = o 81

Def AT W B AT e?
(1S
B)w
5)Y

w b i R xgar 22

(1) &dt (2) 7ai
(3) 6al 4)
(5) e =& fear ST 9par g

fRafifad # 9 o9 A oy a9 27

(1) R Uf3T & ST¢ BR W TR R R 9318
(2) st s S d seargl

@) TY S Iiddoarg

() Y Tf \f R g gl

(5) STeRT H Y 1S 5!

fefed o= & ¥ IR T O TP ¥ 99 § 3R 39 TPR
f3U T Sgaw & SFTUR THE §1d &1 S0 ¥ B 39 IHg I
Teifird e 82

@u
@7

(1) R-V (Y-U
B)R-W @z-s
(5) X-Y

¥o% | 2 P A U B 93182

My (2) X
B3)V @7
(5)S

= (31-35) R <) TR IHER! B e ¥ ue iR Fafatad uat @

4 | Page

IR

313 AR - A, B, C, D, E, J, M 3R R T & URAR & T 2|
30, TS, SARA 3R SfagaRk & HEAl § 34 wfmal A
Rafea o9 & T oA tNAR F SlFR F U Sd € 1 9
S & 12 3 I1 23 § IRRG P STdex & U W §, SUUBR I
% g3y Yew fawm waifed [kl iR oma aRaR & Sfaex &
T o1d & 3R Afed Tax 94 hHifhd fafal 1R 3mm uRar
P Sige & U ofd &1 378 ¥ U R A fHd arg @ Feftad
g:lns‘,a"ﬁuaﬁ,é%,m,ﬁmah?éﬁwéaﬁﬂﬁawﬁ
[
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31.

32.

33.

34.

35.

R & fOar 3fid & URaR & Sidex & U TTI E AT AT R B HIS
1 A1 81 R BT UTS C & XA 916 30 URAR F Siaex & U
SR C 3R ) 3 AN & SRTd W URGR & Sider P U o
21 R 3R B AN AEHI | UIRGR & Sidex & U9 o4 &
AP HANTT T W 78I R F I, R BT 9T & Ildex F U
T & 3% Ugd URAR & Sidex & U 7| A, R B T8 DI
Sigex A e & 1 ufad & 3IRTd & 91¢ URaR & Slaex &b
UM TRT| R BT AT ARG AT o gRkaR & Sidex & U™
T ) 99 Ugd URER & Side’ & U T8} i1 81 D & 916
UIRER & Slaer & U 9H 91 SAfdadl & T@m M T Ugd
URaR & Siaex ¥ e ard SAfaadl &1 g@ 9 arpt ot
I8 T 1S i uRaR & STaex I e aran sifaw =&t am

(1) BT T Q)
B @) =
(5) T T 3ifdw

C, R A Py Fefdd g2

M (2) 5t
3) uelt (4) ¥TS
(5) §&

R & WS 3 Fafid wrea 9w & ol gieer & 1™ fog ot
R T A?

(1) 23 3faTR (2) 12 3fETR
(3) 23 3Td (4) 12 3T
(5) S99 A BIS T8

B, M 9 Hd Tefdrd g7

(1) YlteT (2) Yeitsh
(3) et (4) TG

(5) sl

Fafifed v & @ IR te 99 TP ¥ J9H § 3R 39 TSR
2T 70 aR % SFER T 9910 81 379 § B 39 Ig q
REIRSE S
(1) 8B
(3)R
(5) E

)M
4)D

3w (36-40) 9 & T TSR B wF ¥ U R Fiad vt &

36.

37.

Fb:-

SN

THh $Yc-3M3eye faftm wrolt & fean mar 81 g mifrd
TaTa gde =@RO1 H far S 81 SFTa =Rr H B8 Iiordy
TaTe SRRl T8l S Gobdl § e 39 fhdt 3y TR
SHTORR & WY SIGRIT S el § (O fob =ROT | B 07
IUANT fobaT ST Gbdl & ITF I SIS oIH & Iy JanT fomar
waag%ﬁﬁaﬁawzﬁm%mummm
Tepl

wa 13 O G0 G0 GEE G
G1]
Lel9]

step .
Step Il

[1]:]

Step iz

Step IV n
Sqde =Rur # Y U el & SR fau MY sy & i
AP 0T 1A e,

mput: [ s [sflefa[vfaflafe][a]s][als]

TR 3 H UTeed TReTait & b H BT IR T 82
(1) 105 (2) 126

3) 116 (4) 106

(5) ST A BIS TeT

RO 2 H U Ugd sl 3R TR0 3 H Uiid W <Alep & ol
T 3R 87
(1) 34
(3) 54

(5) TR I HI3 T8l

(2) 36
(4) 56

38.

39.

40.

41.

42.

43.

44.

5 | Page

faw T g7ge @1 sifom uRome @1 grm?
(1) 43 (2) 88
(3) 56 (4) 28

(5) 51

Ife TROT 111 & GIR Al B I TRSAT BT 7 J T[0T Bt A1t g Y
gfkormdt o gme
(1) 154
(3) 210
(5) 133

oot @ B, afe =Rom 1| B GER sl & UBd e Y =R il
T Ugd w1 & GuR b &b I b 1Y SST ST 82

(1) 67 (2) 85

(3) 93 @) 77

(5) 86

Quantitative Aptitude

AT I: A, B 3R C FHHM: Rs 1200, Rs 1500 3R Rs 1800 T
TR A% FR Th HRIER T I S|A IHIT JoI § 39
BRI A BT AT BT 16% 0T 91T 8 SR AT AH BT A, B 3R C
¥ o 3% Fa=1 & orura  faaRe fasar wirr 8|Rs 2500 F
Yy A A R U faa TS i 1 HY|

HTAT 11: A 3R B SHHTT: Rs 4000 3MR Rs 3000 BT TRMAH 43
R TP BRITR L& P 6|86 HeH 971G, C Rs 2000 & a4
F Y I ST B[UF Y §Tg, iffd fsar T et @y Rs
2520 8| B & 1 T w1 71 Y|

(2) 197
(4) 147

(1) 511 > |1 (2) T1-1 < "I
(3) HET-| < HE-1I

(4) HAT-| = HEAT-1| T HTS JraY gl

(5) -1 = |E-II

Uohet faig A 9§ g B 45 fopeit/eer & wifa § o w=ar 8)1 der
15, Wit Hi fig A 9 g B 7% & 7T gmn = el (Ui
fiig B R U ¥ 30 e ygd ugadn Rl uche ot iy
P 6 fpHl/deT ¥ B $1 ¢ I 8 Gl TP 81 IHa R g B
IR Ugdd g|Uiid Bt aRdfad T J1d B

(1) 55 fasdl/der (2) 60 fpei/der
(3) 54 fasdil/der (4) 64 fpdi/der
(5) 65 fwHt/ger

gy SR Ut & U fAyor x H 87.5% gy 8|12 dtex Ul fyam
& §TE, U BT T I IR 50% B 1l J[AfE T o= fAisyor v
T gy Bt A AYor X $ RS A6 F 39 dRE R § 6
QY SR U T MU 4:3 B, @ fgor v & ot @t A 9

Eay

(1) 24 fieR (2) 20 &fiex
(3) 15 TR (4) 8 TR
(5) 12 dtex

T UF H x diex Ay g S a6k TR1e &7 3rua

HU: 7:22 B[V Sl U ¥ 'y Hex fArgor ebrar § iR um

T U 28 diex &1 fHeyor fyemar @ S8 o ok =R @
SUT A 6:1 8] 'x' BT A J1d B3|

FYF I: U 3R RIS BT P 3:8 B ST © ofF U H
28 Tlex faor fyeman ST & R a8k RIS &1 U

HU: 6:1 8 o1 3|

HYF II: B § U BT HET 150 e 81 ol § &e U 7 28

Wex fhgror foremen omar @ oM ot 8k TR1E &7 erura

PHU: 6:1 8 o1 3|

(1) R w5y 1 § & Tl THeRT Uy &1 IR 3 & o mai

%GI;%W$W 1 &) TS IHeR SW 3 & e waiw

I

) R BT 1 F G TR TEER IR 3 P g vl g

gaﬁ?mt%aﬁmlﬁﬁwmméﬁé?mmﬁ
I

(3) T1 A Rt e | a1 Rt e 11 H & i) SRt IR 39

& forg waf

(4) T HYF | 3R 11 H f TS Tgad THGRI IR 3 & g

T TR
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45.

46.

(5) T YA | SR 11 H & T8 WY AHBRT IR & & Ay
T B

3 9¥ §1g, T% 3R 3ifdhd B 3R BT U 17:15 B S
BT SR siftbd BT oy P St BT 3R T1d Y|
EWI:3H’§W,W@T&T@WG§3;§WW7:6W|
FYT II: 5 T TG TGS BT 3 3R 7 I8 Ugd 3ifhd B oy
T ST 9:5 BHTI|
(1) Rrh By 1 7 & i TR Uy &1 SR 39 F o i
%ﬁ;ﬁ?ﬁtﬁww I 7 &) T SHeRY SR a1 & g waf|
|
) R oy 1| § § R THSHR IR | P RIT v B,
ga%ﬁt%mmﬁﬁ?nﬁamw@méﬁ%%umﬁ
|
(3) T1 at Ryt e 1 a1 R e 11 | & Tl SR IR 39
& oy i@ 3
(4) T Y | SR 11 F & TS VYR THPRT IR & & AT
e T g
%aﬁ;mmmﬁwﬁaﬁﬂéwmwéﬁ%m
I

U gHMER U ] B! Tliad & 3R fhR ua! Sl o

D1 Y el J1d |

PY I: gHHGR GRT AT far a1 ey Rs 250 § 3R a%g
1 f3ehg e 9] & 3ifebd Hed & 30% HH 3|

HYT 1I: I BT 3ifhd Teg axg & fasha T § 25% St
BGPHER ¥ B Rs 2000 F 3ifhe Frar g 3R Sifofd fwar
T Y TR 60% B

(1) R By 1 7 & R STHeR Uy BT SR 34 P fo i
%ﬁg%ﬁt%m:r 11 & S TMeRT SR 34 & faw gafm
|
) R% By (1 § & T SR SW A & o wiw §,
gaﬁﬁﬁt%$m|ﬁﬁnﬁaﬂ$rﬁwéﬁ$ﬁmmﬁ:@
|

(3) T1 at Ryt e | a1 R By 11 A & Tl B RE SR 39
& forw wafw 3|

(4) QAT BT | SR 11 H &l TS g BRI SR & b Y
i el |
g%aaﬁ%ﬁmﬂwﬁwﬁaﬁﬂémaﬂﬁ@wéﬁ$m

|

frdwr (47-48): P udiel &t B A SIS AT 1 3R FE 1, 3R A 0

47.

48.

Fb:-

3R HET 111 & §F & R &) aRuid sdr g2

mmoNw»
A v AV

(Y T 81 forar <1 gan)

AT 1: fIHT &1 ARG a9 Rs 'x' € & 31fid &1 ARiE
T Rs 'x_+ 6000' B[l e 3R 3iftd v wEA & B
Rs 8000 3R Rs 10000 W HRd ¢ a fAT=r SR 3ifid &t s=a
T U HH: 1:2 B ST 8|'x’ BT A 1 Y|

TTAT 1I: TH T BT 20% $I & & 915 Rs 'y’ & I 1l g3l
T DI HT T ¥ 50% 3% R 3ifora foban omar § 8k a%g
P14 Y Rs 10000 § Y 'y’ &1 HTH J1d BY|

qET 11: T Y B drls 3R TSls HHT: 24 m 3R 18m
B[afe waf B MM 20 cm x 30 cm dA 'z AT | TaebT
ST 8 a2 T A 1 B
(1) AE

(3) BA

(5) CC

(2) AB
(4) bC

UHET 1: T QT U &, Ul 3R g &) HH: 1:3 & 3uTd |

foremar Siar 8| # 20 ex U SR firdraT ST § SR fHrsor

BT Rs 60 Ui THex BT &R F I 91T 7| i fArsior &) Sax

gﬁhmwwmﬁuﬁqﬁuﬁ@ﬁwsow
|

AT 11: T I BT A URTHTA 30 JUHIST BT H 9

Ta T SiTe B, S ot dR W IuHie gRT T 7 aFed

49.

50.

T 10% ¥ 15% & &9 BIa1 & @HI A F)[AfE TG Rs

g%(i%omaﬂéﬂm%a‘ragﬁw:mﬁﬁﬁw&rw
I

HTAT 111: 31T & TR Rs 14000 B[T8 50% A BT Ua= B1 &l

AU gRT T Y TS R 71 Y|
(1) BF (2) AC
(3) DE (4) EF
(5) CD

% fad $3 R ST 3 Iuf & T 10% Uiy Tohdfes st
W 3% a1 813 99 a1g Gafd i &R 2 af §1g Yehd
R F St BT 3R Rs 968 AN THF T HI 5 Iuf & forg
x% T RN STt R 3w faar S 8 & x &1 7 91|
R, Afe Tl gRT e {31 T WYUR $AT Rs 3200 B

175 @7
3)8 (4) 85

(5)5

N 3R fazma e J YAH U T a1 6 S

3R 9 T¢ Wltedr B|3Mm® 3R fIxNe gHHGR B HA: Rs
2200 3R Rs 3400 3a B[gHMER HfYE BT Rs 40 3R fa=mmer
@ Rs 25 ATUY &l |3ifN® SR fa=e ¥ gaMeR R
Sfofd fara T Yy UfiRId & §t &1 SfaR 1 $s afe T S
T 3iftrd el Rs 420 B, 571 9 YT & 40% 3 3|

(1) 6% () 10%

(3) 4% () 5%

(5) 12%

frdar (51-53): AU U TSR & YR TR TaTal & IR Q|

51.

52.

53.

54.

fa=Ier 3R B0 HHTE: 1,500 F. 3R 1,800 3. BT YR <
TR TFH HRITR Y& I 8]0 I a1e, =0 3R T201 Hoe:
Rs 200 3R Rs 400 3R a9 axd Tz PRIER H fawnd v
TP I § 39 BRI ATH BT 20% P! PRISR BT Tt
PR & forg o o & SR QW a1y &l 3% " I Faw
& ofgurd ® faaRd fasar Sran Bjat av are oifefa fove T $a
TH Rs 9,000 H ¥ fI=ne & @Y &7 TR Rs [A] S[B0T 307
Y P TH WHH § dF a9 & g 3w war 8 s 10%
Ufaay Tl SIS UG FRal § AR G8 Rs [B] STl Hfold
HaT g|faea 3 gRT Ut AR F F 30% SR 25% HHA:
ARG 3R URag R @ ol g2y AR # J a8 ueb-faeTs
O AT 1 T § 3R ITb U Rs [C] S g

T TP I Bl Rs [A] H WIedl & 3R 39 a%g &I 3 §e9 ¥
30% 3 TR 3ifdhd HaT § 3R 20% Fe U™ B oadl g[5d
AT T X T AT J1d B9

(1) Rs. 200 (2) Rs. 250
(3) Rs. 300 (4) Rs. 400
(5) STHIE DI 5!

[A], [B] 3TR [C] T 31d T B3]

(1) Rs. 2596 (2) Rs. 2602
(3) Rs. 2608 (4) Rs. 2614
(5) TR I TS TRl

fa=me U W| H Rs [C] A% FaT § S 13% YR &S
UG T §|Rs 1,170 &S Hfdfd & & forg fammar 3 39

A B! fpa v & forg 3w forar grm?
(msay () 6ay
(3) 798 4) 8y
(5) 9 A BIS 751

e (54-58): Fufeied dem we aen &1 P #=d g fawd &1
T Y|
11, 14, 23, 50, 131, 376
(1) 14 (2) 23
(3) 50 4) 131
(5) 376
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=T (64-68): AT U TTHHTY & SMYR TR TaTal & IR &

55.

56.

57.

58.

17, 40, 111, 224, 385, 592

(1) 40 (2) 111
(3) 224 (4) 385
(5) 592

10, 21, 42, 83, 164, 265

(1) 21 (2) 42
(3) 83 (4) 164
(5) 265

7,9,13,22,52,175

mo (213
(3)22 (4) 52
(5) 175

3,2,-1,-9, -52, -285

Mz () -1
3)-9 (4) -52
(5) -285

=T (59-63): AU U TFHRY & SMYR TR TaTal & IR <

59.

60.

61.

62.

63.

TP gHMER diFt & o fafirsr Afd s=ar § srifd 500q, 1 kg
3R 2 kg1 foam man AferesT WHAR | YHAR dF GHHGR
méﬁwﬁéﬁﬁmm%mué’rmﬁ?%
HMER GRT S 7T 1 B Bl HBN (kg ) T S[LHAR
aﬁéﬁmsow%ﬁﬁ%ﬁwwﬁéﬁwzkg
b B TB J 92% 3 |

a4 T | &9l At 1 | a9l At 2 | 9l TR
500 W & | fremw & | fvamw | o A
e @l |Tdc @ | & Tbc o | Stamr
Lirc] Lircay T

THAR _ 18 40 _

HITAIR _ 2 _ 84

FHUAR 50 — 24 —

AR 30 35 15 —

ThAR — 30 — 98

T 184 _ 126 476

AR B 3 TS A B Ha TET TEAR BT JdT T3 AT B

o TE Y fba e siftieh/H 87

(1) 37.5% (2) 40%

(3) 42.5% (4) 45%

(5) ST A BIS el

THTAR &1 991 718 2 kg AT e @ TRa CICEIRIE]
5009 T Bdre BT TReAT | fhraT /3R 82

(1) 18 kg (2) 20 kg

(3) 23 kg (4) 26 kg

(5) STHYBIS Ta!

gﬂ@?waﬁéﬁwiﬁa%aﬂmw&ﬁwm
|

(1) 45 @) 34
(3) 5:6 ! (4) 10:11
(5) STH I DTS 5!

g gHMER UAF 5009, 1 kg, 2 kg T TdHe B HH: Rs
25, Rs 48 3R Rs 90 T 99T 8 ol §YAR &1 91 T i+t &7 ufy

kg 3 fasha O 1 &Y

(1) Rs. 46.98 (2) Rs. 47.06
(3) Rs. 47.14 (4) Rs. 47.22
(5) RIS T

AR & o T 500q, 1 kg 3R 2 kg - e B Fa G
YHAR HI 3 T 500q, 1 kg 3R 2 kg T Tdhe I Team I
B 25%, 40% 3R 50% b FRIFIR B It 7 - B

G A fobet 87
(1) 138 kg (2) 134 kg
(3) 130 kg (4) 142 kg
(5) ST IS !

Fb:- https://www.facebook.com/tesmuseduserve

64.

65.

66.

67.

68.

7 | Page

TP gPMER 6 YPR & %] (e, R, Gel, e, SR 3R
) BT SICHT SEHT TRSAT Y WRIGT B[GHIER 3T GRT TS
mmﬁaﬁaﬁmﬁwmaﬁw%ww
g%ﬁm Sd BT T B 16, 18, 12, 20, 15 3R 8
I
UEdl U8 91 ghMER gRT UHt a¥g &Y s W 3iffa o
Y & Ty B ST ST a¥g Bl o9 9 Siffd $a Ay &1
TR fIaRor g=IidT § iR ¥R U58 91¢ Ud® UHR S a¥g
1 Bl T Bl GG § T Hed b el
HMER UA® U W 27.5% BT e UGH Il § 3R TS de
B! T T U 100% e W siferd fasam mar anuadies Ue &1
fasa g Rs 580 B

sifefa ary o1 ufa=ma faazor

u Pants
u Shoes
u Shirt
Trousers
m Blazer

Jacket

I & HY Yo &1 ufa=rd faavor

® Shoes ® Pants

= Shirt

m Blazer

7.2%

Trousers
28%

Jacket
I GHMER UAH I 3R UAH b W HA: 41(2/3)%
3R 38.25% BT e UaH &l g, Al Udd C AR TAF Sldhe

& 3iftrd Teg & o1 BT 3R I Y|

(1) Rs. 400 (2) Rs. 450
(3) Rs. 500 (4) Rs. 300
(5) Rs. 350

Tt B8 g & UAS IH1S B $A Hfhd A Rs 'y’ SUH
UEH Rs 'x' BT YIAH HR TAS JHR B a¥g $T Th SHS
TG § 3R 98 Fd Rs 1438 BT GT YT BT 8|y I BY|

(1) 10:13 (2) 57
(3) 811 479
(5) 35

GPTIR IR P! YA PR $I 57 e ¥ 75% I R
3{fdrd BT GloR BT YD 3BT R UGH Il 75 F B
EIRRCIRIRER
(1) 16.33%
(3) 1225%
(5) 8.67%

TR B! UAS SHT W Al S aTel P 42,5% B, A e
HIS Aed Uia giie T e TaerT WIS o I8 10% 31w
Jc UgH Bt St orufd 5 gfie & 91g UdE IHTE W 52.5%
DI e & Y g Too W @ 9611 SFR AGA A 7 e
T Tiel ot 1 I &l TS Fel e BT Ul |

(2) 14.28%
(4) 19.23%

(1) Rs. 2540 (2) Rs. 2460
(3) Rs. 2680 (4) Rs. 2260
(5) Rs. 2350

Jd 3R U B! Ud® 3BT W fd B 18 Ay o= & s
BT SR J1d Y|
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(1) 25.8% (2) 31.8%
(3) 21.6% (4) 34.4%
(5) 38.8%

=T (69-73): foU U TR} & YR TR TaTal & IR Q|

69.

70.

71.

Fb:-

Ui faftrs 2eRt & Y8 w1 WNrscl gRT Sifrd Iad g &y
B T e Wem § AN wiie g gjfean mar s aw
faftrar et & Smaiferd 379 &4 B ad g - a1 @l )
AT 3IR X5 &M HA ard Afgensll B pot G &Il g
R T I G A 910 AfHAST &1 ol T=AT = I WX |
G & A aTd (GBS B T + Afgarstt ot T

450
400 o~
// 4235

350 370 400 \a;\\
300 315
250 7.t
200
180
100

50

0 T T )
Delhi Chandigarh Shimla Jaipur Kolkata
—+— Total number of people Number of females

TAF R & TS G¥Y 3 &l gfic Iad gF e iR ud®
TR B YD Afgell - T JHc Ia9d &M Tl 37 TRl & IR
WE & IS YU TM A, B, AB 3R 0 gM fFu 9Id 81 - few
TR UTH | 08 U A B gHc! &1 9=, 08 U B HI I
P TBAT P T 1T AR AB T YU T Tfa=rd 3 =Iei &
M 5 TY I &1 Hol SHIRA A A B

T R # aF fohT T Xad 1 ot T

= A+ B+ AB + O X SHTs B TG

Kolkata

Jaipur

Shimla

Chandigarh

Delhi

0 20 40 60 80 100 120 140 160

Percentage of units of AB blood greup ® Number of units of B blood group
= Number of units of A blood group

e & <M U U AB Iad THE F SHIFAT B T 3R
mggmmmomwaswsﬁfﬁmm U
A B
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Direction (161-165): In the question below, a sentence is
given which has a blank, meaning something has
been omitted. From the options below, choose the
correct combination of idioms that can fit in the blank
to make the sentence grammatically and meaningfully
correct.

161. The money you earn through gambling is
(1) easy come, easy go  (2) eye candy
(3) lion’s share (4) lock and load
(5) loose cannon

162. She had had a number of heated arguments with her
friends, but once she got married, everything was
for her.
(1) fit as a fiddle
(3) right on the button
(5) white as a sheet

(2) right as rain
(4) weak at the knees

163. If you , then you cannot expect that your
health will remain good.
(1) work like a beaver (2) work like a horse
(3) work your fingers to the bone
(4) burn the midnight oil  (5) All of the above

164. Ever since two of our team members resigned, we
have been to complete our deadlines due
to the increase in workload.

(1) under the influence (2) under one’s thumb
(3) under the weather (4) under the gun
(5) All of the above

165. 20th July was the last date for the submission of the
report; he submitted his report just
(1) under his nose (2) under the table
(3) under the wire (4) under a cloud
(5) All of the above

Direction (166-168): In the question below, a sentence is
given, four words have been highlighted in bold. Find
out if the words are appropriate (grammatically and
contextually). Only one word will be inappropriate,
mark that as your answer. If all are appropriate, mark
"all are correct".

166. Science competitions often have to find a balance
between celebrating individual accomplishments and
acknowledging that science random happens alone.
(1) balance (2) accomplishments

(3) acknowledging (4) random
(5) All are correct
167. | went to the Thai-Cambodian border in 1991 to

investigate the nearly incurable malaria that was
epidemic there at the time.

(1) border (2) investigate

(3) incurable (4) epidemic
(5) All are correct
168. I've spent much of my career developing the newly
FDA-approved drug tafenoquine, because | saw it
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had the potential to enable elimination of all types of
cholera.

(1) developing
(3) enable

(5) All are correct

(2) potential
(4) elimination

Directions (169-173): In the following passage, there are

169.

170.

171.

172.

173.

seven blanks which are alphabetized and five words/
phrases are given against it, only one of which fits the
blank appropriately. From the options, choose the
most appropriate filler.

January is traditionally a time for assessing the
developments of the previous year, in order to
__(169)__ what the new one has in store.
Unfortunately, even though we may be at a turning
point for the better politically, the data that have
emerged in the last month do not painta ___ (170)____
picture of the global economy’s short-term prospects.
The __ (171)__ was set early in the month by the
World Bank’s Global Economic Prospects. The report
paints a picture as __ (172)___ as its subtitle —
“Darkening Skies”.

Moreover, last week, the European Central Bank
sounded the _ (173) over the Eurozone
economy.

(1) exacerbate
(3) annihilate
(5) None of the above

(2) anticipate
(4) admonish

(1) promising
(3) rosy
(5) None of the above

(2) bright
(4) All (1), (2) and (3)

(1) tendency (2) tone

(3) crux (4) crust

(5) None of the above

(1) bleak (2) great

(3) unique (4) exceptional
(5) None of the above

(1) siren (2) alarm

(3) chimney (4) trumpet

(5) None of the above.

Directions (174-178): A set of six statements is given, out of

Fb:-

which the last statement is fixed, and the rest are
jumbled in any random order. Rearrange the
remaining statements in the right order and answer
the questions.

A. The workshop was held at ICTS-TIFR, Bengaluru.
B. A three-week long programme entitled,
‘Cosmology — The next decade’, which consisted of a
workshop for active researchers in the field of
cosmology came to a close on January 25.

C. In the workshop, project CMB-Bharat, which could
help us listen to the faintest murmurs of the early
universe, was discussed.

D. The project proposes ‘near-ultimate’ survey
polarisation that would exhaust the primordial
information in this ‘gold-mine’ for cosmology.

E. CMB expands into Cosmic Microwave
Background, and the scientific space project CMB-
Bharat has been presented as a proposal to ISRO
and is being considered by it.

F. This was one highlight of the workshop that
also saw discussions on the X-ray telescope
ROSITA which is to be launched in June 2019.

174.

175.

176.

177.

178.

Which of the following will be the FIRST statement
after rearrangement?

1A (2)B
;) cC (4) D
(B)E

Which of the following will be the SECOND statement
after rearrangement?

1) A ) B
d)C (4)D
(5) E

Which of the following will be the THIRD statement
after rearrangement?

(1) A (2B

d)C (4)D

(5) E

Which of the following statements will follow C after
rearrangement?

OHE (2D

) C (4) B

(5) A

Which of the following statements will precede F after
rearrangement?

1A (2B

) C (4)D

(5) E

Directions (179-184): Read the following passage carefully

13 | Page

and answer the questions.

Over the course-of this year and next, the biggest
economic risks will emerge in those areas where
investors think recent patterns are unlikely to change.
They will'include a growth recession in China, a rise

in global long-term real interest rates, and a
crescendo of populist economic policies that
undermine  the credibility of central bank

independence, resulting in higher interest rates on
“safe” advanced-country government bonds.

A significant Chinese slowdown may already be
unfolding. Sino-US trade war has shaken confidence,
but this is only a downward shove to an economy that
was already slowing as it makes the transition from
export- and investment-led growth to more
sustainable domestic consumption-led growth. How
much the Chinese economy will slow is an open
ended question. But, given the inherent contradiction
between an ever-more centralized Party-led political
system and the need for a more decentralized
consumer-led economic system, long-term growth
could fall quite dramatically.

Unfortunately, the option of avoiding the transition to
consumer-led growth and continuing to promote
exports and real-estate investment is not very
attractive, either. China is already a dominant global
exporter, and there is neither market space nor
political tolerance to allow it to maintain its previous
pace of export expansion. Bolstering growth through
investment, particularly in residential real estate,
which accounts for the lion’s share of Chinese
construction output— is also ever more challenging.
Any significant growth recession in China would hit
the rest of Asia hard, along with commodity-exporting
developing and emerging economies. Nor would
Europe — and especially Germany — be spared.
Although the US is less dependent on China, the
trauma to financial markets and politically sensitive
exports would make a Chinese slowdown much more
painful than US leaders seem to realize.
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Directions (185-190): Read the following passage carefully

179.

180.

181.

182.

183.

184.

Fb:-

A less likely but even more traumatic outside risk
would materialize if, after many years of trend decline,
global long-term real interest rates reversed course
and rose significantly. There would be a significant
over-tightening by the US Federal Reserve in 2019.
This would be problematic, but it would mainly affect
short-term real interest rates, and in principle could be
reversed in time. The far more serious risk is a shock
to very long-term real interest rates, which are lower
than at any point during the modern era.

Which of the following statements can be inferred
from the passage?

1. Populist policies have an adverse impact on central
banks.

2. A growth recession in China is imminent unless
something is done to prevent it.

3. The government bonds issued by advanced
economies are generally considered safe.

(1) Only 1 (2) Only 2

(3) Only 2 and 3 (4) Only 1 and 2
(B)All1,2and 3

As per the passage, which of the following statements
is TRUE?

1. Decentralized consumer-led economic system is a
prerequisite for long term growth.

2. The trade war between US and China was caused
because of the centralized Party- led political system
of China.

3. Trade war between US and China is not the only
factor that has caused the slowdown of Chinese

economy.
(1) Only 1 (2) Only 2
(3) Only 3 (4) Only 1 and 2

(5) All1, 2 and 3

What is the tone of the third paragraph of the

passage?
(1) Elated (2) Cautionary
(3) Optimistic (4) Laudatory
(5) Biased

What is the purpose of the author of the passage?

(1) to highlight the impact of populist policies on the
global economy.

(2) to highlight the risks to the global economy in the
coming years.

(3) to highlight the consequences of the trade war
between US and China.

(4) to highlight the risks of globalization.

(5) None of the above

Refer to the sentence: How much the Chinese
economy will slow is an open ended question.

Which of the following is an example of an open
ended question?

(1) Should Schools Cancel Summer Vacation

(2) Should Farm Animals Have More Legal
Protections

(3) How Necessary is a College Education

(4) How Should Nations and Individuals Address
Climate Change

(5) All of the above.

What is the meaning of the idiom ‘the lion’s share’?
(1) as strong as a lion.

(2) a lesser known fact

(3) the lesser of the two evils.

(4) the largest part of something.

(5) None of the above.

185.
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and answer the questions.

European colonization of the Americas resulted in the
killing of so many native people that it transformed the
environment and caused the Earth’s climate to cool
down, new research has found. Settlers killed off
huge numbers of people in conflicts and also by
spreading disease, which reduced the indigenous
population by 90% in the century following
Christopher Columbus’s initial journey to the
Americas and Caribbean in 1492. This “large-scale
depopulation” resulted in vast tracts of agricultural
land being left untended, researchers say, allowing
the land to become overgrown with trees and other
new vegetation. The regrowth soaked up enough
carbon dioxide from the atmosphere to actually cool
the planet, with the average temperature dropping by
0.15C in the late 1500s and early 1600s, the study by
scientists at University College London found.

“The great dying of the indigenous peoples of the
Americas resulted in a human-driven global impact on
the Earth system in the two centuries prior to the
Industrial Revolution,” wrote the UCL team of
Alexander Koch, Chris Brierley, Mark Maslin and
Simon Lewis. The drop in temperature during this
period is known as the “Little Ice Age”, a time when
the River Thames in London would regularly freeze
over, snowstorms were common in Portugal and
disrupted agriculture caused famines in several
European countries.

The UCL researchers found that the European
colonization of the Americas indirectly contributed to
this colder period by causing the deaths of about 56
million people. by 1600. The study attributes the
deaths to factors including introduced disease, such
as smallpox and measles, as well as warfare and
societal collapse. Researchers then calculated how
much land indigenous people required and then
subsequently fell into disuse, finding that around 55m
hectares, an area roughly equivalent to France,
became vacant and was reclaimed by carbon dioxide-
absorbing vegetation. The study sketches out a past
where humans were influencing the climate long
before the industrial revolution, where the use of fossil
fuels for the manufacturing of goods, generation of
electricity and transportation has allowed tens of
billions of tons of carbon dioxide to be released into
the atmosphere.

Widespread deforestation for agriculture and urban
development has also spurred the release of
greenhouse gases, causing the planet to warm by
around 1C over the past century. Scientists have
warned that the world has little over a decade to
drastically reduce emissions or face increasingly
severe storms, drought, heatwaves, coastal flooding
and food insecurity. The revegetation of the Americas
after European arrival aided declines of global carbon
content in the air, dropping by around seven to 10
parts of carbon dioxide for every million molecules of
air in the atmosphere. This compares to the 3ppm of
carbon dioxide that humanity is currently adding to
the atmosphere every year through the burning of
fossil fuels.

As per the passage, which of the following is/are the
events that occurred during “Little Ice Age™?

1. Freezing of river Thames.

2. Snowstorms in Spain.

3. Famines in some European countries.

(1)1and 2 (2) Only 1
(3)2and 3 (4) Only 2
(5)1and 3
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186. As per the passage, in which year did Christopher
Columbus first set sail for the Caribbean?
(1) 1490 (2) 1491
(3) 1492 (4) 1249
(5) 1494

187. Which of the following statements can be inferred
from the passage?
1. The climate of the earth is affected by human
activities.
2. The indigenous population in Americas reduced by
over 50% by the 16™ century.
3. Reducing the human population is beneficial for the
planet.
(1 1land 2 (2) Only 1
(3)2and 3 (4) Only 2
(5)1and 3

188. Which of the following can be used to describe the
tone of the passage?
(1) Admiring (2) Descriptive
(3) Sarcastic (4) Condescending
(5) Humorous

189. As per the passage, which of the following statements
is/are correct?
1. European colonization of the Americas caused the
deaths of about 56 million people by 1600.
2. Earth has warmed by around 1C over the past 100
years.
3. Currently, humanity is adding 10ppm carbon
dioxide to the atmosphere every year through the
burning of fossil fuels.
(1) Only 1 (2)1and 2
(3) Only 2 (4)2and 3
(5) Only 3

190. Which of the following words has a meaning similar to

“‘indigenous” used in the passage?

(1) Migrant (2) Ingenuous
(3) Native (4) Foreign
(5) Authentic

Direction (191-195): In the following question, a sentence is
given, divided into five parts. Part (5) is grammatically
correct. Out of the other four parts, one part contains
an error. Mark the option containing the part with an
error. If none of the parts have errors, mark 'No
errors' as your answer. If all the parts have errors,
mark 'All have errors'.

191. The Accord sought to calm a (A)/ movement against

illegal migration (B)/ that had erupted in bloodshed

and (C)/ conformation taking thousands of (D)/ lives

between 1979 and 1985 (E).

@c (2D

R E (4) No error

(5) All have errors

192. This rather lacklustre responses to major ‘futuristic’

(A)/ challenges towards our national security raises a

larger (B)/ question: is India adequate prepared for

(C)/ the new age wars in general or is he still (D)/

preparation for the last war it fought, and won? (E)

@A 2D

R E (4) No error

(5) All have errors

193. The arrangement is meant to guarantee continuation

(A)/ of the soft border between Northern Ireland (B)/

and the Republic of Ireland, even if (C)/ London and

Brussels failed to strike (D)/ a concrete relationship

after Brexit (E)

Fb:-

194.

195.

Direction (196-200): Match the statements from column 1 with
column 2 and find which of the following pair of
statements given in the options make contextually

196.

197.

198.
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TEST

1A
(3)D
(5) No errors

He moves on to his next (A)/ role, but can a role be
(B)/ performed without convincing yourself (C)/ about
the goodness of the character (D) you are essaying

on screen? (E)
@A

) E

(5) No errors

The investigating agency has a long way to (A)/ gone
before it establishes whether the loans (B)/ were
given in return for financial favours, (C)/ a charge that
is at the heart of booking them (D)/ for criminal

ID - RPM - 87400621

(2)C
(4) All have errors

(2)B
(4) All have errors

conspiracy, cheating and corruption (E).

1B
(3 E
(5) No errors

@cC
(4) All have errors

and grammatically correct sense.

Column 1

Column 2

A. Education is the
most powerful weapon

D. countries relied
heavily on foreign
aid.

B. Another component
of the East Asian
economies’ strategies
for developing human
capital

E. which you can
use to change the
world.

C. In the earlier stages
of human-capital
investment in East

F. was a gradual
shift in focus from
quantity to quality.

Asia,
(1) Aand E (2)Band D
(3)Aand D (4)Cand F
(5) Cand E

Column 1 Column 2

A. Many developing
countries today boast
rapidly growing young

D. realistic outcomes will
be virtually impossible to
deliver.

B. Without deliberate
and practical human-
capital strategies,

E. populations that could
be a boon for economic
growth and dynamism.

C. Given the effect of
human capital on
national productive and
development

F. developing countries
should be placing a high
priority on boosting
human capital.

capacities,
(1)Aand D (2)Band E
(3)Band F (4)Aand F
(5) Cand F

Column 1 Column 2

A. Even if China maintains
its market-oriented reform
momentum,

D. China’s strategy for
economic growth has been
a work in progress

B. While steps can be
taken to reduce these
tensions,

E. about which there is still
significant domestic
disagreement.

C. A defining feature of

F. has been the state’s

China’s four decades of | evolving role in the
reform economy.
1)AandF (2)Band D
(3)AandD (4 Aand F
(5) Cand F
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199. =1 (206-210): 2 a1 T UAF rRT IR T H ST TR (a), (b),
Column 1 Column 2 (€) 3R (d) P faU 7T € 3u! Ig T & fob a1 &
A. It is worth noting that | D. is hampering outward gﬁﬁ?ﬁ?ﬁﬁﬁ%ﬁ%ﬁ@ﬁ%&%ﬁmﬂg
China never adopted investment by Chinese £ 2, I U BT HHE & IR 2| R I R 2
multinationals. e (e') ARl
B. The lack of clarity | E. dynamic and relatively
about the state's role in | free private sector.
orivate firms 206. aﬂwﬂ% a(:r)aﬁtsﬂ (@)/SIR-SIR | (b)/ RIS (c)/ T6T U1 (d)/ DTS
C. The relative roles of | F. China has had a kind 1a @b
the state and the market | of multi-stakeholder (
: N 3)d 4)c
in China's model all along. ) e
(1)AandE (2) Band D
(3)AandD (4)Aand F 207. 39 T9 &I (a)/ITT (b)/ W A HHTART (c)/ A T (d)/
(5)CandE B I T8 (e)
200. Ma )b
Column 1 Column 2 (3)d @) c
A. We should not rule | D. could include approaching () e
out the possibility of the Trans-Pacific Partnership’s !
member states for accession 208. & (a)/39 93F B (b)/ THER (c)/ eI &t (d)/ PIs ZeT ot (e)
B. China could make a | E. China pitching tariff reforms Ma @b
dramatic commitment | to the wider international 3)d (4)c
to zero tariffs community. (B)e
C. China is likely to | F. more sober minds in
consolidate yand China’s  foreign palicy 209. TAR SV BT (a)/ AP (b)/ PR A SAGAR] (c)/ T §
expand its role within | establishment (d)/ﬁgﬁﬂ?ﬁﬁ (e)
the (Ma (2) b
(L)Aand E (2)BandD 3d 4 c
(3)Aand D (4) Aand F (B)e
(5) C and E .
HINDI 210. THR W (a)/ M (b)/ A TBRI (c)/ TS & M (d)/ Bs
I eI (e)
f¥&=1 (201-205): FAufafEd o & I IR waAlf wss 81 o/ i & (1) a @b
T it e foT T &, 9%t ST IR B 3)d @) c
(5) e
201. (a) THT (b) GgU
(o) g (d) 3T 3= (211-215): T2 F& TN 1 g U T 7 3R I9F 91 IR
(e) & e AT T § Sl Ub §1 Weq H 3 a1l T Weg-THg b1 31
(1) a b WY YT FHIAl § | 3D T8 UdT T ¢ o 98 g HH 1 g
B)c 4)d Y TeITRT AT Ve, TG BT Tt 31 Uebe HRal g1 39 fAdbeq
(5)e BT HHID B HUHT I 5| Al B g 31 g Uhe I §
IR (5) 3rufd - 3717 A IS et <o
202. (a) STRIT (b) ST
() |t ORE 211, e yva A i Bl GHa T 8-
() Afd (1) 3raferd () iyt
Ma (b (3) 3OS (4) 3fe@
B)c ) d (5) STH A BIS TeT
(5)e
212. oA Tsd & 4 & e 8-
203.  (a) FRM (b) 7% (1) st (2) Tareht
(c) YU (d) T (3) TR (4) TT
OIS (5) TH A BIS el
Ma @b
B)c @e 213. UG & 3faR BT HIT (SHH @) -
5)d (1) 3 R (2) T B
(3) HAUT Yo+ (4) OOl R
204.  (a)UIGU (b) TS (5) ST A HIS T
(€ T (d) Wl
(e) TER 214. T8 HIS S 3T AT ¥ IO g3l &-
(1a @b (1) FBIR (2) 3T=9
3)d 4 c BT (4) 3R
5)e (5) TTH A BIE el
205. (a) @ (b) BB 215. 98 N FOrHepT Sf=sT BT Hid Bl-
(c) 3Med (d) Uit (1) 3R (2) ISR
(e) 3if8 3) PR (4) IR
(Ma @b (5) 79 A FIS TRl
3)d 4)c
(5)e =T (216-220): =19 foT ¢ U@® uy T U fiad e g g 3R SuH
Ui Xeg AT U § | 370 | Pis U I Rad R W W &
Y 98 a1 U 31l a1 & oIl 81 el Ued J1d BR 3D
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216.

DD B IR P ¥ 7 3Hfbd PN, ow 7u weaf T F
Jugad &1 99 HRAT 8|

(5) SR SIell

fdar (226-230): 1 (A), (B), (C), (D) (B) 3R (F) ¥ ©: By Ru MU &l

wﬁ@%aﬁ%ﬁ%’rﬂm%ﬁmaﬁ‘{%@maﬁ
(3) T@an (4) T
(5) 3T I B3 TRl

T T8l HYl B TH IRE AT HRY o5 ITY T 3refgof
iase o9 o | AR 39 916 ol T8 Uil &1 ST g |

(A) T HTB! AT B FS FHYT AR & BT e fea

(B) ¥=d1 - 3IRT ¥ $S HaTl

(C) PTH aTd 7 3folla Ul b Hep! 3R TSTSTAT 3 ST,
TRT H1aT 3T YHB

217. 9 faft &1 T TEY €, 98 I ol §, S 39 ufd (D) TSR TATS A T BIcT Tt gt o, 1l Jgv, 398 91 3R
BAR......... I 3B B e HUS|
(1) 3BT (2) FET (E) ®IF WR IT B! i T I TR 3R TS TS I
(3) Sa (4) M1 sl
(5) T A IS el (F) 397 Tegy foar b freit 3 avat | 3% Bl b fa|
218.  3HTEH & forg g9 fha &t ... H A B, 3 & gEg oy o 226.  QASIRI & §1C UGl I DI T GRI?
SR T8 HI ol Ul &, ST Ul I g e} et MA @F
(1) TeTg (2) 3T (3)D @) cC
(3) faam (4) a1 (5)E
(5) ST A FIS T
227. AR F S dIRT IR B A1 EIe
219. sURfEiHeR® ... 3g Wi U8 € e o weT S @ fob Mmc (2)B
JPT FAU 3HUfd I T 31 I 7T TRl (3)F (4)D
(1)% (2) O (5)A
(3) (4) Ydo
(5) 379 A PIS el 228. QAR & SIG R ATa B AT g2
(1D (2) B
220. ORI B o A B (3)C @F
(1) HHUTAT (2) Tred! (5)A
(3) IRar (4) 3rpHuTar
(5) 3TH Y PIs T8 229. QR & S UEdT aTad S 1 g
MA (2) D
&= (221-225): 17w 7T uf=dle & o fiad = Bis fow T € aur (3)B @F
I Uy e & g T g1 A e uRwe & A9 gfgd §, (5)C
3R UAP & I (a), (b). (<), (d)GﬁT(e)ﬁHWﬁ'Q‘TQ%I
U H § P13 U 39 Rad M Bl R IRwe & goH & 230.  UASHIRITF SIG T AT DI BT
UG & Y T R T 8| U] 3 fdhed T J1d AT S, (1D @F
3R IGHT HHID & IR b TY § 1 31 SUH! oy 7Y B3)C @A
fosredl o ¥ qaY S0 HT TG99 AT 8 | (5) B
Td IR U1 gofl fob ToRId ¢ | 9871 (221) 3(bIat Ul 37 = (231-240): 9 iU U WM # w@HgdS ufer SR IW W
Tt o # YRMA o8 YR $fd Td U1 I e 39 dhTa 3 Uit & IR Il

221.

222.

223.

224.

225.

Fb:-

o IR IS HIST B & (222) &, I8 fagHl &7 3MeR BT &
3R o i a1 81 B BT T B g8 919 U< 38 3R AT
Tl-TY e YIS & (223) B o & fore Fed a2 |

F A A o 7 yget TP R, I = § 3R IR it
3R SITEt STHaRT T B &1 gl Tl fhR oft & St g wefl-
EY (224) PP W Y Mo 7d, 3R 3 F 4RT TR F 31
Ugd | Bfd 7 TR & TM6x T AR | (225) 3R 30 & &
- 31 H o & U I §, I8 $O U7 &M af @H-UH &1
A ST | 79 db qH 981 gear arl”

g HEBR Hid ASRaR B AR 9 37|
ONRIES (2) 3ty
(3) v (4) TP

(5) a

(1) gardt (2) RO

3) TR (4) <18

(5) TRUT

(1) 9re (2) @R
3) ’ERTSI'R (4) q&

(5) i@

R @ fiae

(3) IsRT (4) g

(5) IEY

(1) ORT BTl (2) R S1at
(3) TRITE STel (4) ST STl
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¥ q YR aife & Hag ¥ § oFe gax YA
IUAGU BH @A 8, g 39T SEUS WRERT &1 AU
HETHRA ¥ 81l | $TPT 7o SRUI HaTAd I8 § [ HETHR
FIA I Jd o6l WRA TS H offd waferardl e ot
el e usdt B, 98T HeWRdg TN # 80 Ww<
YU-HTAT HT SHIeH 3R fadm 3@ g1 AgTyRd # afvfa
RtF R YTy P U g H wom & & & ifa, o, guf
g oiep-Trafel &1 R sgd oo Rifa & mar i
RO &) 0 3R faaTe- e RIfod 819 @l 41 9 3R faarg
& &7 H md-oFrd &1 g +ft I g1 T U1l sfee i oRR-
F-1 fefsrar ¥, A AnT-d= REAiTer ¥, HOM Hef-H=ar
et § faarg FR o 81 vor-wauHt @ gfd & foe e
Tafersft 1 Iodad ARG B TAT SUGRU G ARADBT F
Wed! ¥ gg U srgfad =T8T AT SI1dT ATl H1 §RT = faqult
BT YT 39 GRT GHS BT 300l a1 H-fEwn, vegy-
THT, SHReG-3WT, T & TR & IRAaRE®! ° g 3t
HI gHIT FHRar gl T fRUfy # afg meruRa ¥ § wwa
VORI 1 IG-Hifecd BT Jdad M1 Y, ol 98 Srfad =
BN HeTHRA & TIfay urifies Iureat & wafferes mgeaguf
TA-gHI=N IURSM ¢ o W< U9 a1 A9 &t J Tt
yqfal SUds gt €, S WRadl JHReH®G U o ot
IR YAferd @ 8, JUT-TRS-AMIST 9 el uRad I g
09 B ITURY, €9 GRT G BT SMEH-YeH, THH-b!
FAAH | 3w Frrel i Iurfd, TRIUfda=T -1t
@ e w@ g, 3% HETHR Al YRS Bl
MRy B, A Td-gHON SURFSHT Tdifte ebte
Ffag el
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231.  IUYad 3fadRur o Hafifeies Iugad e 3-

(1) FE TUT FETHR (2) SR TRERT 3R T b RlESMUS

(3) UURT 3R (4) U9 U3l B AR )/

O C URRN'I‘OAII*VF’!\]%IEOYOSTFR
232, UUY 3R URUT-grer & vy § HRIHRA & s U 39 3R . _ r

ot B o o et RAILWAY COACHINGS

(2) U9 ¥ fER RIEEER) D o \  —

(3) 37 i RS 3 8 3 oo o1 v e €1 T e & AT PRATIBHA D‘ )

(4) TIOT-TaY]] BT it T e ot DREONAS

(5) TTH A SIS Tl Monthly Current

Affairs Booster

233. AR IR BT URAGH JAeH I SUTH &- ol

(1) IufmE # (2) Fac | 3

(3)gqﬁ®ﬁ§q-5‘f (4) VARSI G by ; E’;‘,‘,‘fﬂs,""

(5) HeTHRd

MONTHLY CURRENT

234, HEIYRA $Id ¥ gd YR TEN & 59 eI Bt ugEan ATTAINS BOOSTER

e useh &2 :

mﬁ ) 9=

(3) —E[?ﬂ:[ (4)3 E EE ONELINERS BRANDING PROMOTIONS

(S)Eﬁﬁaﬂé:‘a‘ l \\\\\.H'\I]H!\,('HI]] SUBSCHIBE Nuw
235, Gagy-UMIGdT TRIT 3IR SfRe - URAT & WHT 8- PN

(1) I B3 I Wi N @ EESMUS

LA G LGS = MONTHLY

(3) W fery

(4) ST il 3MpYe UARSAT 8 | CURRENT AFFAIRS BOOSTER

() T
236. fadw: Fufafad § @ S5-I eg/areiy weriw § /e far) -

7 R 7Y <rea/araRie ot T 87

(1) TRTEg (2) FAfdeR

(3) Sifafda (4) SifauTora ‘ m

(5) 3 é o, G\
257, P PR ¥ i et e 2 s s

Tec/qTaRATRT BT AT 82 ?

'L p) Trq MONTHLY CURRENT

(1) IRER (2) afnf APVAIRS BOGSTRR "AFFAIRS BOOSYER

(3) yurd 4) 9| e

(5) STH A IS T
238. mquﬁm% ONELINERS | BRANDING | PROMOTIONS SUBSCRIBE NOW

(1)3@%@ (2) 3ryddg d www.tesmus.com

(3) FETHRA § (4) IHTIOT

(5) Faa q =S MUS
G el Sl U S : MONTHLY

(1 - (2) - y AT Yo % ST

@) TR B DL () PI-oTad 5 e @ CURRENT AFFAIRS BOOSTER

o e ad
240. Iy [ como e i

s @ ke ol @ e

(5) 7 9 I T : &g

ONELINERS | BRANDING | PROMOTIONS SUBSCHIBE Nuw

www.tesmus.com

Fb:- https://www.facebook.com/tesmuseduserve 18 | Page Web :- hitps://tesmus.com



https://www.facebook.com/tesmuseduserve
https://tesmus.com/

RRB PO MAINS_2024 TEST ID - RPM - 87400621

Ans. (1-5)

Ans.1(1)
Ans.2(3)
Ans.3(5)
Ans.4(4)
Ans.5(2)
Ans.6(5)

Ans.7(3)

Ans.8(3)

Ans.9(2)

Ans.10(4)

Ans.(11-15):

Ans.11(2)
Ans.12(2)
Ans.13(1)
Ans.14(1)
Ans.15(3)

Fb:-

ﬁ@ﬁﬁm‘%{wwﬁ@r "IR-TARE =M Y =fE A
ey gAMST 7% | Tfr
B e | 2030 31
7 2T | 2032 61
3 T | 2026 53
5 ST | 2028 37
4 s | 2021 a1
3 o | 2029 59
2 AT | 2022 47
1 e | 2024 43

| 3R 1l a1 Bt § S a1g UgWuT & BH H4, SR
SR 31T BriaTe g1 AT

3P B ) HUT UY BT IR 2 P forw yafeg Te1 21
| 3R 11 & GG W, G, F P a0 F 2 3% d5d1 81 3
IR G IR CF AT I3AT

K, C P o q R ™M R 93d1 21 F, H & I 3R 937
1B K a8 9 4 df dod1 g 3R MBI 5 AR H &
araéw%ﬁémﬂsﬁﬁmawxrw:@r%

| 3R 11l & FONH W, G, F P S ¥ 2 3 9ol 2 3
gﬂ% GIRCHIFITHAIBAZIK CHITT T3 T 93d
|

D UfdT & 3ifdH ST SR W IGAT 21 E H & B & 3IP
%@g%@cmu@@ﬁﬁ%ﬁ%ﬂémmﬂﬁ

7Y Fofofed aawr fiad g,
[D[BJFJAJG|KI|H[E [C|
WY ¥Y Y, Hdd U AR B & 1S 3R el gl
v ¥ 9fg, ok sgd wrer s8R ¥ il &Y
eﬁfﬁ%ﬂ@?ﬁ% Wﬁﬂmﬁﬁﬁ@ﬁ%wél
(© TR IW I
ﬁwzﬁa}%wwwmuﬁﬁfﬁam%
afes fadwed 1 feeeh At &1 uraw &1 gifar g1
(A) TG g i SHRal &) Aeba & frw At &1
T HRUTE I (R) T § Fifeh &R Arar-foar sre st
DI WG S Y | @1 A g1 AP R) (A) F @
TH TG WHHROT Tt 31 SHD qol, I§ U aIhl g
3Yfery, fahed (b) TE IR 2
sy 11 o fawr W Aedd &t IufRUfT & T
(SFTA:) TSR Bt GATA & YUTG BT T T g
fEQTrQ$%HﬁW¥ITEf&IW:@WW%ﬁT
ggferg ga ey Tt R Tbd € 6 PS5 g
qa o 3t Ag@yul § a1 T8 59 TR w11 &1
STIRT A} HRaAT B |
YT H e snawadmarstt & o & srawadsarstt &t
ATl 3| o i $o ot et s T g fF | a
Faa e e & fou vuid smawaeay § amt
fofa a9 & fere sipat fasr R § 1

B
3 e By A R BT AAAT HR B 7
H, G % I A dRR WH W 337181
E3R CcH Aasi gl 10 Hiex gl
F, A% Ruid Sa131
E 3R A S diF <l Afa 98 B

Ans.16(2)

Ans.17(4)

Ans.18(2)

Ans.(19-21):

Ans.19(1)
Ans.20(1)
Ans.21(4)
Ans.22(2)

Ans.23(3)

1 | Page

g?éaﬁmlﬁ,mw&wﬁéwﬁw
[

3APA YT 11 , € A D 3 WR o, o
a9 3iftip 3i U fHUl B, C F 31 TR daT1 gl H
YHY Y HH 5 BE 1 1S WR fFA11 G, H A FH TR
PRAT R E, F Y HH TR T8 ST 2. E 3 Jdi= 3fp U
T e, AR 39 BEf & S9d WR & AR
ARy fpar S g,

B>E/C >C/E>D>F>H>G

(3=IdH) (YAdH)

e C GURT I 3 U -Tgl Rl 8, W2 SR A C Y
3ffIP 37 U fpu B

3T, Uy BT IR 31 & o Had U 1| & afd g1
HYT T A UBR b HIR BT I T § 3R 7 8 T8
TaTS 3MMER BT TR Hd1 &1 Tgi Gl SR & Serary
QAN T 3ER § 3R 8 Tobdl &1 T8 BRI gl &t 718
2 3R 39 3MER 1 it @ik die & IR # e ey
e NN 39 YR 1S i e Srgur 76t seell 21
fAend | el 1 § Fiifer g Tad HYH B SRR Bl
21 YT H Pl T § P Shad & T 3 AFD Bl
10 @A & T Gare &) raaedr 81 I8 far S
? T O I1e= 7 g1 Sen aife g9 ey R 9%
% yfowr & 67 &1 Ue 331 AFG 99N G gRed
BN 9 TR FIps Il 38R0 xell 31

Santosh
(Mathematics)

Sreedhar
(General | Science)

Sudheer
(Solar Power)

Sukanya

Swathi Young Scientist)

(Kuran)

Suresh
Sindhu (Hindi)
(English)

Swetha
(The Fairy)

3Fpd Fig 1 HUT UY BT I 1 & fog vafe gt g1
YT | 3R HYF || S T R, Dls IId HIRIT Tal
L TS B
YT | 3R HYF Il B TAIH P 91, Bl Iied TaRIT
Tyq et g
YT Il 3R HYF 11l S TGOS R, R Th A AT drell
AT WIWAT IV, RSP 3lp A WA gl VAR s &
S Pad U cufdd IgdT g, S e} Jfvrd R e g
21T, 5P 3l SW Il g, Sl Fed SR} Hiord W 7
WA U, T4 AN TR WA I P, U SR ITAT®,
APT QAT Q R W & §F &1 A &1 3 AT &
Zgfore g g Iva &

afoa | sfer

2l | w A o) o| N @
cl <| O » - v O

w

WY ¥ Y, 4 AfGI W IR T i 8d g
mgﬁmuaﬁﬁﬁﬁum@awmwéﬁ%fm
|

famed 1 HRATS BT TH Iugad BN 6] ¢ TaY Uga,
THION el I8 Q11 B T@ © (b gR foT fobell <Aefratl &
W Y 2, I8 T T 8 Gl ¢l g, ot @ dfed
FA ¥ U, Tic Wie & HRON &1 Idl T & T Th
Ifd S B AMIRAHAT ¢ | T§ UG § [ uTasdra &
FHRU R Wit T §1| [IPed 2 HRAR BT U6 ST
eI H g ATHT B garae G S aifge arfe d
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Ans.24(5)

Ans.25(2)

Ans.(26—30):

Ans.26(2)
Ans.27(5)
Ans.28(5)
Ans.29(1)
Ans.30(5)

Ans.(31-35):

Fb:-

AT Sha R & &1 b1 3P (], b IvA
3ot srrofifaest @l &t 8, 3HfeT d 3fuA B Bl gHM H
[&H el 81| ST, T SYR W, 3 BN bl A
far ST =1feu| fawed 3 HRaR &1 U6 Iugad &
et 81 Ant 78 TEt Fear 7 & N 3 s vaw @l
4 78 IYa g & Il A HE waa T8 IS (g9
I d1 3T PR B | 39 UHR, (o) TE IW B
$YT | 9, 'day’ Te& DI 'raj’ Ul 'live’ b TU H difed fosar
ST B, SR Fad Hu | & 0% &1 I o1 & e
e T8 8

gl db b Had HU I Y,

‘day’ X BT DIS BRI DI HH! & HRUN Tg! ST Sl
ghar gl

FU | 3R FY Il F TIH W, UG festival' F T
ﬁ_s"not'%\?ﬁ?”after'%%lﬂ%ﬁ?ﬁg'but'%
A Teg 'day' & T HYS 1 716l fobar o Iavan g
T8 U9 TaT ¢ % a1 fIanet ofa e fohdbe W @M
Dfad B & T THE-GHG ¢ 20 N & fow e
W@%l%ﬂﬂﬁ%%%@%%@%&ﬁ
& 20 frde Famr i T %IW‘%‘Q1W
&WWWW%I
Ig 0Q 1T & b g o by 7T Tderr & SER, e
W&ﬁwﬁm?ﬁﬂé‘r 20 fpbe @A B
SHfeTY, SeTeRur o forg, 1 ?ﬁTﬁ - 4 & 20 T B
g 3R 3 T U9 W o4 ¢l 59D Aqd ¢ b I8
3R Fura & fob aﬁ‘s‘mﬁ&ﬁaﬁwﬁﬁzo
fopdre @ Sufarg, zms@mmww%
g 09 9ardr § & ofie 3 siftres
a&uﬁzosﬁﬂ%lwwuﬁ'ﬂﬁ? aﬂ's‘“ﬁﬂm
faeret 2 fordhe gt Qa argar 71 SUHT Hads Rk
AT @ [ e B9 H <& 20 & forw o et g o
Q%%Iﬁﬁm 3 T 3TAM I8! I ST TebelT B |

(B) U I 2
Floor| Person
9 V4
g T/w
7 W/T
6 S
X
1 ]
3 v
2 Y
1 R
miar | R | =fe e
i 12 B | o
23 M [
ESe O el I bl
23 R
e 12 A =
23 D T=r
T 12 C By
23 E g
Tgl, 8 37 Afdadl &1 3ad a1c Wi a1 Iha B
AL == M)
1) E(+) K(+)—B(-)
D(+) — €

Ans.31(3)
Ans.35(1)
Ans.(36-40)

Ans.36(1)
Ans.40(5)

Ans.41(1)

Ans.42(2)

Ans.43(5)

2 | Page

Ans.32(2) Ans.33(1) Ans.34(4)

Step 1: GHI 16 ¥ U 3 & PHBA AR W
el & TUHHA P S AR AT 6 x 7 = 42 3R 3 x 5
=15

42 3R 15 F T 3R 27 B

il @t gt g 7w & uftear ar gt 21

Step 2: 39 WU H, UAS AP Pl Ugdl 3H ST Sl
® 3R bR 3 9 7qum {3 e & ok ufRomy 18 et (2 +
1+1)x6+9=330SIoag

TIRT ST YT B b o1T It UfghaT qIevTs ST =y
@t T s & IR 3Pl W)

Step 3: 39 WU H, Ugd sl & Usd 3fh &1 aif 3R
T il & UGS b P o Pl oSl T § SR B
! silh ¥ Ugd 3 BT UHHS e/l Sl § aM-
32432-3x3=09

Y TR0 P IR Aih HI UH F fow fUsd sdid & g
37T W 2t g} ufsha &t S B

Step 4: sl & AT 3R Gl sl & R & T SR
SifqH IR U HRA & T 70T B Sl © ie. 09 + 63
= 72; 3R 63 3R 09 & o 3R 54 B

3fa T, 72 3R 54 F I AR 18 &

fT e g7ge & forg o € ufar arg @t S @

wput: [s[e] [6[a] [2]2] [ele] [als] [e]3]

Step:
Step Il:

Step Iil [3T9]

Step IV ﬂ

Ans.37(2) Ans.38(1) Ans.39(4)

Quantitative Aptitude

M, 2001 Bt TTTUAT & TR IR U & 76l o
HTAT I

TTH T 3IUT AT A: B: C = 1200: 1500: 1800 = 4: 5: 6
T% ST HRfiaR 817 & fore T &1 ey aem ¥

= 2500 BT 16% = 3. 400

I 9% & fIT A BT A R = 4/15 x 2100 = .
560

A = 400 + 560 = ¥ BT Hd A1 | 960

HAT I

Uifthe [R BT 30T AT A: B: C = 4000 x 12: 3000 x
12:2000 x 6 = 4: 3: 1

B T TTH TR = 3/8 x 2520 = . 945
WWW%@A@%@BWW%W%W
ferm ST g =
ﬁﬂgﬁﬁgAﬁﬁgBW%ﬂﬁ%mmmw
RTS8 = (x - 1.5)

YD 3Tl wmaﬁwwﬁ:y%ﬁ/ﬂa
ZARILA45 x x = y x (x - 1.5)
3R,y x (x—1.5) = (y—6) x
yx—=15y =(y-6) x (x-1)
yx—=15y =yx-6x—-y + 6
0.5y = 6x-6

y=12x-12

TR, 45 x x = (12x - 12) x
45x = 12x>—12x— 18x + 18
12x2-75x + 18 =0
4x>—-25x +6 =0

4 -24x-x+6=0
AX(x—6)—1(x—6) =0

x =6, 1/4
ﬁﬁixz%‘vﬂ[ﬂﬁ%
3d:, x=6
gfer, ufde o1 Tfd = 12¢ - 12

= 60 ot / deT

fhrgror x ® g4 o1 ufdRid = 87.5%

@, frsror x W g8 3R Ut 7 SguTd = 7: 1
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Ans.44(4)

Ans.45(3)

Ans.46(2)

Fb:-

T fyor x # gU SR U B YIS HET 7a wiex

GﬁTa?ﬁﬁT%I

Fﬁ,a +12="7a

6a =12,

a=2dex

@, A x B URMS AT = 7a + a

= 8a = 16 WX

B5o Y § g8 &1 AT = 16 TWex

ar, forsor y ¥ o & AT = 3/4 x 16

= 12 R

MY, HeR & & § T BT AET 3R RIS B AT = 7a

oo 3R 22a TR, HH:|

HeR q FAed TT HAY: TF B AET 3R 3ichigd Bl

HET = 7b TeR 3R 22b e

BUT|: (7Ta—7b + 24)/ (22a—-22b + 4) = 3/8

56a - 56b + 192 = 66a - 66b + 12

10a - 10b = 180

a-b=18

?ﬁm Y BT IR 1 & oW Fad Hu | g vafd Tt
|

DY II:

7a-T7b + 24 =150

7a-7b =126

7(a-b) =126

a-b=18

SR, % BT IR 1 & oY Had Y 1| T el 8|
BYT | 3R B II:

(Ta—T7b + 24)/ (22a - 22b + 4) = 3/8

56a - 56b + 192 = 66a — 66b + 12

10a - 10b = 180

a-b=18

3R, 7a— 7b + 24 = 150

7a-7b =126

7(a-b) = 126

a-b=18

2TMRIT, | 3R 11 SF Y=t | 3T 7T ST U T IR o
& forw v 7t &1

T, 7S 3R SHfhd Bt IIHH IH x et SR y 1 .
3fQ, (x + 3)/(y + 3) = 17/15

15x + 45 = 17y + 51

15x =6 + 17y

x = (6 + 17y)/15

DY I

(x-3)/y-3)=7/6

6x—18 = 7y — 21

7y—6x (6 + 17y)/15 =13

105y — 36 - 102y = 45

3y = 81

y =27

x = (6 + 17y)/15 = 31

3MAWH R = 31-27 = 478

AT, UY T IR S & T Had Hu= | € yafd g1
DY I

(x+5)/(y—-7)=9/5

5x +25=9y-63

9y - 5x = 88

9y -5 x (6 + 17y)/15 = 88

135y — 30 — 85y = 1320

50y = 1350,y = 27

x = (6 + 17y)/15 = 31

JTAH 3R = 31-27 = 498

ZTRAT, T BT IR 2 P 170 Had s 1| € i@ B
HYT | T:

HFT, 3ifhd G 3. x B

i, foepl ged = x BT 70% = . 7x / 10
Y = %, 250

AAT AN Gea 3. y §

y + 250 = 7x/10
U BT IR e P AT Pad su | vafd T R
HYT I B

Ans.47(2)

Ans.48(4)

Ans.49(3)

Ans.50(4)

Ans.(51-53)

Ans.51(1)

Ans.52(3)

3 | Page

o, fot Iea %, x 8.

g9fem, fashl I = (2000/125) x 100

=3%. 1600

@, AN G = (1600 x 100) / 160

=%. 1000

Y BT IR 37 & [N Had Hu 11 S waid 21
HHEATI:

Y & AR,

(x — 8000)/(x + 6000 — 10000) = 1/2

2x — 16000 = x — 4000

x = 12000

HHATII:

o &1 fafgd 9e9 = 1.5 x 10000

=3%. 15000

"Y' = 15000 T 80% = 12000

HET HI:

'z = (2400 x 1800)/(20 x 30) = 7200

HHATI:

3iferH fArsfor & A = 1/3 x 60 + 60 + 20

=20 + 60 + 20 = 100 TeX

fHr90T SR I IS = 100 x 60 = 3. 6000
HHEATII:

5 @1 el 21 I Bt IdIg

= 60000 & 10% T 60000 & 15% db

=%. 6000 ¥ 3. 9000

HET HI:

3T GRT UTW RfRT = 14000 &I 50%

=%, 7000

A 3 Iohgfa ST TR o1 &1 718 gA IR T, p B,
3 91d & 91 o1 s AR = p x (1.1)°

2 19 & S1G ST s X = p x (1.1)2

3, p x (1.1)° - px (1.1)2 = 968
1.331p-1.21p.= 968

0.121p = 968

p = Rs. 8000

31,3200 = (8000 x x x 5)/100

x=8

TP UE &1 AN Yol = 420 / 1.4

=%.300

SN GRT YA ST 75 $A DI = 2200 - 40 = .
2160

NP F T U UE DI HIAT = 2160/6 = . 360
fI=TTe gRT YITAH B 75 $F BEA = 3400 - 25 = 3.
3375

fa=ma & e ude W B HA = 3375/9 = T. 375
SN F aTH UfI=E = (360 - 300) / 300 x 100 = 20%
fammar § aiffa a4 = (375 - 300) / 300 x 100 = 25%
3{aRgh 3R = 25-20 = 5%

fa=ma &t Ay TRIGRT BT U T80T = 1500 + 1500
+200: 1800 + 1800 + 400 = 3200: 4000 = 4: 5
FHIT HIER B & o8 fI=ma o7 o TR = 0.20 x
9000 = . 1,800

3 9w & o fawma &1 &y AW = 0.80 x 9000 x
4/9 = 3. 3,200

@, fa=ITet &7 pef A1 QAR = 1800 + 3200 = F. 5000
@, THTIM = . 5000.

qE] B b Hed = 1.30 x 5000

=%. 6,500

X BT fashd T = 0.80 x 6500 = F. 5,200

@, AH HHMAT = 5200 - 5000 = 3. 200

U BT ATH TR = 9000 - 5000 = F. 4000

ST GRT <11 a8t & a1g Iffd st = 4000 x
{(1+0.10)3-1}=9.1,324

@A BHIHAM = 3. 1,324

FIRSH 3R uRae W fwnd gR1 @< &t 718 Afy

= 0.55 x 5000 = %. 2,750

for=mer grr A o1 <1 18 AR = (5000 - 2750) / 3
=3%.750

faee & Oy &=h AR = 5000 - 2750 - 750 = F. 1500
@ CHHAA = . 1500

o, aifed 3fd = (5000 + 1324 + 1500) / 3 = 7824/3
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Ans.53(2)

Ans.54(5)

Ans.55(2)

Ans.56(4)

Ans.57(4)

Ans.58(2)

Ans.(59-63)

Fb:-

= . 2608
TR 3R uRae W fand gR1 @< &t 1 A
= 0.55 x 5000 = ¥. 2,750
foramet grT A Y ) 71 WY =
=%, 750

foeme & g &=ft MR = 5000 - 2750 - 750

=%. 1500

@, CHTHE = F. 1500

T 3 e A Rrem v & Rig fr s arag @
= x I

1 a1 & SR

1500 x 0.13 x x = 1170

x = 1170/195,

X=6

@, fora T & fore faxma A S @A 98 € = 6 A1
ST Uef T STAR0T Bl 8

11+3' =14

14 +32=23

23 +33=50

50 + 3 = 131

131 + 35 = 374

3T, 374, 376 P W W g1 AR
2l U BT SR el 8
17+23x1=40

40 + 23 x 3 = 109

109 + 23 x 5 = 224

224 + 23 x 7 = 385

385 + 23 x 9 = 592

MY 111 & R W 109 1 <Y

2l U BT STERUI el 8

10 + 11 = 21

21 +21 =42

42 + 41= 83

83 + 71 = 154

154 + 111 = 265

T 164 F SATE 154 BT AT

AT U BT SATIRVT Il &:

7+1+1=9

9+2042=13

13+31+3=22

22 +41+4=50

50 + 5! +5 = 175

3YeNg, 52 &1 S8 50 g1 ANy
3x1-12=2

2x2-22=0

0x3-32=-9

9% 4-42=-52

52 x 552 = -285

39, 0, -1 & VI R gHT1 A18T|

THAR B S T8 $ T P A

=30/2 + 35 + 15 x 2 = 80 fopeit

AR ¥ YHaR d% Fa 1 fha Il & Tae fad
=476 - 126 x 2 - 184/2 = 132

FYAR & 99 T 1 fvall It & Tapel 1 Ta
=132 - (18 + 22 + 35 + 30) = 27

FUYIR P! I TS Hof - B [T

=50/2 + 27 + 24 x 2 = 100 f&ar

IR $I It TS = B Ha T

= 476 - (84 + 100 + 80 + 98) = 114 a1
THaR o = ara 500 9 =T Gpet Bt
G = (114-18-40 x 2) x 2 = 32

T FIEER Y 500 A A=t & Yabel oY x fasbl g3
3R, YEHAR BT A<t S aTelt 500 T -t Tdbel Bt
TG = 184 - (32 + x + 50 + 30) = (72- X)
LHAR BI 99 U 2 bl At Gebet ot

T = {98 - (72 - %) / 2 - 30} / 2 = 16 + 0.25x
HITaR I foen arat 2 fora -t 9et 31 I = 126
- (40 + 24 + 15 + 16 + 0.25x) = 31 - 0.25x
Y & SFNR:

1.92 x (31-0.25x) = 72 - x

59.52 - 0.48x = 72 - x

(5000 - 2750) / 3

Ans.59(3)
Ans.60(4)

Ans.61(1)
Ans.62(2)

Ans.63(1)

Ans.(64-68):

0.52x = 12.48, x = 24

500 U T Gobel B TBT HITRIaR &) o< 718 = 24
YEHAR B f§e= arad 500 I T Udpet BT

TS =72-24=48%

YHaR B! [y aral 2 faal i Oet o

AT = 16 + 0.25 x 24 = 22

2 el ) Qb @Y T|T HITSIaR = 31 - 0.25 x 24

= 25 RIA TR
500 TTH Gahel | 1(dal s | 2fdat®d | ddiTe
FEendd | e fRE | Wl | SN
m oo A
(e

THAR 32 18 40 114
THITAR 24 22 25 84
qHAR 50 27 24 100
TR 30 35 15 80
-a[,mdla 48 30 22 98
184 132 126 476

a’r%—crl;rﬁw—nm 80)/80} x 100 = 42.5%
TTCER & 2 fora Gabe o faepa areft i+ &t amn
=2 x 25 =50kg

AR &1 500 T Yabe | = &t A

= 48/2 = 24 kg

I, gifesd SfeR = 50 - 24 = 26 kg
ifesd U = 80: 100 = 4:5

FYAR B I A o

=50 x 25 + 27 x 48 + 24 x 90 = . 4,706

@, v fpar shd fash! Je = 4706/100 = ¥. 47.06
AR & = ard 500 U it Yebet Bt
AT = 1.25 x 48 = 60

AR &Y o 7T 1 fpelt di- Obet Bt

AT = 140 x 30 = 42

IR FHY 3= 7T 2 faelt Fi-t 9be] o)

T/ = 150 x 22 = 33

AR &1 9 78 =1 B Hd AT = 60/2 + 42 + 33 x
2 =30 +42 + 66 = 138 fur

A% Uc Y sifdrd 1A = 580 / 0.725 = F. 800
Y% Uc &1 ANTd Jed = 800/2 = T. 400

T Te TR A = 580 - 400 = F. 180

16 Y TR @Y = 180 x 16 = 3. 2880

AMI, GHMER BT HA A T x 8.

dl, 0.12x = 2880

X = 24000

& 3], 16 Ue B AT g

= 16 x 400 = %. 6400

AT, Gt aegeft &t @dten & R ara . v g
dl, 0.128y = 6400

TE Y

T gHTE BT ATE || TP TR BT

fara g

VAT EPTE W O | T A 7

e Rs. 2880

R Gl
Rs. 6400 Rs. 400 400 + 180

= Rs. 580

Rs. 180

En 15% of 24000
=Rs. 3600

3600118
=Rs. 200

18% of 50000
= Rs. 9000

9000/18 = Rs. 500 500 + 200

=Rs. 700

el 8% of 24000
=Rs. 1920

7.2% of
50000
= Rs. 3600

3600/12 = Rs. 300 300 + 160

= Rs. 460

1920/12
=Rs. 160

e 24% of 24000
= Rs. 5760

5760/20
= Rs. 288

28% of 50000
= Rs. 14000

14000/20 = Rs. 700 700 + 288

= Rs. 988

&t 25% of 24000
=Rs. 6000

24% of 50000
= Rs. 12000

12000/15 = Rs. 800 800 + 400

=Rs. 1200

6000115
= Rs. 400

et 16% of 24000
=Rs. 3840

3840/8 10% of 50000 625 + 480
= Rs. 480 = Rs. 5000 =Rs. 1105

5000/8 = Rs. 625

Ans.64(1)

Ans.65(4)

Ans.66(2)

Ans.67(1)

Ans.68(2)
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U TIC BT fafed Jed = 700 / (1.75/ 3) = %. 1200
UA® Sidhe BI fIfgd H1Ad = 988/ 0.6175 = . 1600
3G 3R = 1600 - 1200 = T. 4001

X' = 580 + 700 + 460 + 988 + 1200 + 1105
=%.5033

'y' = 5033 + 1438 = 3. 6471

3, x:y = 5033; 6471 = 7: 9

TR DI TP B8 T 3Hfohd Hed = 1.75 x 800

= 3. 1400

JC BT UG = {(1400 — 1200)/1400}x 100 ~ 14.28%
TS & QS P13 &1 ol fafed G = 460 / 0.575
= 3. 800

5 4 3@Ts & I1& JT = 800 BT 52.5% = %. 420

@, AT HARFE = 5 x 340 + 2 x 420 = 1700 + 840
= 3. 2540

T B UAH IHTS W SHfofd ary wfa=rd

= 480/625 x 100 = 76.8%

U 3 T 318 W 3ifofd ary ufa=ra

Web :-



https://www.facebook.com/tesmuseduserve
https://tesmus.com/

RRB PO MAINS_2024 TEST ID - RPM - 87400621

= 1807400 x 100 = 45% S I TP A1 Tig bTer & $o JUTaT = 1/4 +
ARG R = 76.8 — 45 = 31.8% 27/80 = 47/80

Ans.(69-73) Ans.76(3)  TMI % A 3R B 1 I Ui U Ugdl HHRT: 5% Y 1R
Rl I G B b ks :ﬁmz“ﬁgf;— 8x ¥ ot
o fored WWWE‘“ m‘m?‘i“' e ST A 3R B B TAATT SR FHHR: 5x + 5 Y 3R 8x +
Tereefl 370-120 | 250 x 2+ 120 0.40 x 620 620 — 248 — 80 — Sa'ﬂf%I -
‘ = 250 =620 =248 140 = 152 D @ IdHM 311 = (5x + 5) /0.75 = (20x + 20) / 3
dolig | 400~ 300 | 100% 24300 | 032500 | 500160~ 118 10 9% & §T& D P 31T = (20x + 20) /3 + 10 = (20x +
TR 425-250 | 175x 2+ 250 0.45 x 600 600 - 270 - 55— 50)/3?:|'Ef
=175 = 600 =270 75 =200 — _
SR | 375-150 | 225%2+150 | 0.36 x600 | 600 - 216 75— maai%mCﬁm_(ZO“50)/3>(9/10_(6X+
= 225 = 600 =216 92 = 217 15)
FiqwMl | 315240 | 75x2+240 | 050390 | 390—195— 60— C P AAM 3T = 6x + 15- 10 = 6x + 5T
=75 =390 =195 50 = 85
’ U%[%Giﬂﬂiz
Ans.69(3)  dife5d 3IUTd = 248: 217 = 8: 7 SX + 5+ 8%+ 5+ (20x + 20) /3 + 6x + 5 = 4 x 375
Ans.70(2) WAL 77x + 65 = 450
Fifdd 3faR = 620 - 390 = 230 77x = 385, x = 5
AT IL: ABH A M=8 x5+ 5=45a9 8
Tifesa 3N = (248 + 160 + 270) / 3 = 678/3 = 226 caﬁaﬁnmarrg”:gmms:asasf
al, AT 1> HE 0 @ B 3R C F S BT 3R = 45 - 35 = 10T
Ans.71(3)  difed ufd=1d = (195 - 150)/150 x 100 ANs.77(2) A B = 672 IBTS (24, 28 3R 32 BT LCM)
= 450/15 = 30% AGRI TS &1 & fag 70 ored &t 19t = 672/32 = 21
Ans.72(2) HMEATL . ]
m&fwﬁowwgmaﬂﬁaﬁgw‘raﬁ B GRT U {271 7 fOpU U T &1 I = 672/24 = 28
T = x
Al Jard & SIAR: C gRI TS o1 & oy U e &1 A = 672/28 = 24
2x + 70 = 200
2x=6;30 A, x &1 & fore s fopa,
X = . , BA4x-2- (x + 1) = 3x - 3 ol & forw &y fawar
gufere R # 65 et = 0 =78 Zu g fohar 3R € A 4x - 2 AT & Riw oM b
A II: _ a1 AT & SHER:
I b SR H AB TS 0 I G 3 arel Afgeef &1 21x + 28(3x — 3) + 24(4x - 2) = 672
BT = x 21x + 84x — 84 + 96x ~ 48 = 672
1 AT & SR 201x - 132 = 672
2x78+x=216 201x = 804
156 + x = 216 X =4
x = 60 . k2 = 2x + 20 = 42 =2 x 4 + 20
ﬁsﬂﬁqwﬁaomﬁﬁABmwmm = 16-8+20=28
A > A
I, HAL e Ans.78(2) TR a¥ & faw A &1 AR = 2400 x 0.80 = . 1,920
Ans.73(5)  STAR # g T T A TS YU B SH131 BT I = T R F AT B T = 2500 x 0.70 = . 1750
1.25 x 60 = 75 i A Y B & HATG T U = 2400 + 1920: 2500 + 1750
?Tjﬂsioamﬁf?qw B 3 TUE B SH1ST P UG = = 4320: 4250 = 432: 425
30 x 50 = A : el Y H H A BT ATH IR = 432 / (432 + 425) x
ﬁfﬁgﬂﬁﬁimﬁmmﬁmﬁﬂg = 100 = 43200/857 = 50.4%
20 x 195 = 234 . ql faped | ST g1 Fel 5
Wﬁmﬁ?@ﬂowwaﬁmaﬁ s
o =140x85=119 TR ¥ o foTg A 1A = 2400 x 0.75 = 3. 1,800
TR B $of &IGH B 3BRAT = 75 + 65 + 234 + 119 TR AR & AT B BT FRY = 2500 x 0.70 = F. 1750
- 493 ' A ¥ B o T T 3JUTd
Ans.74(4) STHTT B GA TS = x +y + 3x- 6 + 2y + 4 = 4x + = 2400 + 1800: 2500 + 1750 = 4200: 4250 = 84: 85
3y-2 ' 1 e ATH H F A BT Y Ufererd
Toh T 1 BT B FHIGHT = 2/+4C,/4+3v°2C, = 2/5 = 84 /(84 + 85) x 100 = 8400/169 = 49.7%
2y + 4)/(4x + 3y -2) = 2/5 e fased || SR 761 8 IhaT g |
10y + 20 = 8x + 6y — 4 fawe
223x—4y=624 0 TR T & forg A &1 332 = 2400 x 0.88 = %. 2,112
XY 22 U . TRR & fo1T B T =T = 2500 x 0.84 = F. 2100
TS UId T 171G BT B FHIGHT = YCq/%3v2¢, ﬁg ¥ AT BT ST
= 4/25 = 2400 + 2112: 2500 + 2100 = 4512: 4600
y/(4x + 3y - 2) = 4/25 = 564: 575
25y = 16x + 12y - 8 @ Hd A T Y A BT A U=
16x— 13y = 8 ...... (i) _ , = 564 / (564 + 575) x 100
AT () I (i) F&Hx = 7 3Ry = 8 A & = 56400/1139 = 49.51%
AT H AV =4 x 7 +3x8-2=50 3 frebed 11l TR e & Webell 81
JTA7 R, 8, 15 FA SR 20 AT Ans.79(4) WL
TH R TSI g 3R TH A1 g FpTer Bt HUTaHT HAT U T&Id &1 3ifpd 40 3. x B
=7Cqy x 2C1/°°C, = 7 x 20/1225 = 4/35 X X R GHMGR gRT IHT ¥
Ans.75(2) Tﬁsyafﬁiﬁﬁﬁﬁﬁmﬂa? =10 + 15 - [(10 x 15) / 100] = 23.5%
= 2°C1/%Cy x 1°C1/'°Cy = 2/5 x 5/8 = 1/4 x 1 f9eh1 Je = 0.765x
& 11: §71 W 1 116 & 3fefTal Ueb 71 Wil el @ SPIMER RIJ&I® Y IR JC = 28%
o O T a1 g RpTam Bt GHTaT T ¥ P B g = 0.72x
=30C,/5°Cy x °C4/'%Cq = 3/5 x 9/16 = 27/80 E[%[aa_&[ﬂﬂﬂy
0.765x — 0.72x = 27
Fb:- 5 | Page Web :-
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Ans.80(2)

Ans.81(1)

Ans.82(1)

Ans.83(1)

Ans.84(2)

Fb:-

0.045x = 27
x = Rs. 600

HHEAT I

T &1 fasha gk = 3. 490

g1 Ufd=id = 12.5%

T B AT Ged = 490 / 0.875 = 3. 560
9% &7 Sifdhd Ted = 560 x (7.5/7)

= 3. 600
MY, HET- | = HA- I

HHEAT I

AP = 24, 20 3R 36 P TAHTH
=360 gfc

A TR T & & w0 o1 1t ot 3b1eal = 360/24
= 15 31l ,

B GRT U fo1 # fobw 17 obref 1 ot gapTeedl = 360/20 =
18 g1l _

C gRI T 37 # ¢ 7T & &1 et 5132l = 360/36
= 10 31l ‘
ugd 5 et # o=l g1 fobw TG il &t e gebreal = 43
x 5 = 215 SHIAT .

C &R e 7 A1 # fbu 71U o &1 et gapT=al = 10
x 7 = 70 31341

QY FHTf = 360 - (215 + 70) = 360 - 285 = 75 THIS
sﬂﬁénmﬁmﬁ?cmnqﬁzmmw

=3
i, HR R v & e e T ga e = 5 + 7
+3=15f

@, X BTHA = 15

HMEAT I

T, 6 91T Ued 3% &1 3 3R w1 31 37 HHr:
:4x'aﬁfaﬁq3xaﬁf,

L (@dx + 21) / (3x + 21) = 15/13

52x + 273 = 45x + 315

Tx=42,x=6

eIy, R &Y afH 3Mmg = 4x + 6 = 30 99

3R, f3 BT A 3T = 3x + 6 = 24 T
dy'=24-8=16

General Awareness

g g&f 39 & U HIaf AFTAT & S Jut & o
T T 8. 89 WY & oTH & Uefa & U H arifgd
B T T IR Ired bl HY T 59 QY & IHHER
I T HT AT FMAd gl § oIt SUANT U= 1et
gw,mﬁmeﬁ?maﬁw%mwﬁﬁmw

T YR WBR A "7 TS 3 Wi = B g

g Ao 703 B & | atsht &l ARG DI
Ry g ufieror & forg fafRa fbar mar R

garaft B HINE TG & TY-TY 8000 ¥ 10000 FT
T i T s

IS & ded HH I HH Tb dRg garsil I urRrefor faar

ST

YR A ST 31 SiisdT T« &1 $9 fogH & ward

T RIS REBR & TaqIfAd e mar g1

RER F H-Ft g7 Nad [REHR" w81 S g

Tl & e gy iR IH ST F Tefid

Tiafafern &R @d 3 & e 15 ara R ffcT|

A @R 2.5 Bt R @R IR 1 TH

I XHR &, o 59 Rad srefa (\wo) grT 3w

T T MY R W foar ST B

g RER Hle3els ¥ galw a9 RR g1

?WWWS‘TW%W“WW
|

BTA & U I & REBR faoidT -

2018 - 33T SRGHA], HTEA ST 37, AfeH SR, ST

FTR M

2019 - 919 9 S, IAICE g5, ST 8, Jde 9

CRca

Ans.85(1)

Ans.86(1)

Ans.87(2)

Ans.88(4)
Ans.89(5)
Ans.90(1)
Ans.91(5)
Ans.92(1)
Ans.93(3)

ANns.94(3)
Ans.95(4)
Ans.96(1)
Ans.97(4)

Ans.98(3)
Ans.99(3)

Ans.100(4)
Ans.101(5)

Ans.102(2)
Ans.103(4)
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%%éﬁw%%ﬁuﬁqm . Gollh
2021 - S19 39 f&s&, Ab HIWR, T giedoq iR
TIRAT TSGR

2022 - o ReRe, ooy g, ®1H Ulexd, S9N

Ja

FH A ureH SR e HA iR Rig 7 aadt
ﬁjﬂﬁ%%ﬂ@&ﬁﬁ@ﬁﬁ%ﬁﬁ@"ﬂ@@g“
die foa|

TETEd U0 & ATSUITR-Yed SWIce 3 Themaex
m%w (TSR, Ya1aR GRI fasia faan
TR

TS TSI H U0 &1 J&7 Sexd ol H Hae fham
! AT HS gt 3 Sefta SN meffeal & Y
e wAT B

Ty P Sl JR&M T SUM HeIaE (dieH-
FHYH) ST & d8d Td 2022 T 25,750 TTETE BT GR
& RITYT HRA BT 06T 8. FYI AIOHT F d8d SR
A R & o swdet 89 a1 Wit St/ st & du
BT GIR Sl & T Bt 1o &,

19 qifg YR RISt Tia $AR 7 féor HRar &
TefT TR H omaiford UREE 8feR-20 wuafRRaw
<R # goul @t Swrie- W § ol uge Sar
T 7 10 T SHIYA H 7003 3 TR HR Igal
R g1 fasa

I 100 Hiex YT G, TabT Beh R UTel Hp |
TUT R YT T

YR TYaiel 4 4 T 7 9 0 HIRGT TR & a9 §
ST TRETE U20 Tydfee AT 2023 # 19
U&h Sftd |

ST $& 23 TS - 14 WU, IR o SR U S &
T UG drferdsT § 2 W Y@

fiyw fRufsres i ameT 11 Wol, Iig Ioid 3R
Lo BT TR SR H g

THUHUTS = AISeH! Y AR HeaH HHR & 39|
famn, sifcar & quAsEEtan &1 g g

TRIRT TRHATY] Jif WM IR Y= | Ry g

31T SITRRIPI BaTS 37 7is H U B

Y AREd Ui A1 Y aeid SR T A9

IIH T, THias 3y R YT, Th aRdreH
|

B Roid 3R U Siadsd fod s

BIaaR fbbe RfgTH R & RA 7|

fog weg s gl @R

TSP - Trusted Family Bank (ﬁ%ﬂ:ﬁqqﬂﬂﬂﬁﬂ
g SR e & R it 9% &1 geaea
qiiRATeT SRt A fRia g

fear die Ui S TTdr SR O JaTd FeH B |
R-Frunfea dufy ar R-FAenfea »ur §& gr1 fow Mo
m%?m@%ﬁmmwwmﬂﬁﬁm
ST YT g

RoMSwd - sicrfgh e & fog S|

RIS GRT IS St &1 4 IYR faar Sman §
e T & FUH P HM ¢, Ig & 9¢ 9 § oA
RS F VY IYR AT HE Bl @, S 0 R gl
STl &

TUE & Ay R dared T8 8

WHR A YR FTgbTRdl Tafafledl & qry-ary
WeR Al HY FemaT 3 F AU Th wgHIRar
HATerd SR R |

FHoig dAded ¥ threcd 81F & d1g YRd & Ugd
Tg1Rar FeAt oY off zroy fRees st ok g Tt
YUl Ha- & AR § UG &1 {9y Tl |
YEDIRAT BT a7 FAT "HePR J IS &
B BT YIHR A & A BT HUT 3R S
T JehIRdT fiaIe P 9gIaT S P AT Uh 3T
TR, BT 3R HfTa gt v |
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Ans.104(4)

Ans.105(1)
Ans.106(3)

Ans.107(2)
Ans.108(2)

Ans.109(3)

Ans.110(2)

Fb:-

F WA R URaR Heamn 5t S| Ay
Hefa A ulhd IsU WE YRET JADBiD B
SR fbT|

TS I H, B 3 b1 7 =i =i g1 o,
ISP TG GoTTe 3R afarg|

B oAt §, mar 3 g # i =i il faa,
IUF dTE APYR 3R Rifawy |

T 3R HIR, Rech, sk IEhTe 3 HH:, 2, 2
3R 3 ¥ g &t

SHAHT e & 3fae H T 98 gars gRMTeH
3 B A B B TGRY B @I 8, T
S e SR Turfad faRifrat &1 uafad s
F I §d BT Y|

ST I8 U Y= B9 a1 TR FStheR 23 31
# 25 3 & 10,000 TR 3R 250 faHF AR
e ¢¥ R AHdl gHA BT Sa1d il

TRIe0r ggnar § U A9 $ T S Igad
I SMARBT 2,000 JUH TR AT TS Sl
3R ATHAT 100 FaAET BT Dol W@ R

1T BT T3 RIY 3R I SARBIF 12 ™A 4
30 1949 T fopaT T

q9 ¥, 19 3R I IR & = ERY (1952, 1955,
1982, 1999, 2004, 2009, 2017, 2020 3R 2023 H)
P H1egH 9 el H Wi 81 g

I Sredifesd WY & v 10 B Farar T 8
5 B 3T ToseH | e 8 g B

w Riftrn 3 w1 § 5 YR o= 39U & A9

Y 93 IUGH  2014-15 ¥ 2022-23 dF

T & TN JaY I8 IACH F 3F §¢ T 3|

YRd 99 & di% dI® @er § o gfhar | s

W &1 Ied g7 Fuias g

YRA = o SWIT & IdIe # 2014-15 H 88.98

ifiew e @@ ifcd o) ¥ 2022-23 F 126.26 Hifew

T b 42% B I oot Bl B

MY 10 FXTT IATES -

Uige Rufsdtes 3iits =g - 95.7 Ade

YRd - 11.4 93¢

S - 7.5 98T

Tga YT SR - 6.7 AT

T - 6.6 AISC

YR foid d 3 e fovar i §& & ga

HUT QU A1 R 3MENS) BT 7.5% G&H ST Bl

UeH foar S @rigu|

B1A 81 §, & MSME HATad 3 MSMEs (&4, @Y

3R Hem I & ded GaXl $R Uie IR B

MM B DI GO Bl

Y HRUT & SR, AURAT DT 3T SRENSMTS

¥ feznfdei & ded urufiiedr are & &1 Bur A

T AT A |

I Feia a8 @ R 9fifa 3 agr | e

TR RIMMUd A & faw YR arg 41 &1 s

T e R

U |AF TOREY & qRdfdes R0 3@ 4 dld g it

AYIRTT & § 3 B IS B

FATYAT YR H 500 THTR HT 74T HTSUTH 9 -

e &F 7 -ftd foran o g1 71 viRey Reid & HidR

500 TR Hf¥ H e gl

IR TAd # &g MR ey ded & HiaR

EWE TR & i & o Iy aeig

%ugmﬁsomm%a%mmwmﬁuﬁﬁ
|

Ans.111(1)

Ans.112(3)
Ans.113(1)

Ans.114(2)

Ans.115(5)
Ans.116(3)

Ans.117(4)
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U & T & 718 o | g vt of <fere § o
IAF & T &A1 8, o mafarufig efa & forg gamas
¥ Yed 3R &7 P HAGR TS W &fa 3R gu1g
B HH B F (AT TS IUg A B

e ROy & 3FOR, 39 A5HT &1 39 a6 g
Folid are, wam%ﬁaaﬁésﬁ?amuwm
J T i gt ]

b 91¢ AP Ieg die @ R gl 7 o 59
qﬁqﬁwaﬁnﬁg&%a“r%l

mﬁWWWWﬁW,Gﬁﬁ?WW
ygRvg H off §, &1 9gd Hed § Fifd U8 URAY
JRII B LAC - dRdidd Ea0 X1 & Had RE
gﬂﬁﬁaﬂﬁ&’ﬁ\%ﬂﬁﬁa‘ﬂ S TS exr i Bt e A
|

3§ qP, IAF BT A8 LIRS THAT U Jfaer off oref @
IAF 3{TOR= foru o1 U

1960 ¥ 1% B, IAF ¥ B & fftfa 3aa dfdn ass
faersit &1 off fawr forar

BT 81 H, TUeTon B! alord a7 siee), gy SR =  +ft
ool fooum mar o1, o9 ¥ <0\ TuerS =TT
SURUY & F 3T B

ST B 99 g1 & 999 S YeeRed A 3|
Ta1 T g Repls s 2|

21.6 Hiex ¥ (69.4 HIe) WR 1 JSbrRed 2019
H o & 99 dspred I 3.5 Hiex oer g, oA
17.66 Hiex &1 fUzar fay Reis s=mar o1l
STHTh & SR H:

ISTYTY: PO

T S o

STEREAT: 58.1 ¢RG (2019)

YT H HAGH & d1¢ Uid okl 1 HYad Y TR&]

aRug & R-WRf T & U & g T e

AT SRS wifd SR TR §N W@ F faw

S q IR= B9 91d ugE e ® wfhd g, S ar

A B Al & A HH BT

Uig Aafaid 3 SHISR, SUH, Hieel, AEsd 3R

;WW%%WW%wﬁW
|

e IRy 15 = § 71 §, ’orw § uig - 99, wiv,

?Wﬁwmﬁ@aﬁaﬁmﬁma{méﬁ
|

10 TR-RITH Y AU gRT 94 I &, fored aft 193

g Y Ge I WA &, SR & GRT HNferp

faRur & S g

g P11 31 g fayfdenem & faa & Iurse

R g forfta et & wu & fged fovar man

gl

I8 84S & fal iR ORI & e IJuredes 3R
I RS Iele PR & =0 # ¥a1 a3 el 8
PRI Th HRAT-3MARS! e dfdb iR faxhia
Tee fIRvy 2

389 Goldman Sach H Uy fAewe & =0 H 18
g9 faam|

foeht & 3fexr mieh gexazHa wRUE (Gl TRUE A

I & fore feohamT gfaw g &1 31

MESaNE gard o3 & eftfel -3 R & 1 S ugd oA

RO aTeit Uoiiepu Ufshan B

It < & ofar, Wem Wi & 3R AT e R

gfaem &1 ety 0 Y I IR 96Hd g

TSSITam Tm 1 U o, JRI&T 3R v i1 &1

g acS Pt ASEMT 9% 2023 H YR | P S, 27

?hmaﬁaauga{r@ﬁwm%ﬁ%mﬁ&mmﬁné
[

T HHH T 130 ¥ 34w S P ufoan i 2nfara g

Web :-


https://www.facebook.com/tesmuseduserve
https://tesmus.com/

RRB PO MAINS_2024 TEST ID - RPM - 87400621

Ans.118(2)

Ans.119(1)
Ans.120(1)

Ans.121(4)

Ans.122(3)
Ans.123(1)

Ans.124(2)

Ans.125(2)

Ans.126(2)
Ans.127(3)
Ans.128(4)
Ans.129(1)

Ans.130(2)

Ans.131(2)
Ans.132(2)
Ans.133(2)
Ans.134(1)
Ans.135(2)

Ans.136(3)

Ans.137(2)

Ans.138(1)
Ans.139(2)
Ans.140(4)

Ans.141(3)

Fb:-

YR 3 31 & 38 IR 39 98 &1 fade siar g, Sar

BIRAT 1966 H R&dTe Sham aTelt ugel YRd Afled g1

ﬁﬁwma@?ﬁmw?f%eﬁm
[

ot T (1994), ST B (1997), o T-T (1999),

et AUt (2000) 3R BT € H AN R (2017)

TG & 3T YR faSar B

SRR YW gRT fafad g @ge i uRer 9 i

¢ G S TR Ueh HETDTod Siia-sbiadl 1 Siia- 8

;;T%H Y, RGP, TG J&w, Jd Harg TA IR i
[

ot & & BuraTdr TaSumH! dF F S Uedh! & for
Te T THUHTH ST G I F

% P1 arar § 5 39 TeD [ g b Aarai @
T IRqd 4Rael 1 IUTIT R qhd 8, 18 J Hal W &l
S THUHTY SfhT YAy & Ty, Ued 3E WA S A9
R 3R AR PT S FR GHa €, BU & AT e
IR hd & hisc Bl YSId PR IHd 3, gD
SR & U 31de HR UHhd €, Wil AR dOR IR
Thd & 3R §gd $B IR Jbd &

T HTSeR BT I WG RIM & T BT ¢b B P
forg foban ST © gt 3rran e irdifed faban S 1
F->15 |
ey 99 AeEIE W Edl ¢ 3R g &) AeRad W
3 YT Y oSl g
TR WiEe H geR 3R Pex A Afeferd anferast & Text
Group ® UTdT o JhaTl B
HHT ITNTEwdl UgaH &1 Ufafifia &ear 8 Te Tt
ffq &1 9o w=ar § e e afed a1 oum
JHAAYAS Sel &I Tad Aifad axPb gR & ®U |
O ST 8
B1S &% & gfid Se1 &l RuR FHg1 Jar g1
Bol S & 1T AT STeRT B
UTaRUTSE XA &1 Teoi &l fadR Tt 7|
Rl Tegw Hh e T I3 B 8, S ot ot uRefi
e ¥y @it TRfPRE B g Aead R It
Rt Frey & g gaRd &Rar g, o qa e 99d
TR AIdiSit & Y & ST ofa 3
fisforre (IRIR®) TRd T H1eH WR SRATI3d et foe
YRT & FeRUT 3R WA & forw RreRr 2
99 PR Uh U URIH ¢ o 39 Wi W ST § 3R
Wiol I IS0 §TH & forT I BT 3R 3 TSR
F Ugdr g|
Uit Jak U T R ¢ of HLR Heads Jal g
FRAl § dlis TEH! Bl 3= Jarst | AT
Yeadh BT S BT AR T T|
allocation table)
T3S 3Ty 39 Huesl F Iudh & frw gy siey 2
S 93 Reen & s o B
99 %Y IS forslt 1 g ¥ oA -0 d%
UgaA $ g T & |

ST T0d Iuf §18 few @ Ul Bfa s 31
geAT BT IUANT IR & e for Hger R STl
BT S BT Bl & I TR BT Sl g

WPHRT:

ST B Aded CHTE (@Fed Faau umen @t
ifreafad g

JRfed Ugd Bl fSasy &t amar & A srRIfta
ST R Y "FHe" BT &a1 UgH Il |

T S gTEaaR & w0 & Wl § 3k RoM # TUEld €,
THHITR & TG T SHT ST 8|

TEAd TR dieidid S 99-31uiRd SHSR! &
UgdH ad Ud® HHLR gRT ITANT fhU S a1l AFd
Pl AT FRAT Q|

Ans.142(1)

Ans.143(4)
Ans.144(2)

Ans.145(4)
Ans.146(1)

Ans.147(3)
Ans.148(3)

Ans.149(1)
Ans.150(1)
Ans.151(5)
Ans.152(2)
Ans.153(1)
Ans.154(3)
Ans.155(4)
Ans.156(3)
Ans.157(1)

Ans.158(2)
Ans.159(3)

Ans.160(3)

Ans.161(1)

Ans.162(2)

Ans.163(5)

Ans.164(4)

8 | Page

BISATR ITHRUT Sf TH Her Rew &1 gy 78 §
IR R few & s d W8 9§ S=%
Peripheral WG’IFH%l

& S¥ SR A1 Bl § 3R STRfeT
Ren dIs BT 3

g TE | FeT o1 & & FeR ST H TSR BT
JUIRT HRAT WRIRAT FHgT Sl g

ZAh 3R T e et Fear & frw IaERu g
Joge H Ay TSt & YR R T aifereT ¥ et
H1 U qae Uarid Har gl

aren, T8 & f3aT o Wohdl § ARG R A 1T g
T TR Ren ¥t fown syfei Taivey f$ww
55 o1 W & SMUR W 0= gy 7 W orRielt &t
I T & o {556 Tqg W om ok diY Y 3R

ST &)
TH gul ST AT H, GAaR0T TeR HaRH ST
SR O fobaT ST g
PIST ST Sl YT & 3R TR 30T Uga Repls b2
Y IR et 8, Wec, JToer TS T ITUNT Bl g
fifeR U M3eye feasy g
foRy Sereg @oR & ot e doHie, 8 S
IIREY H T SbRT 3R e Bt aar & ST
T HeT ST 81
TSR -> IS el T |
ST O dHwRH B @A M 7 fSWae g1 R @@
315 H FIEId Bl S|
Merging@ﬂﬁammmﬁﬁ@ﬂaﬁmw
Thd 9 Fffa SRl
HifPewa A1d WS gRT Tgladwedia Tel S| U6 &1
TR U ¥ Hedich fobar off Hepa g1
TP OHeA $ 19 & /T 16 TP B Il g=ifed
a1 ST 8, TE SHTTeTE ST P U IaTERI 3|

-> Selective Acknowledgement]|
?rgwﬁé%—s{ﬁ A F forg oie Fe Hoil dera +
"%
Cache memory mmmwéﬁ’rﬁ

The sentence talks about money earned through
gambling. Since this money is not earned
through hard work, one can assume it is
dependent on luck and unreliable. EASY COME,
EASY GO means something that is lost as easily
as it is won, which fits here contextually.

EYE CANDY - an attractive person. LION'S
SHARE - the majority part of something. LOCK
AND LOAD - to prepare for something
unpleasant. LOOSE CANNON - an
unpredictable or uncontrolled person.

The sentence talks about how arguments with
her friends stopped after her marriage. RIGHT
AS RAIN means to be resolved or in good state,
which fits here.

FIT AS A FIDDLE means healthy. RIGHT ON
THE BUTTON means to be exact. WEAK AT
THE KNEES means to be physically weak.
WHITE AS A SHEET means pale-faced.

The sentence talks about a reason why the
listener’s health is failing. All of the idioms mean
to work extremely hard. All the idioms fit
contextually in the sentence.

The sentence talks about how the increase in
pressure has contributed to the increase in
pressure to complete the deadlines. UNDER
THE GUN means to be under pressure, which
fits here contextually.

UNDER THE INFLUENCE means to be
intoxicated. UNDER THE THUMB means under
someone’s authority. UNDER THE WEATHER
means unwell.
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The sentence talks about the deadline for the
submission of the reports. UNDER THE WIRE
means at the last moment, which fits here
contextually.

UNDER HIS NOSE means in someone’s
presence. UNDER THE TABLE means to be
done by underhand means. UNDER A CLOUD
to be under suspicion of having done something
wrong.

The sentence talks about how science
competitions must play the role of establishing
an equilibrium (balance) between celebrating
individual achievements (accomplishments) and
coming to terms (acknowledging) with the fact
that science does not happen by itself.
RANDOM is an adjective is incorrect here as it is
not modifying a noun and does not render
meaning to the context. SELDOM (rarely) would
be a better fit.

The sentence talks about how the author went to
the borders of two countries (Thailand and
Cambodia) to study (investigate) the disease
which had no cure (incurable) and was prevalent
there. EPIDEMIC (noun) refers to an outbreak of
a disease. It does not fit here grammatically, as
we need an adjective. ENDEMIC (adj.) means
prevalent in a certain area, and would have
been more suitable here.

The sentence talks about how the author spent
most of his career making (developing) a drug
that had the capacity (potential) to help in
(enable) the eradication (elimination) of cholera.
All the words have been used correctly.

We need a verb in the base form to fit in the
infinitive construction TO+VERB. The sentence
states that January is the month in which the
performance of the global economy is assessed
and future predictions are made. Thus, we need
a word which highlights the action of prediction.
ANTICIPATE means to imagine or expect that
something will happen. Thus, it fits contextually.

EXACERBATE- to make something that is
already bad even worse. It does not fit
contextually.

ANNIHILATE- to destroy something completely
so that nothing is left. It does not fit contextually.

ADMONISH- to tell someone that they have
done something wrong. It does not fit
contextually.

The sentence has a negative tone. It states that
the political climate has changed but the global
economy is not in good shape. The sentence
implies that the data that have emerged point
out that the economic prospects in the short
term are not positive. All the options are correct.
The phrase a bright/rosy/promising picture
means to make something sound very good.

We need a noun here as denoted by the use of
the article THE (articles are used to modify only
nouns). This sentence provides the reason
behind the negative outlook of the global
economy. It states that the findings of the report
of World Bank’s Global Economic Prospects is
the reason. TO SET THE TONE FOR
SOMETHING means to establish the mood of
something, or the manner in which something
will be conducted. The other options do not fit
contextually

TENDENCY- an inclination towards a particular
characteristic or type of behaviour.

CRUX- the decisive or most important point at
issue.

Ans.172(1)

Ans.173(2)

Ans.174(2)

Ans.175(1)

Ans.176(3)
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CRUST- the external
something.

We need an adjective to modify the noun
PICTURE. Additionally, it should carry a
negative meaning as the sentence states that
the findings of the report are similar in essence,
to its title: “Darkening Skies”. This implies a
negative tone. Out of the options only BLEAK
fits contextually as it carries a negative meaning.
BLEAK means (of a situation) not hopeful or
encouraging; unlikely to have a favourable
outcome. The other options have a positive
meaning.

GREAT- of an extent, amount, or intensity
considerably above average.

UNIQUE-being the only one of its kind; unlike
anything else.

EXCEPTIONAL- unusual; not typical.

The sentence points out another event that
reinforces the argument presented in the
previous sentence, which highlights that the
outlook of the global economy is not positive. It
states that the European Central Bank has
shown concern over the state of the economy of
the Eurozone. The phrase SOUNDED THE
ALARM means to alert other people about
something dangerous, risky, or troublesome.
The other options do not fit in the phrase.

The passage talks about a workshop that took
place in Bengaluru.

Statement B introduces the main idea of the
passage and therefore it will be the first
sentence after rearrangement.

Statement A gives the location of the workshop
and so it will follow B. Also, ‘the workshop’
mentioned in A refers to the workshop
mentioned in B.

Statement C talks about what was discussed in
the workshop i.e. ‘CMB-Bharat’. Also, ‘the
workshop’” mentioned in C refers to the
workshop mentioned in statements A and B.
Therefore, C follows A.

Statement E discusses what CMB-Bharat stands
for and why was it discussed in the workshop.
Therefore, E follows C.

Statement D states what is CMB-Bharat. Also,
‘the project’ refers to CMB-Bharat mentioned in
C and E. Therefore, D follows E.

Thus, the sequence is BACED-F.

The passage talks about a workshop that took
place in Bengaluru.

Statement B introduces the main idea of the
passage and therefore it will be the first
sentence after rearrangement.

Statement A gives the location of the workshop
and so it will follow B. Also, ‘the workshop’
mentioned in A refers to the workshop
mentioned in B.

Statement C talks about what was discussed in
the workshop i.e. ‘CMB-Bharat. Also, ‘the
workshop’ mentioned in C refers to the
workshop mentioned in statements A and B.
Therefore, C follows A.

Statement E discusses what CMB-Bharat stands
for and why was it discussed in the workshop.
Therefore, E follows C.

Statement D states what is CMB-Bharat. Also,
‘the project’ refers to CMB-Bharat mentioned in
C and E. Therefore, D follows E.

Thus, the sequence is BACED-F.

The passage talks about a workshop that took
place in Bengaluru.

side or surface of
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Statement B introduces the main idea of the
passage and therefore it will be the first
sentence after rearrangement.

Statement A gives the location of the workshop
and so it will follow B. Also, ‘the workshop’
mentioned in A refers to the workshop
mentioned in B.

Statement C talks about what was discussed in
the workshop i.e. ‘CMB-Bharat. Also, ‘the
workshop’ mentioned in C refers to the
workshop mentioned in statements A and B.
Therefore, C follows A.

Statement E discusses what CMB-Bharat stands
for and why was it discussed in the workshop.
Therefore, E follows C.

Statement D states what is CMB-Bharat. Also,
‘the project’ refers to CMB-Bharat mentioned in
C and E. Therefore, D follows E.

Thus, the sequence is BACED-F.

The passage talks about a workshop that took
place in Bengaluru.

Statement B introduces the main idea of the
passage and therefore it will be the first
sentence after rearrangement.

Statement A gives the location of the workshop
and so it will follow B. Also, ‘the workshop’
mentioned in A refers to the workshop
mentioned in B.

Statement C talks about what was discussed in
the workshop i.e. ‘CMB-Bharat. Also, ‘the
workshop’ mentioned in C refers to the
workshop mentioned in statements A and B.
Therefore, C follows A.

Statement E discusses what CMB-Bharat stands
for and why was it discussed in the workshop.
Therefore, E follows C.

Statement D states what is CMB-Bharat. Also,
‘the project’ refers to CMB-Bharat mentioned in
C and E. Therefore, D follows E.

The passage talks about a workshop that took
place in Bengaluru.

Statement B introduces the main idea of the
passage and therefore it will be the first
sentence after rearrangement.

Statement A gives the location of the workshop
and so it will follow B. Also, ‘the workshop’
mentioned in A refers to the workshop
mentioned in B.

Statement C talks about what was discussed in
the workshop i.e. ‘CMB-Bharat. Also, ‘the
workshop’ mentioned in C refers to the
workshop mentioned in statements A and B.
Therefore, C follows A.

Statement E discusses what CMB-Bharat stands
for and why was it discussed in the workshop.
Therefore, E follows C.

Statement D states what is CMB-Bharat. Also,
‘the project’ refers to CMB-Bharat mentioned in
C and E. Therefore, D follows E.

Both 2 and 3 are correct. The first paragraph of
the passage states that growth recession in
China is one of the economic risks that is
possible in the future. Hence, it will happen if
steps are not taken to prevent it. 3 states that
the outcome of the economic risks would be a
rise in the interest rate of advanced-country
government bonds. It uses the word “safe” to lay
emphasis on government bonds of advanced
economies to highlight that are generally
considered safer.

1 is incorrect. The passage merely states that
the populist policies that are likely to be adopted,
would affect the independence of the central

Ans.180(3)

Ans.181(2)

Ans.182(2)

Ans.183(5)

Ans.184(4)

Ans.185(5)
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bank. But this cannot be said about all the
populist policies.

The passage states that the Chinese economy
was already slowing down before the US-China
trade war. Thus, there were other factors that
caused the slowdown of Chinese economy.
Refer to the lines: Sino-US trade war has
shaken confidence, but this is only a downward
shove to an economy that was already slowing
as it makes the transition from export- and
investment-led growth to more sustainable
domestic consumption-led growth.

1 is incorrect. The second paragraph states that
China needs a decentralized consumer-led
economic system to sustain its growth. But it
does not state that it is a mandatory. Refer to
the lines: But, given the inherent contradiction
between an ever-more centralized Party-led
political system and the need for a more
decentralized consumer-led economic system,
long-term growth could fall quite dramatically

2 is incorrect. The passage does not discuss the
cause behind the US-China trade war.

In the third paragraph of the passage, the author
has talked about the impact of recession in
China, on the global economy. The author has
also said that the US |leaders are
underestimating the fallout of the recession in
China. Thus, the aim of the author is to caution
the reader of the consequences of recession in
China. A, B and D are incorrect as they convey a
positive tone. E is incorrect as the author is not
unfairly prejudiced for or against someone or
something.

The author’s aim is to highlight the potential risks
to global economy. Refer to the lines: They will
include a growth recession in China, a rise in
global long-term real interest rates, and a
crescendo of populist economic policies that
undermine the credibility of central bank
independence, resulting in higher interest rates
on “safe” advanced-country government bonds.
A less likely but even more traumatic outside
risk would materialize if, after many years of
trend decline, global long-term real interest rates
reversed course and rose significantly.

A is incorrect. The passage merely comments
on how the adoption of populist policies may
impact the independence of central bank.

C is incorrect. The passage does not discuss the
consequences of trade war between US and
China.

D is incorrect. The passage does not discuss
globalization.

Open-ended questions are ones that require
more than one word answers. When people
begin an open-ended discussion or activity, they
do not have a particular result, decision, or
timespan in mind. The sentence seeks to
convey that different people would have different
opinion on the degree of slowdown of the
Chinese economy. It is subjective and requires
an in-depth analysis. Similarly, all the questions
mentioned in the options cannot be answered in
simply a “yes” of a “no”. Thus, all the options are
examples of open ended questions.

The idiom means the largest part of something.
The passage uses the idiom to show that the
residential real estate constitutes the majority of
the construction output in China.

Refer to the line in the passage: “Little Ice Age”,
a time when the River Thames in London would
regularly freeze over, snowstorms were common
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in Portugal and disrupted agriculture caused
famines in several European countries”.
Therefore, only options 1 and 3 are correct.

The passage states that Christopher Columbus’
initial journey to the Caribbean started in 1492.
Refer to the line in the passage: “Widespread
deforestation for agriculture and urban
development has also spurred the release of
greenhouse gases, causing the planet to warm
by around 1C over the past century”. It states
that deforestation has increased emission of
greenhouse gases leading to warming of the
planet. Therefore, it can be concluded that
human activities affect the climate of the earth.
Thus, 1 can be inferred from the passage.

Refer to the line in the passage: “reduced the
indigenous population by 90% in the century
following Christopher Columbus’s initial journey
to the Americas and Caribbean in 1492”. It
states that in the century following Columbus’
journey, the indigenous population declined by
90%. This implies that by the 16th century
(1500-1599), the population of indigenous
people had reduced by more than 50%. Thus, 2
can be inferred from the passage.

The passage states that a reduction in the
human population (caused by the Kkilling of
native population by the Europeans) lowered the
Earth’s temperature. But this does not mean that
a lower temperature is beneficial for the planet.
Therefore, 3 cannot be inferred from the
passage.

The most appropriate word to describe the tone
of the passage is ‘descriptive’. The author has
given details, including data, of the various
researches. Also, there is no show of emotions.
The tone of the passage is not ‘admiring’ as the
author is nor praising the colonisation of
Americas.

The tone is not ‘sarcastic’ as the author is
neither dismissive nor snide.

The tone is not ‘condescending’ as the author is
not patronising the native population or
colonisers.

The tone is not ‘humorous’ as the author has not
used any jokes or anecdotes.

Refer to the line in the passage: “the European
colonization of the Americas indirectly
contributed to this colder period by causing the
deaths of about 56 million people by 1600”.
Therefore, 1 is correct.

Refer to the line in the passage: “.spurred the
release of greenhouse gases, causing the planet
to warm by around 1C over the past century”.
Therefore, 2 is correct.

Refer to the line in the passage: “the 3ppm of
carbon dioxide that humanity is currently adding
to the atmosphere every year through the
burning of fossil fuels”. Therefore, 3 is incorrect.
‘Indigenous’ means originating or occurring
naturally in a particular place. Its synonyms are
native, local, original, etc.

Ingenuous means innocent and unsuspecting.

In D, replace ‘conformation’ with ‘confrontation’
or ‘violence’. ‘Conformation’ means the shape of
an animal. The sentence talks about the
violence caused by a movement against illegal
migration.

In A, either replace ‘responses’ with ‘response’
or replace ‘this’ with ‘these’. The pronoun ‘this’
refers to the noun ‘response’ mentioned in A.
Therefore, either both should be singular or both
should be plural.

Ans.193(3)

Ans.194(5)

Ans.195(1)

Ans.196(1)
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Ans.199(2)
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In B, replace ‘towards’ with ‘to’. “‘Towards’ means
‘in the direction of’. It is not contextually
appropriate here.

In C, replace ‘adequate’ with ‘adequately’. An
adverb should be used to describe the adjective
‘prepared’ and ‘adequate’ is an adjective.
In D, replace ‘he’ with either ‘she’ or ‘it. The
pronoun is being used to refer to India and ‘he’
is not the appropriate word.

In E, replace ‘preparation’ with ‘preparing’.
‘Preparation’ is a noun and we need a verb
(‘preparing’) to denote India’s actions with
respect to wars.

In D, replace ‘failed’ with ‘fail'. The statement is
expressing a possibility (‘even if’), implying that
the event has not occurred yet. Therefore, the
verb cannot be in the past tense.

The sentence is contextually and grammatically
correct.

In B, replace ‘gone’ with ‘go’. The infinitive
construct is “To + Base form of verb”. Therefore,
past participle form (‘gone’) of the verb ‘go’
should be replaced by the base form (‘go’).

The correct pairs are: AE, BF and CD.

AE- A talks about education being the most
powerful weapon. We need the verb stem to
complete the sentence. The sentence talks
about how education can be used to change the
world. “Education is the most powerful weapon
which you can use to change the world.”

BF- B talks about a feature of East Asian
economies and F describes the feature.
“‘Another component of the East Asian
economies’ -strategies for developing human
capital was a gradual shift in focus from quantity
to quality.”

CD- C talks about the initial phase of human-
capital investment in East Africa. D talks about
how countries usually depended on foreign aid
to maximise human capital formation. “In the
earlier stages of human-capital investment in
East Asia, countries also relied on foreign aid.”
The correct pairs are: AE, BD and CF.

AE- A talks about the something which is
common in many developing countries and B
talks about the thing which is common. “Many
developing countries today boast rapidly
growing young populations that could be a boon
for economic growth and dynamism.”

BD- B and E together talk about something
which would not happen without deliberate and
practical strategies. “Without deliberate and
practical human-capital strategies outcomes will
be virtually impossible to deliver.”

CF- C and F together talk about the need to
place higher priority on human capital. “Given
the effect of human capital on national
productive and development capacities,
developing countries should be placing a high
priority on boosting human capital.”

The only correct pair is: CF.

CF- C talks about the defining feature of the
Chinese economy, F provides the feature that is
being talked about. “A defining feature of
China’s four decades of reform has been the
state’s evolving role in the economy.”

The only correct combination is: BD

BD- The sentence talks about the impact of lack
of clarity about the state’s role on Chinese
multinationals. “The lack of clarity about the
state’s role in private firms is hampering outward
investment by Chinese multinationals.”

The only correct combination is AE.
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AE- The sentence talks about not ruling out the
possibility of China’s move to change the
existing trade order by involving other countries.
“We should not rule out the possibility of China
pitching tariff reforms to the wider international
community.”
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